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: Test Prep Practice Exam 02:17:38 Progress 6%

n Bill purchased a home for his principal residence January 1, 2014. However, from December 31, 2015, to
December 31, 2017, another location served as Bill's principal residence. Bill's basis in the home was $300,000,
and he sold the home for $600,000 on December 31, 2018. What is Bill’s recognized gain on the sale of the

= home?
s
ﬂ A | $50,000

B. | $250,000

C. | $120,000

D. | $300,000

Flag: RELT=LY
MREIXER2 % Back:gifIZRE%.
| Review BIH D &~ 2)v oL THL, Next: &=L,

E e ——

| J | CE) PCEELOES LSS,

BEDE FESLRAINET,

Copy

KN30

MS

[
IS
[
o
=]




REVIEW [&][E

(I Finish Test
Pragross 6%

Filter by: 3 M s

g :I“:':p:eu i t; for hls.i prlr‘.[flp&ﬂ residence _'!arnutl!'.v 1., 2014.. H(le:w:r,rfr(}:sil?j Eﬁsﬁ&% T-a-é .
< Unattempted: [ e

4B JB JE B O3 KEEDEEDHIEIZFR T

el Attempted:

B2 %3 O RIED HIE- R R, :
Flagged: < &&& !
% - P D B IBI=F T :

USCPAGERDTAXEDELY

EAGER D H REEBH .
USCPASRERDTAX &

FEEHTESE L.
{BL. EAEERTlL. USCPAGER KV,
26 A 3195 0 I S e T
ez EdIRSHAHREEE cssc..

(GE)EARRERDPart 31%, thD/A—REHR,
FEHBOEFEESLVMELEWLR S,




Individuals B X

Study Unit 1-11  INDIVIDUAL INCOME TAX (E#R{E A Fr#SHL)

SU1_|Filing Requirements (FR &5 2 7%) 1
SU2 | Gross Income (#F7 %) ®
SU3 |Business Deductions (£ £Z & DIZER)

SU4 | Above the Line Deductions and Losses GAZ AT SATIEKRE LUHE %)
SU5 |ltemized Deductions and Qualified Business Income Deduction

(T8 B A #ZRR B S AR IER)

SU6 |AMT and Other Taxes, Tax Credits, and Payments
(REBS=TLBLZDMDF. BTILTRE)

SU7 |Basis(BENDR—LX) @
SU8 |Adjustments to Assets Basis and Capital Gains and Losses
(BEDAR—RZHTHRABLEFYERIL - TAUFERIEOR)
SU9 |Related Parties, Business Property, and Installment Sales
(BREMRG], EEREE. SIBRT)

SU10 | Nonrecognition Property Transactions (JEEEFi D & EEENS)
SU11 | Individual Retirement Accounts ({8l A BB 4E & O FE)

Study Unit 12-13 GIFT AND ESTATE TAX (GE 3R 5% - 8%t %) ®
SU12 | Gift Tax (Bg &%)
SU13 | Estate Tax ($8f&%z)

Individuals FEI2E%k

’ GLEIM Online;gZ vt mms: 1,424
— . 391 pist cLEIMT £ 2 B LI BREA TS,

! | AS>H UsCPARBANALEET IEAMAEME
20715(52.9%)

B E

134
PR : 94RTk 12075(30.7%)
Online: 405

Bs2 4y ersgssorgms@rnms) caonE

Cs 4 FoLovme
64r1(16.4%)

MGLEIMT X X MEEEHBHMEDSS . BERTERE T RBMEICE. TMESVIRIBLY
HBIL D AT 2R/ BRBERHE IR AT —IZH T THS.




FORM 1040 EHBEARBHRBEE

X2018F EHRE LI (M5 THRHBAR)

GROSS INCOME
— Above the Line Deductions
=ADJUSTED GROSS INCOME
— ltemized Deductions or Standard Deduction
— Qualified Business Income Deduction
=TAXABLE INCOME
X Tax Rate
=INCOME TAX
+ Alternative Minimum Tax (AMT) / SE Tax / Other Taxes
— Tax Credits / Payments
=TAX LIABLITY OR REFUND

REE-TOOFENF v O—F

| search Forms & Instructions%%Jv% |
| = |

KEELGTA—LIE HEIL D AT 2RIV B REMRHEID
BEREH Ir—LEIZHBLTD,




STUDY UNIT 1

FILING REQUIREMENT
HEHRH
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Filing Status
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Filing Requirements

(REET)

Dependents

(REBERK)

Returns of Dependents
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Nonresident and Dual-Status Aliens
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m 1-1. Preliminary Work to Prepare Tax Returns |

Which taxpayer information is necessary to have before preparing a tax
return?

A. Immigration status.

B. Age of an individual.

C. Marital status.

D. All of the information is needed.

<AE> EARERTIL. B D IS TIFES
TREEEREIELTOISNOREERDELNH D,

<EBEEBE> OAXI I

m Answer(D) is correct.

HErE YD : s OEXER
m BEEER D=0 DE M (preliminary work)

HEEEREBEITOLOIC. MBRELOTREEAF TS,

O #HHEBEOREEDOREE

Q@ HEDEXRFR

-4 4 AR (date of birth) & £ (age)

BBIERR (marital status)

&Rk (dependents) DFE

¥ 2 REHES(SSN)

BAAMBEHNES(TIN) —SSNREBEERHIEVHNEADZE
EFFHIBEOMBE R ES(ATIN)

-[E$E (citizenship)

KEMTER R (immigration status)

Q@ EHHLICHRELEE XUBEHIRMNIBHLEREE T4—LEFAR—),
51 Form W-2 (A ERFT B DR REINE) . 1099-INT/DIV (R F/ER LU ZEDTIAE)

<RAUMEE>
EIRER(A) (B) (C) : I RTHBENOAF I RNEFEHTH D, . #REL (D) AIERE,




Point ! 1-2. Filing Status

Filing Status (A& &%) =58 ENRET L1
REERI. BEHEER(BERBRFEERRANIFEE12/31) DB A TEMICHEIIBLTLANES
MT. 2DITKBIEN B CKEL, EBEFORCEE -ALLBEDREFHY) .
HEERICIEC T, BRSNS ER OIZEEFERREE (standard deduction) EMNEL S,
B (1) Married Filing Jointly: MFJ / Joint Return (kig & & H &)

RREERICHIBLTOAXRENAFMBEEELTHRET L,

(Married at Y/E, NOT divorcedBig, legally separatedikia7IfE)
FAICLAENGEWNMEE S LU —RMICIEMFIZEIRLZIZSNERELD,
X BIBEORTEEE, MFJTE,
(GE):MFJZASIBE. W& Hsame taxable year GRFIEE) THITNIELRSE L,
{BL . same accounting method ((R& &, REFTR)TRALDIBLEIFLLY,

(2) Married Filing Separately : MFS / Separate Return (K i@ {8 Bl 68 &)
RREERICHEIBLTOAXREN TN T NERICRET 5.
AADEBEIZLMIFRELNLLMEE TH, MFSH,
(GE):MFSERL\5154 . W& hsame way (itemized or standard ded.) TAi T IEA 54U
(E):A2a=TFA-TANRTAMBEDEES | RIFEEMB%E50: 5012 BILERI B &EZE1TS,
HEE (3) Qualifying Widow(er) / Surviving Spouse GE#&EE (X))
<BEEEREK) OELELH>
@ REBEELEINL. FREEROBATHETHII L,
RBEOECEENEEFLZORDEN2ERICRY. BLBIENTES,
Q@ LFEMEEOMERE] FERETHAIFHICKBF-BEF-BEEL BL.
BFERG) ERBLTRY. REHEFEDS0%BEZEELTNSIE,

| Point | 1-2. Filing Status

. (4) Head of Household: HOH (4 EHE= )
AT | <nEewrornEe>

(BE) | D) maaemromsATRE CEH: ALURESLEE) THY. Qualifying Widow
(e B LAY,

Q@ LERMEEO[EEIBOHREICHI-Y ., KERETHIMEE (BHELNOH
B KB TR, ) ERRLTAY R RS XBENDH) D50%BEEIBLT
WAL, L. BERETHIBLEAELTNABERAN,

5 © HRER & (dependent) X FERFE
Bl EANR—L
T © HER K (dependent) O M+ E]EBRRE
[3%:%]
ZTOMD | © kERKK (dependent) QM+ EIERRE
F3R&1

[3X) £BEDFHDEE, BEFH# (“qualifying child ”:CARES) DE# ##7/-L TL
N, HFEEDFEES K (dependent) THTEEPLL ),

B BLEFTIZBEIEL /- B\ 2 sEDEFEFEEFEEL TS, A#HIL. XKD EEBGEZ
FBREL TR, FDFUREZRBRELL THE T SERFHEL -, TH(KXH)IL,
‘Single (E 5 &) "#/L), FDFHEREFLBEREELL THEEL (FHRFEEEES child tax
creditZAEL V=) CDRK I THAIL, FHILERFEFEELD Head of Household "ZZ#H /.,

(5) Single(A &%)
FERICHEFITEMIIBIRECHIE T MOEDBHEERICHLZYLELE,




| SU1-Q5 | 1-2. Filing Status (Ass |

John and Linda Smith are a childless married couple who lived apart for all of
the current year. On December 31 of the current year, they were legally
separated under a decree of separate maintenance. Based on the facts,

which of the following is the only filing-status choice available to them for the
current year?

A. Married filing joint return.

B. Married filing separate return.
C. Head of household.

D. Single.

m Answer(D) is correct.

HEREY): BEERORER
<KLV MRER>
BB (1) Married Filing Jointly : MFJ / Joint Return (ki@ & E &)
(2) Married Filing Separately: MFS / Separate Return (3 i {E Bl 5 £ )
e (8) Qualifying Widow(er) / Surviving Spouse (E§ &% (X))
(4) Head of Household: HOH (4% E %)
(5) Single (B &%)

JohnKé&LindaK Ik, 12/310 8 5 TiERIAIE (legally separated) DIREIZHY .
KIBDAT—HRERANDIEILTERLY,

BRERETHAIFH (EE) HSLELH. £B“Single (BHEHE)"ELTHREZETS,
CORIREE (D) WNIEfREA S,

ZEREE (A) (B) :

12131 TEMICEEIBEL TV A RIETHNIE . MFIEZIEMFSO LT A EER T,
—RERIICIE. MFJEERLIZIZSD B FI LD,

ERFR(C) -

HKBRIETH T (EiE) MUV =8, Head of HouseholdIZIZ 5L L%ALY,




| Online | 1-2. Filing Status (Ass |

Lisa was married with two dependent children in 20X1. Her husband died in
April, and she did not remarry before the end of 20X1. Which filing status
should Lisa use for her tax return in 20X1?

A. Single.

B. Married Filing Jointly.
C. Head of Household.
D. Qualifying Widow(er).

m Answer(B) is correct.

HENEYY: RBEOETERE

<RAUMEH>

RAREOFETEEL, BHIELT, ETLERBELOMFIZANSENTES,
ORI (B) A ERELE D,

IS z6zixms #1208 (E205E) L -BEEDEE
X1 X2 | X3% X44E
53 ~— ~— —|  HOH
MFJ —> Qualifying widow(er) —> OR
24 Single
A EENE HOH
GERIAIRE) OR >
Single

HOH: #7ZLMH & D FHlHY
=ZTOEREBEFLFEOEF 6 ARMANELTVDIGE . MEELTHET,




| SU1-Q4 | 1-2. Filing Status (B, |

Which of the following is NOT a requirement that must be met in determining
whether a taxpayer is considered unmarried for head of household filing-
status purposes?

A. An individual must file a separate return.

B. An individual must pay more than one-half the cost of keeping up a
home for the tax year.

C. Anindividual's home must be, for the entire year, the main home of
his/her child, stepchild, or adopted child whom (s)he or the
noncustodial parent can properly claim as a dependent.

D. Anindividual’s spouse must not have lived in their home for the last
6 months of the tax year.

m Answer(C) is correct.

HBEFEYY BEHFE (ALELHME)
<RAUMBEE > LT &Y., ZIRE(C) NIERRELR S,

Head of Household | D EZHiEERDEATHE RA&LLMELED) THY.

BEHTEDEH Qualifying Widow (er)IZiz &L,

@ YUEBREEDO[EEIBOHBHHI=-Y ., LBRETHD
[HRECRELUNOERE) ERBLTEYR#ES
(XBIEDH) D50%BFRBLTNEIE,

[ Point! | T

HELBERTELE, FHAVDSMHREDL ., RREEROR R CTEMICIEFEELTL
HREICH DI D DO T MFSERIRE X 5 FLELMRICHY (BRBEEHSMFI
D=HDEZELLALGVKRIRIZHY) . TOERBEELEEDEF 6, AMAZFELTL
BHE MBLELTHET EVLVORETHD BREFEICRBELIBRIOBF (R
FIREEZEEL-LDOT. TOMOEHZEH-L TLINIEHead of Household%
AWSILERO TN, BH. L5~ ADERBEIE. MFSEAWNSZLITHS,
<EES>MFJZAVSGRICIE. BEEL. XIF2ADERDPDLETHS,
BE.MFIERWISE . RHREZICHLRBINEFEETEZES(BL, BEEBE
(innocent spouse) FREIZLY  EFEEENSREINDSGILEH D).




| sU1-Q3 | 1-2. Filing Status (Ass |

Which of the following is NOT a requirement you must meet to claim head of
household filing status?

A. Your spouse did not live in your home during the last 6 months of the
tax year.

B. You paid more than half of the cost of keeping up your home for the
entire year.

C. Your home was the main home of your foster child for the entire year.

D. You are unmarried or considered unmarried on the last day of the
year.

m Answer(C) is correct.

HENEYY FEHEE (RABOEH)

<IRA VMR D> HIREOBHOLLBANRA RS, XVT s — BRI B A,
Qualifying Widow | #%i#& (&, ZERFEED 1R (Whole year) [, HKEKK
AR () THAHIFHICKBF-BEF REESDBL. BFERG) &
BRRELTHY. Rit#iFED50%BEABL TSI,

| 78] | © #ERME (dependent) ERECIEEEE

Head of Household | #t#i# (&, &R EEOIEE (Half year) JBOHRMIZHT=
HEHTE Y, BRERETHAMEE GEELUHNOHEK) ICXEFHE
T ERIBLTEY. RETHHFEDS0%BEEIBLTIVAIE,
BL. BBRETHIBELEIRBODBETL,

) © KERE (dependent) X BETE
Bll: BAR—L
Fit © HE R (dependent) O M+EI#ERARE
[%3x)] Lp.osR
ZTOfD | © HERIK (dependent) © M+ EIBRE
Bkl

.".Head of HouseholdIZ#& UL Tld. 14/ (entire year / whole year) TIE4iL =8,
BIREE (C) B EEfRLELR D,




| Online | 1-2. Filing Status (B, |

Phil is unmarried in 2018. His dependent daughter, Susan, lived with him all
year. Property taxes of $2,500 and mortgage interest of $5,000 on the home
where he and Susan live are divided equally with his ex-wife. Phil paid the
utilities of $200 per month. What amount may Phil use as the costs of
keeping up a home to qualify for head of household filing status?

A. $6,150
B. $4,950
C. $3,750
D. $9,900

11
m Answer(A) is correct.
HENE Y  FEitEE (REHERE D50%#E)
<RAUMBRE>
[RAMBEICEENEED | BENBLHD
B-EOH K- 2Dt

B2 & R REE
GEEREO— OBATE  |%BE
BN EBE
KB R R IR
BEEDBEREE TEE
EEDRIEE I
BE BB B RIRIC

LBBEIRBOIEIE
BEOBEEEERLMEAFAIL. TELESTOEIE,
.".Head of Household QD E#-%i#H=LTLN\EMES M
4195 £ TPhilE AL REHERE L. —
($2,50052 & 2 B: -+$5,0001 AFIB) X 50% | (gl | | ZE
+$200 X 124 F /K& #3088 = $6,150 =
SEIREE (A) ANERREN B,




1-3. Filing Requirements

Mr. Todd, who is 43 years old, had lived apart from his wife since May 2018.
For 2018, his two children, whom he can claim as dependents, lived with him
the entire year, and he paid the entire cost of maintaining the household.
Assuming that Mr. Todd cannot qualify to file a joint return for 2018, he must,
nevertheless, file a return if his gross income is at least

A. $5

B. $24,000
C. $12,000
D. $18,000

Answer(D) is correct.

HENE V) B ERE

|_Point | IGES £

KFEHI)IL—IL>
[REIELT. #MBEDGIZ
Basic standard deduction
DEE. BEEBHILELS,

5 MFS%EEIRT B2 121X, #MFiEDGINS5LL LT
HBI5E. BERENELS,

-Additional standard deductionlZ. [65m% LI £ D E &
E IR ELDBMNIZREDHEDH D KMFSERRL) .

XEEEZFDIGEICIE. ERORI LRI, BEEDL
SO (FFIEE) H$400LL EH RIS HERENELD

X HEZE (dependent) DIGEY . ETORE|EIERIIZ,

AHTRERELL-BEEHEDORELHD.

BEs 2018 Standard m Additional
ok Filing Status Deduction RERE Standard

Deduction
Married Filing Jointly $24,000 $24,000 $1,300
Qualifying Widow(er) $24,000 $24,000 $1,300
Head of Household $18,000 $18,000 $1,600
Single $12,000 $12,000 $1,600
Married Filing Separately | $12,000 5151 $5 $1,300

Head of Household®

<HRAUMMREE> Mr. Toddl%. Head of HouseholdDE &% 1-4,
£5£75(2018) 1%, $18,000LL ETH D, FIREE(D)




BN 13- Filing Requirements [0

In which of the following situations is no return required to be filed for 2018?

A. Single, filing status single, under age 65, gross income $18,000.

B. Married, joint filing status, both spouses under age 65, gross income
$29,000.

C. Single, filing status single, age 70, gross income $13,200.

D. Marred, separate filing status, age 65, gross income $10,000.

m Answer(C) is correct.

HB YY) BEEH

<B4 MREE>

L (A) :SingleD BEZEHT5(2018) &
$12,000 <Gl $18,000

BEIREL (B) :MFJD B &HET5(2018) [
$24,000 <Gl $29,000

EIREX (C) : Single TS5 LL L DA FET(2018) 1%
$12,000+$1,600=%$13,600 >Gl $13,200
COERRR(C) N EREELD,

#IREX (D) :MFSDBREZET(2018) [%
#IZ$5 <Gl $10,000




IEEICN 13 Filing Requirements [

Which of the following statements is true regarding the filing of a Form 4868,
Application for Automatic Extension of Time to File U.S. individual income Tax
Return, for your 2018 tax return?

A. Interestis not assessed on any income tax due if a Form 4868 is filed.

B. Form 4868 provides the taxpayer with an automatic additional
8-month extension to file.

C. Even though you file Form 4868, you will owe interest and may be
charged a late payment penalty on the amount you owe if you do not
pay the tax due by the regular due date.

D. AU.S. citizen who is out of the country on April 15 will be allowed an
additional 12 months to file as long as “Out of the Country” is written
across the top of Form 4868.

m Answer(C) is correct.

HEBrEYY BERRBEER

Po BEEREENDES 415 XTHHHOBEEIEREXR
HIMFRENEREEDERPICETELI-EEEL. REAXTORBEHE
Due Date | LTHEZHLAHNIZRELDLELLY  EAARSHROBEHRE L
BI4EHARR | ERFRTH D,
¥Form1040NR%* 12 H 3 5 IEE4E S E A (nonresident alien) 0 B £ 47
BRI, BEEREERANDES. 6/15L755 (HL. A5 E AR R U
DRREFH>TNWBIEREFNEANDBEELR IR DA/15FETELS) .
Form 486812 T 5FE =XV Oy I—F TR ELMTiEFTETE DL
Extension |I=&Y. BEEDRMAIELZ6H A EET (BEDES 10/15%T).

TR [XROMMHRBEERSILGL,

S  4/15DEE R TRENCBYLEE N DB EQARMMA KE SN ZH
AFRETRERUVBEEIL. 20 BHERLES (6/15FET)
<RAU MRS > B/ (A) : BiDMTEARIFIER SN =8, 415D B 15 THRIN
BENHIHZEICIL, RinFrEE(I LINEF T IZBE 9 551 8I€ (Failure-to-Pay
Penalty) I8 KUTEFEF B IR ELND, .. RY,
EIREE (B) : 85 AT, 65 ATHS, ..38Y,
FBIREE(C) : BB &Y, ELLY,
FIREE (D) : SO KSHRE T, 3],




Point !

1-4. Dependents

Bk L DRERIK
MBE R, UTVT WA DREORMEHLIEE, RERIKELTRET SN TES,
NBE 1 BBEETHRERIELLTHET BTLIETELL,

Qualifying Child GEi#&F )
CAR(E)S+NC

Qualifying Relative GE& &)
SINCRO

(DClose Relationship Test [BIRDE#]
B EOFE CREF. BF. BF. LBk,
W Bk, REEL)THAIE,

@Age Limit Test [E#OE#]
EREEROBATIORERN., T-324m%
KFBDIIVEALDZEETHDE,
@Residency Requirement [FRIEDE#]
FHEEOHME. MHELRELTLSIE,
BT RIR - AR E (2 & B “— B i72 B B #ARS
[ZDWWTIERIBLTLVzELTRS,

@Eliminate Gl Test =grZ#IR+=,
®Support Test [EEDE#]
ZTOFENBEOEFEDSO%EBEFEIELT
LVEWZ &, X MBiE B S A ERMLTOAREREL,
+

®Not Joint Return [kigSBEHEDEH]
@cCitizenship Test [EENDZE#]

DSupport Test [EEDE#)

MR EBENEBRIELLSEDEFTEDS0%IEE
FEELTWAIE, XLEFTE/IZ/IL, KELE,
EEE REE KXEESHISFIS,
®@Gross Income Test [{AFFEDEH]
BREREELDEDGINS4,150(2018) KiET
BHBE, XEEMABEZDHEICFEENLL
®Not Joint Return [XIB& B HEDE#]
BBERELELDELZDEBEEEMFIL TG
W&, XBL, 2EE M BHDBEICIEHEHEL,
@cCitizenship Test [EEDE #]
BERELLIENKETEEIE

KE, HFE, AFADELEETHBHE,
®Relationship Test [BiFENDE#]
BBRELLHENSHELUADRIE G,
TIRELEL) THD.

OR 1EMRIEBLTLSIE,

1-4. Dependents

| WBLE DT |

| Zhust

)

Qualifying Child
(GEME T

CAR(E)S+NC

\ 4

Qualifying Relative
GEMEERR)

SINCRO

| #BR%EEE. BIES/ICRT ZRBAEVOEY, OK! |




m 1-4. Dependents |

In meeting the “gross income” test for claiming his father as a dependent,
Doug considered the income received by his father. This income included
gross rents of $4,000 (expenses were $2,000), municipal bond interest of
$1,200, dividends of $1,400, and Social Security of $4,000. What is Doug’s
father’s gross income for dependency test purposes?

A. $3,400
B. $5,400
C. $9,400
D. $8,600

m Answer(B) is correct.

HBFEYY BREREE: SINCRO (BFBODEH)

<RAMMEER>

“Qualifying Relative” [ZH 1T 5 #FTIR D EH X IRERIK L DHEDGIH$4,150

(2018) KimTHHI L,

XIERBANE (B RO AEF R - RRERM) FCOHEICEEETIEL,

XABEEERBRICOVTE . BEEZELSIKHIOEERAZCOHEIZEN D,
E§$§'®$$Fﬁﬁltﬁb\f%~ BE R LREZROZZELIIKHIOEXRAE
COFEIZEDS,

REDGI=$4,000 gross rent: EEFYNA +$1,4008 24 =$5,400
COEREE (B)AIEfRELD,




m 1-4. Dependents |

Luis and Rosa, citizens of Costa Rica, moved in 2016 to the United States,
where they both lived and worked. In 2018, they provided the total support
for their four young children (all under the age of 10). Two children lived with
Luis and Rosa in the U.S., one child lived with his aunt in Mexico, and

one child lived with her grandmother in Costa Rica. None of the children
earned any income. All of the children were citizens of Costa Rica. The child
in Mexico was a resident of Mexico, and the child in Costa Rica was a
resident of Costa Rica. How many dependents do Luis and Rosa have under
the qualifying child and qualifying relatives rules?

One

Two

Three

Four

Dowp

m Answer(C) is correct.

HBrEYY BREREE: SINCROBEIUCARES+NC (EENEH)
<RAUMEER>

“Qualifying Relative” [ZH 1T AEEDEH (L. REBRKLLGLIENKETRFE
RE-HFH AR AOBEETHDIL,

ANDFHEDSE, KE - AFLaBEFEEOSADFHIICOEHEH-T,
COBIREE (C) MW IEfRER S,

| RS HERE |
| ®kE-2FvaEfE || ozsunBaE |
R\ B sIE | A8
F|F F




m 1-4. Dependents |

Mrs. Brown had taxable income of $600, Social Security benefits of $1,800,
and tax-exempt interest of $200. She used all of these amounts for her own
support. Her son paid the rest of her support. Which of the following
amounts of support paid by her son would meet the support test to allow him
to claim Mrs. Brown as dependent?

A. $900

B. $1,800

C. $2,100

D. $2,700

m Answer(D) is correct.

HEERE YD  HEREE: SINCRO(EOEH)
<A MEER>
“Qualifying Relative”[ZE T2 BOEH X, R ENEKBRIELLZIEDEFTED

50%BEEMLTINGIE,
RECTIVEFRICE. RHE-BR-ERE - ERE - HER-XEEFHNEFEND,

BT BHOEFEDSO%E. DEVEBHRBSEANEEL TN HAEFEES2,600(=
$600+$1,800+$200) £ 2 5 &L EBL TS RLENH D,
COERER (D) NIERRETE S




m 1-5. Returns of Dependents |

Marcy, age 12, earned $400 from babysitting during 2018. Her parents claim
her as a dependent. She also had interest and dividends of $2,600 during
the year. She did not itemize deductions. What is her net unearned income
for 20187

A. $3,000
B. $2,600
C. $1,550
D. $500

m Answer(D) is correct.

HBENEYY ROFERETHSFHDOTFHAHE (“Kiddie Tax”)
<RAUMEER>
DI8mABDKREDFHRFE-ZQ24BMEKBED T LDEETETDF RS
NEFDEFED50%ZEBR TLEWFHICHF IR (net unearned income)
MNHhdi5E. FROBEEL HFRFTHBOBACIXEROMEHLRALHREIE
ASh3ILIThd, CNIFHRERKREZFIAL-EIRICLLERERFTHLE
BRICLIZIRETH D, HH. FHROBFMFICEZOFEBSORENERAIND,

AT 5 Fr#= (net unearned income :NUI) /% ?
FHOFFHEMNSRAS2,100(=$1,050+$1,050) FZ L 5L\ -2 FEL,

S FEOTRERES2,600—$2,100=NUI $500 EIREL (D) MNIERELELD,

FHROTHFHFIH T LR
2018
0—$1,050 REHRBFLGL —BOBREELTHRERKEGH>TIVS LR

1,051—$2,100 FAA D E; DR FHDFFHFFEH SUGIARAIST,050
gz 101 ar;$d over %}giw*ﬁggﬁm uiﬁ)hlji %1#5%'@33%75‘£Z‘§&@360

Ft=, FROTFHAEAEAE LUF FRTFNH#T$1,050#8$10,500LA F TH(E
FHESVBELLGNT, FROMAFHEERDOFFICERET HILEEERT,




m 1-6. Nonresident and Dual-Status Aliens |

Jean Blanc, a citizen and resident of Canada, is a professional hockey player
with a U.S. hockey club. Under Jean’s contract, he received $68,500 for 165
days of play during the current year. Of the 165 days, 132 days were spent
performing services in the United States and 33 playing hockey in Canada.
What is the amount to be included in Jean’s gross income on his Form
1040NR?
A. $0
B. $34,250
C. $54,800
D. $68,500
i DiEE e IRz M (REAI)
FERUVESY XIEOREME
A& F R BHEDREH
EEFE
-BAL-ERORE FEEOBENTONIIEFT
-HEL-FERORSE EEMERTMTIRD T 5,
FHEOEERNG-EEMG R EEDIHTTH
1]

m Answer(C) is correct.

HENEYY EREFNEADRE
DAETESIUVEESEA (citizen and resident alien)
FRESN (S E)RRAGIZEC‘EHARG ICHLBERTE - MHBBELLELS,
XEENEAETOOONTIMIZLETEEELS, NS RAEDREERL
O kBI)—2h—FOREE (green card test) *ﬁﬁﬂb@rﬂﬁigﬁ%;14§,ﬂﬁ;
©Q EBEMHIEEM (substantial presence test)
FEMNBEEZHICRLTIRENABALIL. — IS UTOEELS,
CREEEOXERERSRNERMIIBUL, BEMND,
-REEEQOXEHREBHN100%
+RIEEICB T2 KEHERRDIH D1
+RIREEICB T2 XEHAERHD6 D 1E2E5LI-BHEMN183B UL,
{BL. #95iE D E Y HTeacher, Trainee Fi=(FStudentlZZ LT HI5E. EENHE
EHUNARINCEESBEASNATOEALEN) EBENEALLS,
2)EEESEA (nonresident alien) m
TRERBRA/RICOVTOHBRERE-MBEBEINLELS,
EREESNEAE—EICForm1040NRZE A WTHR &Z 75, I8 B BIHEER (itemized
deductions) D # A% E D —EDHIR A H 5,
<BAUMES > ARICH TR RKERBERABIOHEX. BRTES T 5,
.".$68,500 x 132/165H =$54,800 2iRf: (C) ANEMRELD,




STUDY UNIT 2

GROSS INCOME
Eik

GLEIMTXAHIEE 5325 VAR
A20F (62.5%) B1175 (34.4%) C1[5 (3.1%)

2-1 Gross Income
(FoR18) XLUT2-2,2-3, 2-4 LIS DFEBH
2-2 Interest Income
(F|FF3) = Form 1040 Schedule B
2-3 Income from Securities
(B2 &3F#%) = Form 1040 Schedule B
2-4 Royalties and Rental Income
(ALY ILTAFG- T EEEEE) = Form 1040 Schedule E
2-5 Income in Respect of a Decedent
(BNIZEES HF1F)
X[SU13JMEfFiEHhHE T, Hp.170~171THEHRT 5,




2. Gross Income

(p.1/4)

KFHRBHBOR2IIVT>

BT EH(-H1EA4%L F58 (constructive receipt)

FERHIT D,

KRICFRITREFEZELTECTH, MBELGIRIGCRET S LA MREIRE
[CHNIE, RELIZEAGT EWSRTE, Bl BITOEEFIR (FIHLBIZRH)

<HR>THEFZEICENT, IRVO—REBEANEENLFTARSEZEN>TLDES
TH>TH, FEF(RERZNTETHIIREERITIMSEFTET)

SERRRMISE T RRICRT

BiZ A2 (prepaid income) D¥FH

S

HIZFFE. RHEBRITHIDYLK(RETRERAL TV SMBETH>TH).
FRAIELT. RERBEEOABLLTRBRAREG D, B HIZRRE

<« Gross Income vs. Deductions DR A >

e Allincome is included in Gl unless specifically excluded.
BIZBRN T HERESNTULVEWORY . TR TOMENGICEHONRFRMRELD,

o Expenses are only deductible if specifically provided in IRC.
FITIERTEDAERATSIN TS ER - BERDH . EIRFl, T LM IIERTE,

Point !

2. Gross Income

(p.2/4)

B EAER
®Wwages, salaries, tips, etc.
(#AE5mR)

SERBN D IFY) (property) Z#A(E
ZMEBIZHTHFDOFMV TR,
% Statutory employees (47 i%
HIZKYBAESNEEXE) (F.

Part 2:Businesses|Z T2k,

BEEY SRS IEE (JERRIER)

S ERRENFH S (foreign earned income) %
$103,900 (2018) & LIREL TGIM DR,

X E) 5513 (earned income) &lF. BE . AR
(FED) TR LI b =FTiFELD,

- WRBICIE RSN - IE 2 F DREFHIFZE (rental
value of parsonages / rental allowance)/%
IRBIFEFH

-JERFBDIEFIE £ ILPart 2: Businesses TfEEi,

®@)lInterest income
(FIFFr#)

)M 4% - tth 7748 (municipal bond) D FI B J—XEE
HBEITE &% (series EE Savings Bond) D & (&
[RBIZERF

®@Dividend income

(ERiE))

¥ Qualified dividends : #iEfi 5
XESEERETS>
XS1—FaF/-TPIR

- ZEBARDILEL (return of capital) [ZGIM SRS,
- # X 52 (stock split) . R EZ 2 (stock dividend)
(SR BIFER

@)IRA distributions
(IRADSDEIEHL)

XIRAD ML, [SUMIZTHRET 5,

®Pensions and annuities

(FEWA)

FEZBEDIE. LHEFEDILEREL (return of
capital) ICHH 29 285 [FGIH SRS .




2. Gross Income

RIS HEARE

®Social security benefits
(HHEREHRAR)

BET DXL RRKRNIER
(FERMIEA)
{75 & DProvisional incomeN£XEIZIGLT
FERNREGIENENELDIN, (REFREE
DIGEIXEEEIERRELD,

@ Tax refund
GEfTE)

BEEICERLREZEOL TLVEWNGED
MOFAEHRDERNE - EMAFHOEMNE
(F. GIM SRS},

@Alimony received (BfSEIREIF &)
$¢2018/12/315Z [ Fpét

#EH & (child support) . B1E 5> 5 (property
settlement) [XGIH SRS,

@Business income or loss

(BEXEDEXRR)

@0Gain or loss on disposition of property
GEEFR®)
XLTCG: BigftE X[SUs]IZ T

NIERBOEBEERSIIZDL T, [SU10])IZ
THRHT 5,

{DRental real estate, royalties,
partnerships, S corp, trusts, etc.
(FHEEEMSE. N\~ F—vT%
MDD ISRRIL—FT1F)

@Farm income or loss

(RERBEDRENR)

Point !

2. Gross Income
RFBEAEE

(p.4/4)
EAE T 5 TR EMRsMEE

@Unemployment compensation
(RERRBHAR)XKIFSTFFLEET

(ERBIEAB)
X H K AHE#S & (worker’s compensation)
(TR BIZERSL

#@Other income (T 18)

“Prizes and awards (%)

Gambling winnings (F+>JJLIRA)
-Cancellation of debt ({&E#5 %)
*Income in respect of a decedent
(BAICBEELI-FR#R)

-Jury duty pay (F%25 & $REN)

H—TEDEHZH-L-E TR,
X EBERBRIILIRERHEARELBL,
B % (bankruptcy) &=k 355 (1 FEEER

DD E LGRS IEE GERHRER)

2 EENRHMEEBO-HDEESE (scholarship and fellowship) (&R 8 3E:E
SEEEREEL TR EL-AE MR £ (life insurance proceed) (X /R BI3EERFi,

- BAMISEICR T HIEERIES (personal physical injury damage) (& /& BIFEZR T .

—7%. BEIMNEEEES (punitive da

mage) [FEFRMRELDDTEELELD,

s RECHES TR DIEE L, 8 EATRDAETHY, [REIFFHANREL B,
AL . BLEHEZ (personal physical injury) (=& 7 3 Fr 84515 11 FEZERS,

HEE RIS RSB EDZMEIL. GINbRRI SN D,




m 2-1. Gross Income |

In return for $5,000, Simon canceled Mike’s debt of $15,000. The cancelation
was not a gift but is part of Mike’s bankruptcy. Which of the following
statements is true?

A. Simon has $5,000 of taxable income.

B. Mike has $10,000 of taxable income.

C. Mike has $15,000 of taxable income.

D. Neither Simon nor Mike has any taxable income from this transaction.

m Answer(D) is correct.

HBErEYY EHFRRE

<RAEEER >

BEBRREZTIGE. TOEBRRETRBELTERMRELS,

{BL. FEDKLILIFE L, FISAHIISIEES.

EERREES (gift) ELTRSBS,

BRI EEE (bankruptey) IZ&2B 4,

(EFEEHIMEFSEA (insolvent) DIRED B S,

SEIR B EEEE (farmer) DEFERBRDBS,

SERTRENEEZE (real property business) [CEIT2EHEDRBEDEES,

-—EDFEN— (student loan) N —E LR DOEHED RERICHKIEZEIZLY
REINDEE,

AEIZH T HEHEARERIEES15,000—$5,000=$10,000THBHH'.
WEICKHEBRIREL DO, 2FIFRRELD,
SRR (D) NIEFRER S




m 2-1. Gross Income |

When Joe’s financial institution offered a substantial discount of $5,000 for
early payment of his home mortgage, he borrowed from a family member to
take advantage of this offer. How should Joe treat this discount transaction?
no actions or reporting required.

Report $5,000 on line 21, Other Income, on Form 1040 (Schedule 1).
Reduce his home mortgage interest deduction by $5,000.

Report $5,000 original issue discount as interest income.

oow>

m Answer(B) is correct.

HENE Y EHERERE

<KLV MREE>

EEHEA0—0BHRFICHENEY DIRFEDE|F| (discount for early
payment of a mortgage loan) #%(}f-154& . BI5| B IXEHRRELL TR,
#hFE (X Form 1040 Schedule 102147 B : Other income (3#FT#%) ICTHRET 5,
CORIREE (B) NEREEA B,




m 2-1. Gross Income |

Gordon, age 70, is retired and works part-time as a security guard earning
$8,000. He received $5,000 interest from a savings account and $2,500
interest from tax-exempt municipal bonds. His Social Security benefits were
$12,000 and his taxable pension was $6,000. To determine if any of his
Social Security is taxable, Gordon should compare how much of his income
to the $25,000 base amount?

A. $27,500
B. $21,500
C. $19,000
D. $25,000

m Answer(A) is correct.

HBrEYY S RER T

<MRA M ERER >

& EEFE (Social Security benefits) [XRBIEEB iR ELZH, #FED
Provisional incomelZIG L TR R ELDEIGHNELD,

Provisional income
AGI X1t S REHR A SZRTIERBFIR +H S RER A ED50%
*. Provisional income
=AGI($8,000+5,000+6,000) +$2,500+%$12,000 x 50%
=$27,500 ERfEK(A)DEMRELD,

Provisional income S RERAEDERMEIS
EfEMSE | HmEE $25,000LLF | 2FEFH
MFJ $32,000LL T

hEfEE | BmeE | $25,000~$34,000 | R A, #A{T2ED50%
MEJ | $32,000~$44,000 | XHBIL 2B KISU2]RI3E SR,

EFeE | MmeE | $340008 | FE &6EN085%
MEJ Sas,0008 | NRBIL2PIRBKISU2MIESE,

i}




m 2-1. Gross Income |

At their annual budget meeting, the Downtown Church voted to set the salary
package their pastor as follows:

Basic salary $30,000
Housing allowance (at fair rental value) $10,000
Maximum reimbursement for travel

(reports must be filed with receipts attached) $ 5,000

How much of the salary package is includible in the pastor’s taxable income?
$30,000
$35,000
$40,000
$45,000

ocow>»

m Answer(A) is correct.

HEBERE YD  HE O KER
<KLV MREE>
LOWERIZRETRESN-BEEDEEIHIE (rental value of parsonages)
BEU HERICZREIN-EHICLBERFEF Y (rental allowance) [LEBIFEEF:,
KERICLHERF AR, ERICEBHELTEXHL-£8% LRELTIERR.

FRHEEENMTONSGEE. ERENCORBEFOILRELIEGINSEKRIENS,

S EAHE$30,000DH AERFEA R BREL (A) AIERRLEL D,




m 2-1. Gross Income |

Generally, which of the following should be included in gross income?

Life insurance proceeds.

Child support payments.

Cash rebate from a dealer when a car is purchased.

Reimbursements from the U.S. military of a moving expense the
military member / taxpayer property deducted on last year’s tax return.

ocow>»

m Answer(D) is correct.

HENEYY BREBATNRRET IR Fryia-1\vY)
<KLV MREE>

IR (A) - £ fRIE £ (life insurance proceeds)IE 5 BIFEZRFi,
BEIRAL (B) : F A & (child support) D248 (3R BIFEEH,

BRERC) EROBAENIIRED —BZHASLRELLTRELEZYA—MF
rolan\wY) & BEAESIETHY. FiFEFEnRELY

BEIREE (D) BEEICERLEZEIBERICOVT, AEEICERENSIRLERT
58 VIR RITYR =LY HEEDGIIEDRT NS (R
BARELD), B4R (D) NIERRELD,

KAV R AR Tob- L—)LElF, TBEEICERELYREZROLIZBEEN
EELRRICIE. TOEREL-ZEZ. GIIEHLETNIEESEN I ET HIL—IL,
GUZE®HHEET. MELIZRIBEE B FEICHEDRED (tax benefit) 1 1=5L 1=
HHEAICRESND,




m 2-1. Gross Income |

On February 10 of the current year, Rose was in an automobile accident
while she was going to work. The doctor advised her to stay home for 6
months because of her injuries. On February 25 of the current year, she filed
a lawsuit. On July 20 of the current year, Rose retuned to work. On
December 15 of the current year, the lawsuit was settled and Rose received
the following amounts:

Compensation for lost wages $25,000
Personal injury damages awarded
(none of which was for punitive damages) 40,000

How much of the settlement must Rose include in ordinary income on her
current-year tax return?

A. $0

B. $25,000
C. $40,000
D. $65,000

m Answer(A) is correct.

HENEYY  BENEEORES

<RAEEER >

- BIARSE I3 T HIBEEEIE S (personal physical injury damage) (& BIFEZE B,
— 4. BEIMEEFES (punitive damage) B RELDIDTEELLS,

REIESFHABOHET. BEFRBORETHY. RAIREHRXNRELD,
{BL. B{kE9{5E (personal physical injury) IZEBE T A5+ E (X BRI IR
HFLDEHEND,

S ERRIRRBED T, IR (A) (SOM IEfREET D,




m 2-2. Interest Income |

All of the following are taxable interest income EXCEPT

A. Interest on a federal tax refund.

B. Interest on an IRA before its withdrawal.
C. Interest on Gl insurance dividends.

D. Interest on U.S. Treasury bills.

m Answer(B) is correct.

HENE Y  FIFFE
<RAUMEH>

BRI (A) EABREITASNAF R (BRTORIFEMMES) FRIFRFELT
EBRELD,

ZHAE Vi A
E & (federal bond) D F| 2 B
M {& (state bond) ISR

#7548 (municipal bond) D I &
HE 3158 (federal income tax) MBEFEIZHFHLFIR | B
I 15 % (state income tax) D Z T IZfFH<FI B B3

JRIREE (B) - BB AE S O FE (traditional IRA) O FI BRI, BERICEIZHTET
EfHShL, SSBIRBE(B) AEMEELS, XIRAD ML, [SUM]ICTHEERT S,
BIREE (C) (D) :BMAREL DG L, ETHIZRASNGVEY, TXRTOREN
EFEN5, Glinsurancel(d, KEEANGEBREAZSD)MITORKRTHS,




m 2-3. Income from Securities |

In the current year, Sam received the following corporate distributions:

® 31,500 dividend on stock held in a public corporation that offers a dividend
reinvestment plan that lets him choose to use the dividend to buy (through
an agent) more stock in the corporation at a price equal to its fair market
value instead of receiving the dividends in cash. Sam chose to take part in
the plan.

® $2 500 dividend on stock held in a public corporation that offers a dividend
reinvestment plan that lets him choose to use the dividend to buy (through
an agent) more stock in the corporation at a price less than its fair market
value. The fair market value of shares Sam purchased through the plan on
the dividend payment date in the current year was $3,000.

® $2,000 return of capital distribution reported on Form 1099-DIV.

Based on the above information, how much ordinary dividend income must
Sam report on his current-year return?

A. $4,000
B. $4,500
C
D

. $6,000
. $6,500

m Answer(B) is correct.

HEENEYY RASEIREHE

m X2 FRE#E (dividend reinvestment plan ;DRIP)

ELEEREHE LT MENBELLLTEHREZETIRDYIZZOERLE

SHBEX~NDEMEEICEBMICKELUTIHETHD. BFENHLISHOMKE

T, BE. REMBERBT 0. BRETINERIRTHIENTES,

<HBENELLBFREHELFALISESOHRE L OIREL >

o HXEMADEHT (FMV) TIIGLI-IHE . (ERICIFE BEZELELA,)
FEREELRILEELTELMBELTGI [TEDHD,

o H#NEHRADEE (FMV) LYULRIMEETIRIBLI-GEEIZIE, MGLE=#RED
EZAICKE TR MZEESMBIELTGIIED S,

P
.. $1,500+$3,000=%$4,500 BR4FRiS ..aRiIREE(B) WNIEMRELS,

| EEEA | | EEEA
ﬁﬁmgl ' mgﬁI 1 =t
$2,500 v BiRE $3,000
L owx [ [ mx




m 2-3. Income from Securities |

Joe has owned shares in a company that has a dividend reinvestment plan
since 2006. The plan allows him to invest more cash to buy additional shares
of stock at a price less than fair market value. In the current year, Joe took
advantage of that option and purchased 100 additional shares for $30 each.
On the dividend payment date, the fair market value of the shares he
purchased was $32 per share. Based on this information, Joe must report

A. $0. No income must be reported until the shares are sold.

B. $200 as ordinary income, based on the difference between the
amount Joe paid and the fair market value of the shares.

C. $200 of short-term capital gain income, based on the fact that Joe
could not have taken advantage of the option to buy the shares at the
discounted price if he had not taken part in the dividend reinvestment
plan.

D. $200 of long-term capital gain income, based on the fact that Joe has
owned shares in the company for more than 12 months.

m Answer(B) is correct.

HEFEYY RUEEREHE

<R MRS >

BALOBEREICENLT, S5ICBEHOESTHAZZTORME (FMV) KYEHEL
IETRALTWLSIGE . BAMELTORMEOIZ I FERERELES,

. ($32—$30) x 100 #%=$200 &t L F7#5 (ordinary income)

IR (B) AN EfRLET D,




m 2-3. Income from Securities |

Ms. X, a cash-method taxpayer, received notice from her mutual fund that it
has realized a long-term capital gain on her behalf in the amount of $2,500. It
also advised her that it has paid a tax of $500 on this gain. The mutual fund
indicated that it will not distribute the net amount but will credit the amount to
her account. All of the following statements are true EXCEPT

X must report a long-term capital gain of $2,500.

X is allowed a $500 credit for the tax since it is considered paid by X.
X is allowed to increase her basis in the stock by $2,000.

X does not report a long-term capital gain because nothing was paid
to her.

COow>

m Answer(D) is correct.

HENE YD : Sa—FaF I T7UR
N  s2—527/4-572F (mutual fund - REEFZRA)
Sa—FaTFI-T7URMLDRERIE. ZOFRFOELEICE>T, FYEAIL 1oL
LD RELERICHITONDS,

D F¥E#4JL-5 1> (mutual fund capital gain)

S2—FaTFIL TR REBENDFYERIL-FALUIE. EBRORERFHMIC
MhvbHYid BIZIBESFvESIL- 542 (LTCG) 1L THDHON D,
Sa—FaTFITPURDREXYERI T AU EMEEICHAAATHIRETHIEN
HHN BERIIEBICHRESHELTLELTE, RHFvESIL -1 ELTGI
ICEHTERERITEHLITHE-0. (REODEEICEERERIhTLESSE
MIENESIZ) T7U RS DbasisEEMEE THL Sa—Fa7I-T7URIZ&KY
B R BN A O B3R FEE (Form 2439% 5 41) (XBiBBIRR EL TR 3 5,
@& % (mutual fund dividend)
BREEANRETIHPESLENBON-FER -BBLALEDEEREIL. IRE
RICELYELTHEESND BERNZIA—Fa7IL-T7U RS2 ET B (L
MERYFFFIEL TR RELGS EL. TDIT7URDRBL TV ABLGRED
EREBMBEHFDEGEHZDONTIE, FEREFHIZLABHSNTINS,

CSOERIRER (A) (B) (C) IXIELLY, 3EREE (D) AY38Y,




m 2-4. Royalties and Rental Income |

Mr. Cypress owned a small three-unit apartment building in Detroit, Michigan.
The rent on each apartment was $1,000 per month. During 20X1, he received
the following payments:

Apt. A - Timely rent payments for 12 months

Apt. B - The apartment was vacant in January and February. On 3/1/X1, a new
tenant entered into a 1 year lease from 3/1/X1 through 2/28/X2. The tenant paid
first and last month’s rent and a security deposit of $1,500. The security deposit
is to be returned at the end of the lease if the tenant lives up to the terms of the
lease. The tenant timely paid the rent for the next 9 months (April through
December) on the first of each month.

Apt. C - In December, after timely paying the rent for 12 months of the year, the
tenant came to Mr. Cypress and told him that he had been transferred to a new
job location in Tennessee. He asked to be released from his 2-year lease
obligation, which was scheduled to expire on June 30, 20X2. Mr. Cypress agreed
to accept 3 months’ rent to cancel the lease. The tenant paid Mr. Cypress $3,000
to cancel the lease in December.

Assuming Mr. Cypress is a cash-basis taxpayer, what amount should Mr. Cypress
include in his 20X1 gross income from the apartment building?

A. $35,000

B. $35,500

C. $38,000

D. $39,500 I_I_

m Answer(C) is correct.

HENE Y FBEREMSE
<R MR >

Apt.A:

F%8$1,000 x 12 B =$12,000

Apt.B:

$1,000 (AP DEIZERE) +$1,000x 51078 BA~12A % X1 A2AXLEE)

=$11,000

KUZFREE. KHERITHIDYLK(OFY, BREFTEEZEAL TS MEE
THOTH) . RAELT. REZBEEEDOMFLLTERMRELD,

YEENZE D B A FEEE (refundable security deposit) $1,5000%.
ZHREEDEBINAICEEHLNEL,

Apt.C:

$1,000 x 124 B +$1,000 x 3~ A (###y#&LT3» A 4) =$15,000

. A$12,000+B$11,000+C$15,000=$38,000 =EiRf% (C) NIEfELAD,

<HHR>

XREARDYEHNERZXDOLTHERANEERBEICHRE (I BREEITES.
FRAIZOEMAEERAIZSHLNS,

AR —ERPEEADVNHERDOABHIL. FHEEEFREBTIEEL
(ZEHIEE (passive activity) TIEEL=8) . FERBELD,




STUDY UNIT 3

BUSINESS DEDUCTIONS
EEREOER

GLEIMTX X HIEE 5305 VAR
A7 (23.3%) B20R5(66.7%) C3/ (10%)

HBEX£AE (EAEEE)DEEMREX. Form 1040MSchedule CIZT,
EETHORMEINOEERELIZRLTIHESNS,

K TFERUN DB ERE OEHTEEEDEIEL (business use of home)
[ZDULVTI&. Part 2: Businesses D& &755

3-1 Business Expenses
(BEREE) OHESEHE. QX EE. ONonbusiness bad debt
3-2 Business Meals

(RBE)

3-3 Rental Property Expenses
(BEETDHEICRLIER) xHHE0ER




m 3-1. Business Expenses |

With respect to an employer’s reimbursement of employee business
expenses, which of the following statements is NOT a requirement of an
accountable plan?

A. The expenses incurred by the employee must have a business
purpose.

B. The reimbursement of business meal expenditures is limited to 50%
of the amount incurred.

C. The employee must provide an accounting to the employer within a
reasonable period of time.

D. The employee must return any excess reimbursement or allowance
to the employer within a reasonable period of time.

m Answer(B) is correct.

HEERE Y  FEEZ B E (accountable plan)

m BB HE (accountable plan)
RBEEZEFNEOT L. REEAINIHLEBEREITOVTHERELHRES (B
Bf. %8, BHZRE) ZIREL. BEFHEENMMTHOND,
BE.RELERAEINSHVRSN-2ENFETHLEE. HEE HBEMEE)
AlE—IREDRBEFLEVDGANREIN-EZEZCIZEDIDEITLEL BRI HZ
ELTELGL) . ERENLEEZ LELHXINERZ TGS CIERONITEBEE S
FERAFISRELEFNIZESIELY,

FEFG EAFEE R (nonaccountable plan)

BERENMTOAWGVMGE . REXE(BEREE) FERAENCEEFLW. RS
FU HERFY) ELTHILWERZ T -REELECITEDHRITNITESMEL
(XForm W-2[Z#8 5RTGELTEEND) .
CEI(FSUTRHIBIE) 2018 FERELY M3 —< (B5HEE) DEEREE )
F(—BDERE: FlE. EAFEZRSE) —ERTECLOTIEELLD,

<HRAUMES> LERfRHIZKY.BIRER(A) (C) (D) IEIELLY,

BIREB) BRI BEREHIE (accountable plan) D FTEREED100%%
REBANLVRLTEDLEL, SBY, XU TRIETH S,
ERTDEX/MBNEE (Schedule C)IZHLT. RBE (T FD50% D HZRTE,




m 3-1. Business Expenses |

During 2018, Ted, a self-employed taxpayer, drives his car 5,000 miles to visit
clients, 10,000 miles to get to his office, and 500 miles to attend business-
related seminars. He also spent $300 for airfare to another business (1 day)
seminar and $200 for parking at his office. Using 54.5 cents per mile, what is
his deductible transportation expense?

A. $300

B. $3,298
C. $3,498
D. $8,748

m Answer(B) is correct.

HEENE % : 3@ E (transportation expenses)
<KLV MEEE>
BEL—EALEE (temporary work location) DS D 3B E (SRR T,
HEOMLEEICEES 53— (HE) ~NDBE (TR,
BELEEOBIBEOMOE#HEE (commuting expenses) (&, EERTE4,
Eiﬁﬁhd)iﬁ CBEEOBEICE T OBREFZALERTELGL,

.(5,000 +500 miles) x $0.545 car +$300 airfare=$3,298 ;&IRf% (B) ANIEFE,

m RER Second job [

e

< x 5 Reigular office
H DRIS

BHRBEERG -
R A Cb% EERBITETS
" | ZBEDEEL—MSMR)
Temp.work 124 )L 2 1-Y54.5¢ (2018)
BELTEE




m 3-1. Business Expenses |

In which situation would local transportation expenses NOT be deductible for
a self-employed taxpayer?

From the regular or main job to the second job.

From the regular or main job to a temporary work location.

From the second job to a temporary work location.

From home (residence) to the second job on your day off from your
main job.

ooOwp

m Answer(D) is correct.

HEENE % : 3@ E (transportation expenses)

<KLV MEEE>

BIRER (A) (B) (C) : =/ DB E [T FRTL,

B (D) : BELRIEDOHOEHNRBELIER TELL, FEIREE (D) N IERE,

Second job
gl

24REk (D) ES
2Rrs ) )
—X— Reigular office
LAY
BHRBEDT
\@gizm(m(b
Temp.work

BELEF

/AR

) FEIREE(C)




SU3-Q11 3-1. Business Expenses |

In determining which place of business constitutes an individual’s tax home,
all of the following factors are taken into account EXCEPT

Total time spent at each place of business.

The degree of business activity at each place of business.
The relative income earned at each place of business.

The amount of expenses incurred at each place of business.

ooOwp

SU3-Q11 Answer (D) is correct.

HEEFE Y  BE DO AP (tax home)
<RA M ERER >
 Point ! | “Tax Home” (B £ D ABL)

“Tax Home” &ld, — &I, EEFEFOXTERDICEZ AL (principal
place of business) ZL L\, AADEZFOARNUM LT ELD,
BEXIHEXRTITIEFNERHZHE. BAISE T2 T EGE -BXEFSHDHE
E-FBEBADXESIZE>TTax Home 2R ET 5,

HH. ZD“Tax Home" N RERBEFDERETEAS LTOER LD,
MIELTO—HEMAEETRELTE, BE, “Tax Home’[$# 5740,

FIRAEE (A) (B) (C) :IELLY,
IR (D) - ER (BRE) CIIAK MBS ETRET 516, 1Y,
¥ Part 2:Businesses D& TKYFLLRERT 5,




m 3-1. Business Expenses

Which of the following is true regarding a nonbusiness bad debt?
A. ltis deductible as a short-term capital loss.
B. Itis not deductible.
C. Itis deductible only if you itemize.
D. Itis deductible as a long-term capital loss.

m Answer(A) is correct.

HRBEFE YY) FEEE EDEEIE % (nonbusiness bad debt)
<HRAUMEER>

m FEFEFE L DREAHS% (nonbusiness bad debt)

‘BE"EHBIN, EREBXEZEREZTONEL,

JEEE FDEHIEL (nonbusiness bad debt) I, #lifiE OB EICEELLLMERE
DERBLXEVL., (BXLOERBXTEFEEX (ordinary loss) ELTERT S
EMTEDDIZHL, ) BICEHAOFYEFIL-ARELTERT D2 EIHSD,

Bl RNZEEZEL TS, EORANEBARATG o120 BLTHL AL NMES,
CE] EL. RECRAEADERNEZEOEERE(EHRR) LB SICE. 8%

SBICEHOXvESIL-ORELGDT-0 ., RIRE (A) A ERE,

XEE FDOEHEL (business bad debt)

HETERADOMTLE DO HIERRA] (HZBEEDbasishMERD LR ELD) o
Bt 745 £ 1E51 4 4€ % (allowance method) AARAWLVGN DAY, BiF EFRAIELT
B {8 305% (direct-write off / specific charge off method) 2 ULV [F AL IEA DALY,




SU3-Q13 3-1. Business Expenses |

Patsy lent money to Scarlett in Year 1. Scarlett signed a loan agreement and
made the agreed-upon monthly payments until May of Year 3, when she
stopped making payments. Patsy called Scarlett and wrote her a letter
requesting payment but received no response. Then Patsy read in the
newspaper that Scarlett had filed for bankruptcy with no assets. Patsy can
take a deduction for a bad debt

Only on her timely filed year 3 return.

By amending her Year 3 return within 3 years.

By amending her Year 1 return.

On her timely filed Year 3 return or by amending her Year 3 return
within 7 years.

ocow>»

SU3-Q13 Answer (D) is correct.

HENEYY HEHEXOEREBERE

<RAUMEH>

BEMEXE. L. RRICEENEMIBEEL (BURTEE LG 1) B R THER
35, EENERRAET HEERE ERNFER) X REEOREBNOTELUR
&%,

COEIRER (D) EEA BB L FEEITERT 50 . TEURNICIBEREZETS,

m Assessments (IRS /2,3 FIFAR)

JRE: AR (415) F - [FHREZEDREBOVThAENB FHS3FELURN,

GID25%ZHEZA DR ERN EEROVTHIENBFDNDEFELRA,

HMEDORBRETRERBLH | FHEL

HOICHLEHLLTRBAEDIGES
Claims for Refund (##i &=, BE B R E/-IXEEFLE)

[RA: REEDIRE B CK4/158TDI5HE (34/15) Mo3F LA,
FrlE MBEOO2FELURNDNTMENBRETELS,

SEEX. BEECAMIS | S5EORHBBNSTELR,

— 44—




3-2. Business Meals |

Generally, which of the following expenses paid by Kathy, a salesperson, are
deductible expenses?

Chamber of Commerce dues.

Cover charges for taking a client to a nightclub.

Country club dues where she entertains clients.

Weekly meals with business associates at local restaurants where
business is conducted and a business benefit is expected (they take
turns paying).

ocow>»

SU3-Q15 Answer (D) is correct.

HENE Y REE
W 2t& & (business meals)

TREVWIT I EF-LE-RBEIIZHEDS0%EEERE L TERT,
FEELOSRE. HRTOHREB. KEELDME.,

D HBEOEE(CEEBEEL TSI E (“directly related” =gt B2 D T4 B A
EEIHTHIL. SEFBOEMOEELOERENPEFTELIL),
KERBEDZHIZEDEBOMEZIERTINEITEL,

@ MBMBOBEIZEEIITOhBE (“associated with” =F ZE;EDRTE IR
ShBMEBETHDHIE),

E() :hok)—495T 2% (country club dues) ED R I5T DL E (F— TR,
F Q) BEEEEOEOHDFrIMIZONTIE, RENDQIORUVQ0ESENL,

GE] (FSUTHRFIHRIE) 2018EEHEKY . IZMEEHE (entertainment exp.)]
[Z—YIHERTEGVDOTEELELS,

FBIRR(A) (C) BIREBEFOSE. W M) —05TDEE (X, —UHERTELL,
BIREE (B) AR EEFT AT ANSTDOERIITRBEEE 1LY ERTERL,
NEREDIRBEFE B TILIDTL—R) IETHREBE LS T TR NEST S,
B (D) AEEZRELOBERT. MHREOFLICEEREELTONIEL TERE
BILLTERTES BH. toaicik (£, B, HiT. FXHN. FAEL-EE
DER)ZRELTHWMENHS,




3-2. Business Meals |

With regard to business meal expenses, all of the following statements are
true EXCEPT
A. Club dues are not allowed as a deduction.
B. A meal expense must meet one of the two tests: the “directly related”
test or the “associated with” test.
C. The deductible limit on business meal expenses is 50%.
D. The cost of Super Bowl ticket where a qualified business meal will be
had during the game is deductible.

SU3-Q19 Answer (D) is correct.

HENEYY BRBE (F7ybR)

<A MRS >

B (A) AN =05 TDEREIE— i lﬁ?’C%m,\ “IELLY,
BIRER(B) MMBEEZEXRELLTIER TSI, “directly related "EzlE
“associated with” DULVF N EiE =L TULVRIFAIREESZELY, CIELLY,
BIREE (C) R BE L., IHED50%DHERTES, .. IELLY,

BIR (D) :FAEEGFDIHOTF 7y M (: RR—IEBH) (X, TRFR SR IE
LT#Hbh, —OHERTEGL, . RY, ;%#Rﬂiz(o)b\IEﬁaet&éo
XIRSFE4TDNotice 2018-761=£ D& BBELED RR—

B FrubEFRRFORBRITEIRTESHAN 3"7‘)Hﬂ»a$fnéﬁkﬁ
(Bl: TLET7 LZI0OTORBDRM) (FERTERWN EL, FryMIZEF

NERBOEENTF 7 IrFICHRBARSATOSG R ETDEREEZREEL
LTHERT S EnBHoNS,




3-2. Business Meals |

During the year, Sally Sales purchased tickets to three theater performances
and two sporting events. Each event includes a meal during the event. She
purchased two tickets for each event for a total of 10 tickets, each separately
stating the cost of the performance /event and the meal. Sally gave these
tickets away to legitimate business customers and has records to prove it.
Sally did not go with these customers to the event or performance.

Sally can claim

A. The tickets as a business gift expense.

B. The tickets as business meal expense.

C. The tickets as either a business gift expense or as a business meal
expense, whichever is to her advantage.

D. No deduction at all since she did not attend the event with her
customers.

SU3-Q20 Answer(A) is correct.

HBrEYY BB (Frybi)

<HRAUMEER>

BEICELEFIyyMIE., BTz X FOREENZFDANUNMIBIBLEL
(DFY., EHLEEA.

EE FQOEE S (business gift) ELT24EE1AIZOEER$25
#ERELTHERTHENTES,

SOERIRER(A) SNEEELD,

HE.BEEANDHREBEORBEICONTIE., MTEE X ZOREELRFELT
WVEWMGES . SMBEBLLT—UHERTELL, — A BEICERT 7 (food gift)
ZELEGEE. EX LOBE S (business gift) EL TR S,




| Point | 3-3. Rental Property Expenses

Ve (O Bl3E ) & & (rental of vacation home)

AFLEHHTCOEEBHAEMI5B L EDBEAT, hEND,

® BCfEAB #1148 B ESAHD10%EDEBE.
MBEAFEROEFEREERTHEGIENDER) ILLTHRDLLS,

COBA. . BERLANER~OERRSNBDELLY, ERERSOH

Schedule EITERA, ERFAN L. ZOEEOEHWAZ LEBL

LTiERARDOND,

EEB#nEm15BERFEOEE1L.

) ara[EAFERADEEIELTHEDNS,
HXEBENAILIHEERETRE(IERAT, BL EEMHO—0X LT
BLEIEEERIL. Schedule A: ltemized deduction TR D % &1 5,

BCERAEEAEM14B L TE-LESAHBD10% U TOHBE 1L,
BrsEEXREE | LLTRDAS,

@ | xSchedule ECHOREMNBELLZN, BEEFHELL THRDIBBAIC
E TRIHOEE 2B 2RO LBRBTELERINT. 2EREE
Schedule EIZTIERTHEMNTES, HL. At-riskES KUPALIL—ILED
ERIZZIT5,

| Point | 3-3. Rental Property Expenses

AEGEEHTO NO .
S5 A Mnem158 L1 E @ EAEREE
| ves

B A B #isrem148EE | NO -
R EEERD10%HE Q ERTEE

| ves

DAENES
(BERAESR)

<BOFEABHOEEIZH-->TOFER>

LTS TEEEABHIELTAHLGENSG,

 EBE - ERFAEE - REOSE AR R

- ATEHEEEIYRNVMAERTOE SN

- BEEEWNCERAL-EEOEEHM

I MBEREAEETEEADBESETOCVWSHRBIIBECHEABRKICETSENALL,
X EBRANHRITHOTH AELGEEBHTEELTEY. D, HRFBEEZE-5E
& (main home) ELTHEALTWSISEIEBEERBRICITEENGL,




m 3-3. Rental Property Expenses |

Paul owns a second home at the lake. During the year, he spent 3 weeks (21
days) at the lake home, rented it to his daughter for three 3-day weekends for
a total of $220, and rented it to friends for 10 weeks (70 days) at fair rental
value of $300 per week. His expenses for the year include

Depreciation $2,000
Insurance 100
Mortgage interest 1,000
Real estate taxes 2,000
Utilities 1,000

What amount may he deduct for expenses on his Schedule E, Rental
Income?

A. $2,100
B. $3,000
C. $3,220
D. $4,620

m Answer(B) is correct.

HEENE Y : Bl DB E (rental of vacation home)

<A MRS >

Aficix. EEB¥AT0B(215H) . HEEERABHMNI0A (=218 + L ELE
HBHTEEVEE~OEEBH3A x3BXR>14H) T, AHERABHIX1008 &4
5, TAEDER IEL TR 1=, EEFERAS D #HSchedule EIZTHERRT,
ERFERANE. TOEEQOEBINAZLRELTERARHOND,
<EBFERASOREHE: IRS7IO—F>XKEARKRTIXIRS7IO—F£AS,
TRTHEBFBEIZRIBERIZONT,

EERE S EHABEOEEEZEEFANET D,

ABTIL70H. 71008 =70% " EEFE AN ELHS,

SEINA X RANDZ4EL-FMV$300 x 108854 (708 %) =$3,000CH 3.

Total Sch.E | Sch.A
amount | 70% 30%

Gross rental income $3,000 3,000
Mortgage interest $1,000 (700)| (300)
Real estate taxes $2,000| (1,400)| (600)
Insurance $100 (70) CORIRER (B) :§1$3,000HVIEfiE
Utilities $1000 (700) {BL. #IREE(C) :$3,220%
Depreciation $2,000| (130) EfELTYR D,
Net rental income/loss | EEfMB+——0 KIHBL £ R Ep.315 8,




ClUKE eyl 3-3. Rental Property Expenses |

Peter owned a cottage on the lake that he bought in Year 1. In Year 2, he
rented the cottage for 10 days to a stranger and used the cottage for 20 days
for his own personal use. The cottage was not used the rest of the year.
Peter had rental income of $1,000, and he paid $600 for repairs. How should
he report these activities on his Year 2 return?

$1,000 income, $600 expense.
$333 income, $200 expense.
$0 income, $0 expense.

$667 income, $400 expense.

COow>

SU3-Q28 Answer(C) is correct.

HEENE Y : Bl DB E (rental of vacation home)

<MRAU M ERER >

AT, EEAHESM0B LI GCEERRMISERFGETHD=0. BT EEIL
BREAFEAOEEILLTHDONS, EERAZHET IRHEEZLA,
LA HEICRDERBELIERT HEETELRL, S OBRR(C) NERELELD,
MEEWMBO—OXLFELAEEEHRABBEXIZEZON TR,
Schedule A: ltemized deductions|Z TR DX R L4 S,




STUDY UNIT 4
ABOVE THE LINE DED.
AND LOSSES
BRI EIERE SUEX

GLEIMTXXFEIESE F30E5IAR
A13F5 (43.3%) B6RS (20%) C11R5 (36.7%)

4-1 Educator Expenses (X &&&MH)

4-2 Health Savings Account(EEZFEOE)

4-3 Self-Employment Deductions (B & %& D)

4-4 Alimony Paid (GZ#LBfIBHKBITF L)

4-5 IRA Contribution ({8 \:EBEE O RE) =>[SUI1]TREHRT 5,
4-6 Higher Education Deductions (¥ & B:E {%2%)

4-7 Other Above the Line Deductions
(DDA ELLFTIFRIER)

4-8 Loss Limitation (8 &4ZFR D HIR)

AGID ETEROXNRELDEEFE M SAEL=#18%K (Schedule C) R EEE
EEHHSEL-H48% (Schedule E) 213 2B AN 248 K EREIE L
LT. URZEBEQRE (at-risk rule) . SEIHEEN B LD HIFE (PAL rule) #% &
T35, -, BETEDOREFRE (wash sale) [CEITBMBEEE TN TS,
MEERBIIX[SUT~10] TS,




m 4-1. Educator Expenses |

Caitlin served as a kindergarten aide for 1,000 hours. She incurred $350 in
expenses for books and supplies used in the classroom and was not
reimbursed by the school. What amount is Caitlin entitled to as the
educator’s expense deduction on her income tax return?

A. $175

B. $250

C. $350

D. $0

m Answer(B) is correct.

HEENEYY - HEEER

<A RS> TR L IRE (20185 %)
| Educator expenses (B EEER) $250 /1A

o B (educator) &L HHBENSERETDZER., FHE. hooE5—4HE
PREEIZBVOT0REU LA EFBICHELLEZLS,

s BEEF.EREILBVRLEZH TV ERNTHERTEHE (aVE
A—AROYITEIITEEL) . 1 AH-YER$250% EREL T, AGID £ T
BT BIENTES,

CAERR D LR E7RH$250F THERR T, 2R (B) A IEAREE D,




m 4-2. Health Savings Account |

Chris, age 35, contributes the following amounts to his self-only Health
Savings Account:

® $500 on April 30, 2018

® $300 on September 16, 2018
® $750 on December 31, 2018
® $1,000 on February 5, 2019
® $1,500 on April 30, 2019

What amounts are considered contributions to the Health Savings Account for
2018?

A. $1,550
B. $2,550
C. $3,450
D. $4,450

m Answer(B) is correct.

HENEYY  EREIFEOE

<A RS> Z %R L IR (20185 &)

Health savings account : HSA |BAEEEREDIHS |55k kKiHE: $3,450

(ERBEFEOEA~DTEILE) (self-only coverage) |55 LALE :$4,450
REEBREREDIZS |55 % : $6,900
(family coverage) 551k LA E :$7,900

+ B#EREE®RZER (high deductible health plan: HDHP) ~MD A A EERRER D
BELiB,

. EEBFEOEADEILLEIIAGIOLTERTIZIENTESZN, BAEERE
&P (self-only coverage) MG A ., 55m% Ki15$3,450 ML D LR EE D,

« B NEEE4E £ O (individual retirement account : IRA) ~DIEIL TEREIZ.
BEARSHOBHEHBTHAIEF48158 FTIZEA T THISIFERT,

..$500+$300+$750+$1,000=9$2,550 = 5% 1ZRRA] < $ZRRD LR $3,450

BIREE (B) BN IEfRET D, EBEBa
<HSAD{L##H > HDHP A S OILE
- RL BE A
HILFE SHEE | RIS e
wperae | BA | FEEREBIX
R R Uz | JEEEFIX | HDHP | HSA(ERETEOE) HoD
NEHS-EFRBEDSLHDHPIZEYDN— GREHE BIHHL TR
ENBVREBSOIILVIZKETHEA,




m 4-3. Self-Employment Deductions |

Bernie is a self-employed accountant in 2018. He reported net income of
$54,150 on his Schedule C for 2018. During the year, Bernie paid the
following: $5,200 in child support, $5,000 in alimony, $6,000 in medical
insurance premiums, self-employment tax of $7,650, and $2,000 to his IRA
plan. What amounts are deductible in arriving at adjusted gross income?

A. $22,025

B. $20,025

C. $16,825

D. $25,850

m Answer(C) is correct.

HENE Y BEEEOER

<A RS> EMER LIRS Q0165 E)
Self-employed health insurance |##i#& B & -FREE -KEREKDHIC
(BEEEOERREM) Xi--EERRRHD100%
<#HRE>EL.MHREBFFE-ITRBEINBSHE
FBHI)—<0) LY BB R ENRET HERE
RIZICIMATHEREB-AZEL- T . MADEE
[Z[EMDH YL, BIEREFIATEEKE 5,

Self-employment taxes HEXEROERTASEMANE
(BEXER) =HEXEHR*x50%
$5,000 BEIRHRBNF &

+$6,000 E&ERIEH (100%)
+$3,825 BE %1 (37,650 x 50%)
+$2,000 IRANDFEILT

=$16,825 %R,

BEIRE (C) N IERREL S,

X EEDRBES TS (SEP. SIMPLE. Keogh) 2oL\ Tl
Part 2:Businesses T 9 %,




| Online 4-4. Alimony (B>, |

Starting in 2018, Mr. West must pay his former spouse $20,000 annually
under a divorce decree in the following amounts:

® $1,000 a month for mortgage payments (including principal and interest)
on a jointly owned home

® $250 a month for tuition fees paid to a private school until their son attains
the age of 18 or leaves the school prior to age 18

® $5,000-a-year cash payment to the former Mrs. West

® [n addition to the above amounts, the former Mrs. West also received in
2018 a lump-sum amount of $150,000 from the sale of their other marital
assets

Assume the parties did not file a joint return and were not members of the
same household. Also, assume that there were no written statements
between the parties as to how the amounts should be treated. What is the
amount of Mr. West's 2018 alimony deductions?

A. $20,000
B. $155,000
C. $17,000
D. $11,000
11
m Answer(D) is correct.
HEBNE Y B HREN T 2
Alimony (BfEEBIF X4) xihE ZEE
X 20184512 531 Hi&/-#Fhks PERRTIAE AR
FEO—CDOTHERE FTHRIEZIX50% | TS X50%
(mortgage payment) X i EfTEEE (GtEBE DS) (TEBED )
<BIBELULNSERDFSDEH> REFELEE  Point ! |
c BIBRIEE IO T HNDEDTHAS E, | (jointly owned home)
s BEHNEIRENZESHINTHEE, — oo
ARRBEDHOB=EOTIMEET. | g B it T e
XBAEO—FFLVBIUMES FERC EEEMBEE1 AT TNEES.

s TERBEOETIZEY ., KIBLWIRTITEIE, | = D45y E1E550%H Ve

R—DEFD—EIZHTERINTIEANIE, gzﬁg§%2g22@én§§ﬂoi

« Alimony S DI WTIEHRWNZE (B BEEE), KB EEEOSOEEIEA—

- UEARE FFILERIBIE P OERIBE LMFIZE DX FIEIE. Itemized deduction|=T
LTIEEBELY, T,

S Alimony LR BD (&, FED— $6,000 (H%8%1,000 x 50% % 124 B 43)
+RERBE~NDERIEREZEE $5,000
=$11,000 EIREZ (D) HEMEELED,
KFHOELHOZIWNITEETE 1 ELTRS BE—EILWETMEN 516455,




| SU4-Q11 4-4. Alimony (A |

Your divorce decree, which became final last year, requires that you pay $400
a month, of which $250 is specified as child support. During the current year,
you pay only $4,000, although in no month did you pay less than $250. What
amount may you deduct and must your former spouse report as alimony?

A. $1,000

B. $1,800

C. $2,500

D. $3,000

1]
m Answer(A) is correct.
HEREY) BRI F LY. BEEE
Child Support (BEHE) XIE ZEE
Property Settlement (BAE#5) PERR AT FERB

BEIRRIEZ(ITHLITChild support THAHBAEE SN TS EEEEFBRE. Alimony&7id,
BL.EA)  FHRICEET H2EBR Bl REEQOFENMHEDERITET S, FEE
5. BT H4E) ICKVFRDIILELBETHFOERHENDOVTLSIES.
BEESN DI LI TLSER S %, ik L IXChild support&L THRS,

F7=. ;¥ (2) : Child support & AlimonyDE AN ZIHNDIEE T, (25 1IN
BENEMN-=BEIZIL, £IChild supportiZdHToh ., EYZEAlimony&L TS,
Alimony:$150 x 124 A =$1,800

Child support: $250 x 124 A =$3,000

FERIET$4,800F X SNELTAH, HEEIFS4,000L M KIS TLVELY,

$4,000— Child support $3,000=Alimony $1,000 2Rk (A) ANEfEELS,

<BEA>

Alimony (REJEEXENF ) XiE SHEE
RS2 THFHIE - 2019451 51 A LUE

I RAE R A R EL 1 AEI R PR =]
o TEUIWE = 2019 FHHELY




m 4-6. Higher Education Deductions |

Rebecca graduated from college in 2017. She refinanced her qualified
education loans in 2018 with another loan. She is not claimed as a
dependent by another taxpayer. What is the maximum deduction available to
her for the $3,000 paid for education loan interest in 2018?

A. %0

B. $1,500

C. $2,500

D. $3,000

m Answer(C) is correct.

HEMEYY HEO—2 OXILFIR

<HRAVHRER> F R L REE (2018 &)
Student loan interest
(HEO—OXILFR) $2,500

EEO—VOXMFREE. TOBAREZMRELN -BREE - KEREO=HOD
HBEE (KFERBORZETHONERZER RBEZEC . ) OXWIHTHIE
ZEMLELT, £/$2,500% LRIC. AGID E TR (EL. AGINN—EEEZEB A S
MBE (IERREEN RSN D),

BYBMREToHEE L. AEROMRELGD, CERE (C)NEMRELRS.




m 4-7. Other Above-the-Line Deductions |

Susie was paid $150 for serving as a juror. Susie’s employer continued to pay
Susie her salary while she served on the jury, so she is required to turn the
jury duty pay over to her employer. How should Susie account for the jury
duty pay?

Include the $150 in taxable income.

Deduct the $150 from gross income.

Exclude the $150 from gross income.

Deduct the $150 as an itemized deduction.

oCow>»

m Answer(B) is correct.

HENE VY :AGID) ETOEMRIRE (FBE 8 HMEH)

<R MR >

EIRER(A) - TRCARER &Y. ZELSIEERELDLD T, B]RY,

EIREZ (B) : GIIZ$150% & & ., Gl H$150% 2R AT (AGIOD £ THEERA)
EIRE(C) :FEE B IL. FFRBAB TITGL, RY,

EIRER (D) :AGID FTIEAL, AGID L THERRF ., 32Y,

Jury duty pay FEHHIFRMN S ZMBEL-FEE BRI L. T3S
(LALITEL-FEE S HEN) (other income) 1 ELTGIIZEH B,
(BEOHEHELZETHHDYIC) FEE SR
EITELIZIBE . AGID £ TR,

Penalty on early withdrawal FIEHEEOZMFIESDLEELGIIEH T,
of savings EAARTARRII A SRERIERIR (penalty) ZAGID
(EYITES OB RIS HS) | L TERA,




Point !

4-8. Loss Limitation

R K2R FIR

(at-risk rule)

Y24 EE O FEA (at-risk rule)

BETHLEDOFFFESEENELIZEINSE LB L DERIL.
YZ2YEBORE (at-risk rule) IZKY . FENTIRHVEEET 2%
(at-risk amount) =l TO+@IIHIEEIN D,

R BEEEL/R-ZIL—EBD/\—rF—S CorpDHEZEDBEAE LV
BEME 55T, Fifi=t (closely held C corp.) IZ@E RIS,
YRO%E M) R4%E18$ 5% (at-risk amount) JIZIZLUTAEEN S,
8189558 @ WMHRENZOFIA~HELLEBEEOLTELEEDbasis

(at-risk amount)

AL, B EA LB EEO—HEERL-ESIZIF TN FHESND, -,
1X—hF—ES CorpDiEEIZDNTIE. /SR - RIL—BRICEHESHABELMA OIS,
@ WMHBENZOFBCHVTEANICEREEZEEZHS (F-(HEEST
ZE-oTWA)IEAEER

AL, Z0EBICHITIELA/BEATEEDMEOIRIENAIEREEST
BUMBENS LHIBRULICEAANEEIEAS LAWY TR O0—>
(GEHRBO—2) [ZLBERAEBEEBILIROFEHHT 8 /(CEFEALL,

DFY URVEHEORAL, /2)a—X -O—2% AL FAR E8EZ 38
ERERZEHIR) $HEETHEMELTNS,

I EESEEE ERTHEDED-HDERE/)I—X - O—(SBEAEEEE
2R3 2 %55 (B#5 IEH R M & -qualified nonrecourse financing :QNRF) [,
THEFEREL TUNBZLFEHIC, HHELT,
TR oF &9 S8 (at-risk amount) /IZZHE_EH TES,
Point!

4-8. Loss Limitation

ZEE0E B8 K D4R (passive activity loss rule: PAL rule)

ZEIRIEBIEIE | Passive activityb(Z. FEIEEEFB S LUMBENERLEMICEHS
(passive activity) | (materially participate) L TLVEWESEEN O EFE 1\,
EEPEIRFE | Passive activityh b4 L T-ZEMESNIE %k (passive loss) [, [RAIEL
(PAL rule) T. RACZ B EE A D ELT-F1§ (passive income) ELMBR TER
Lo DFY, REEHELNTET 5B HLEDMOR S DOFTF LR (181
BE)THIEIETELL, CNEPALIL—ILELS,
- R (REEE) LENGL - ZBREBH S DHIEX (net passive loss)
(&, BELE. B IBBUATTEE,
s MBRENZBHEBORSEFTHTIEEL TS LIS EIZIE,
R LI-FEICRENETHHOOMBAE LB EREERELHEDOH
DX OFFLEREE) T,
xR A, EEME-E5E. AZRERMIEAN (personal service corp.) .
BAfH= 1t (closely held C corp.) EIZ@ERSh 5,
FEIEEREEIC BANTBHESEZSICESMNICES (actively participate) LTLVS
B9 554651 (B2, FDFECH T DEDDLECEL10%ERELTLD)IHE .

HHELT, FOEEEH (passive activity) DAL ELEHREmM
BLEEDMD XS O FEER$25,000F THR (BEH) 1,

{BL. $25,000L 5 €& X, —EDIABEMA-AGI(3%) H1$100,000#8
DIMTHEDIBE ., TOBABLI=-EEDN50% 5 =I1THEEND,

(%) SSTWLDAGIE L. BEFixt R LB SR ER T2 (Social Security benefit)
F2EERSIL . ZEIRIEBNIE K (passive loss) BRERE O— O XL F| BIERR -
IRATELEBIEIR - BB EATRIEREEEBLAVTHESW -REEL\S,




m 4-8. Loss Limitations |

Which of the following would be considered passive activity income?
A. Alaska Permanent Funds dividends

B. State, local, and foreign income tax refunds.
C. Personal service income.

D. None of the answers are correct.

m Answer(D) is correct.

HEBrEYY . R EIREEBN (passive activity)

<KLV MEEE>

Passive activity& (&, TENEE EEFEH S UM EHNEE IR S (materially
participate) L TLVEWE X FEI O E FEIZ LD,
BIRER (A) - BRLFTE. FIFFIBREE X, IR—r 744 FR 1% (portfolio income) T#H 5.
BEIRE(B) . thA . SAERMSHROEFRIE. TETEBRBLEZFABTIEEL,
BIREE (C) : NMIRFEHEN (R 52 5T) 1F. BRENEREMNICESLTLSERIC
LBHFBRTHY . BEEIRIFTIF (active income) ELYVD,

CORIREE (D) BNEfRELRD,




m 4-8. Loss Limitations |

Alex started his own welding business this year. He paid $8,000 for a truck,
contributed $15,000 cash and paid $20,000 for tools for the business. His
bank loaned $50.000 to buy a building for the business. The building secures
the loan. What is Alex’s at-risk amount for this activity?

A. $53,000

B. $43,000

C. $93,000

D. $103,000

m Answer(B) is correct.

HENE Y URHEIEDEE (at-risk rule)
<HRAUMEER>
$ 8,000 HEHEEE(F5vY)
+$15,000 IWEHEZFHE L)
+$20,000 IREHEZE(TH)
=$43,000
COBRIREE (B)ANIEfRELD,

XEAMOD/V)a—RA—ViE, (FBEEEFEBICEITAEHICIEZELELH) .
M) 24% &89 %% (at-risk amount) JITIZEENLLY,




m 4-8. Loss Limitations |

Heathcliff and Gertrude file a joint income tax return for the current year.
During the current year, Heathcliff received wages of $120,000 and taxable
Social Security benefits of $5,000. Gertrude actively participated in a rental
real estate activity in which she had a $30,000 loss. They had no other
income during the current year. How much of the rental loss may they deduct
on their current-year income tax return?

A. $0

B. $12,500
C. $15,000
D. $25,000

m Answer(C) is correct.

HEENE Y RRER R ERI<EY 5% (PAL rule)

<RAUMMESR>
BANTEEEEFZHSEEMNIZEEE (actively participate) LTULVS (WD, D
BB R DDEEL10%EALTND)BE.
B#HIEL T, TDEEIES (passive activity) MoAELCT- MR LR SFFLEE DD
X2 D5 &M $25,000F THEK BEE) 71,
{BL. $25,000& V5 &5 (&, —E DFFAEE A 1=AGI (3¢) H'$100,000E D #FE D
55, TOEBLI-EFED50%NEITEEEND,

(3) CCTULSAGIE I, BB R LA H it RIS {3 & (Social Security benefit)

Z2EERIN L. ZENREENE K (passive loss) BIALEEFO—> DL FI BIERR -
IRSHEILEE1EfR - B EXEEBERFEZ B LBV THESN-REELD,

S.AGI=$120,000 (#5 5) XEEF M RELS U S RER TR ETEHEL,
=AGIH$100,000 B DT E TH 5,
=($120,000—$100,000) % 50% = 5 48$10,000
=$25,000—F%E$10,000=$15,000
>ZRAIRELT ZBIREENE K (passive loss) DAL,

$30,00005% . $15,000LTH 5., FEREE (C) NIERELL S,




m 4-8. Loss Limitations |

Bill took out a $100,000 non-recourse loan and bought an apartment building.
The building is not security for the loan. Bill spent $25,000 of his own money
on repairs before he rented the apartment building to the public. Bill is single,
works full-time, and earns $80,000 per year. Bill's loss from the rental real
estate activity, in which he actively participates, is $30,000. He has no
passive income. For what amount is Bill at-risk, and how much of Bill's
passive loss from his rental activity is deductible?

At-Risk Passive Loss
$100,000 $25,000
$25,000 $25,000
$125,000 $30,000
$125,000 $25,000

COow>

m Answer(B) is correct.

HBrEYY  FEEE EEBICEI I 5455 (at-risk rule KU PAL rule)
<B4 MREE>

TYRo%=EHET 244 (at-risk amount) 1(%.
TBHEEEFHAHE(BRE)L-HEDEEE525,000&%45,

EAETHRELE-FEETHEZHEELELTVEVWEDEHELAHI-O. FTHESEE
B)1ZB5 9 455l (qualified nonrecourse financing: QNRF) IZ@Ash 9, /> )a—
R-A—VFEMRI%AETHEEIEDHILIETELLY,

<EH>SLHLELS, AAIIERELZLT/VYA—R-O—VF BT CEFTERWNITHDO T,
BZLBIRMSFAAELTWA MDA EEIBRELTLDDEAIH, MEXIZZED K574
[T, Ko T R TIE, POEIARBICURIDEMEARBBELEZRET D,

&L F ERRR TT BES R BRI E BB K (passive loss) DEF(E.
$30,000D5%, $25,000TH 5.

BillK (. PALIL—)L DA B & 5 E B89 54545 (actively participate) IZE& &L .
AGI(£$80,000 (#55) 2D T, $25,000F THZX BEREE)THENTES,

COERE (B) WNEE LS,




4-8. Loss Limitations [

Larry purchased 100 shares of ABC stock on May 31, Year 1, for $100 per
share. On October 28, Year 1, he sold the 100 shares for $90 per share. On
November 22, Year 1, his wife, Vickie, purchased 100 shares of ABC stock for
$80 per share.

Vickie held the stock until September 30, Year 2. On that date, she sold the
stock for $110 per share. They filed married filing separately on all returns.

A. Larry has a short-term loss of $1,000 on his Year 1 tax return.

B. Vickie has short-term gain of $3,000 on her Year 2 tax return.

C. Vickie will have a short-term gain of $3,000 on her Year 2 tax return,
and Larry takes the short-term loss of $1,000 on his Year 1 tax return.

D. Vickie will have a long-term gain of $2,000 on her Year 2 tax return
and Larry will not have any capital loss on his Year 1 tax return.

308

PR
5/31/Y1 10/28/Y1 11/22/Y1

| | |

[ I [
ER{EFH
1008k B8 A 100#3EH 100 mE
$100/share $90/share $80/share

SU4-Q28 Answer (D) is correct.

HRBEFEYY Bl D x5 H (wash sale)
HABEES D RHEF R (wash sale)

HAZEDOEMESHZFRANLCRELIBXIL, SEHARIE30BRE (DFVY61BRM) I
EEMICE—OBMEESR (AT av0mBLET)E (B MEBLTWSIEAIZE,
LR T AIEN—TROLNEL, ChEREFTEDHHIELS,

X fhinE QOEBEEEIEMBELSIEL TS EADR—DEMIESEEMBEL:-
HE (FEMGEREG) T REFTELLTHRON DI LTS,
(B)WMEBLEFLOK Dbasisld. HLOBX OIEMEEIC, #RTHIEMNEDH
SNEMoT=18%k (FEICEREIRYERSNT-18 loss deferred) ZMEL =55
L, (E)RELEHFLOVKAOREHME. sV EXOREHEEED,

DO DBEY ., AR IEREFTE(Z5%4L . Larry K [T DFEHN4E$1,000
(=$90 x 1004 —$100 x 100%k) Z— IZR T B LIFTEAL,

QE & B Vickie R N ERFL 1= X Dbasis
=$80 x 1004k : ER 15 {fiZE + $1,000 loss deferred=$9,000

@9/30/Y2 . Eef@# Vickie KIZ k5 LB D FEH]

Amount realized $110x100%F  xLarryEDRELIRIZE SIS
—A.B. of the property $9,000 1=&.5/31/Y1DEEMSIEE,
Realized / Recognized gain $2,000=> Long-term capital gain




STUDY UNIT 5
ITEMIZED DEDUCTIONS
H B A0
QUALIFIED BUSINESS
INCOME DEDUCTION
SRR

GLEIMTXXFEIESE F30E5IAR
A1715(56.7%) B8R (26.7%) C5/5(16.6%)

5-1 Medical Expenses (E&%)

5-2 Taxes (Fi£)

5-3 Interest Expenses (XiLFI8)

5-4 Charitable Contributions (EZZF1%)

5-5 Personal Casualty Losses (¢ E18%k)

5-6 Itemized Deductions on Separate Returns
(RIFE R B FIZH T HIE B AIEZER)

5-7 Other Itemized Deductions
(Z DD IE B AIERR)

5-8 Qualified Business Income Deduction

(EAE S RATSER)




I

5-1~7. Itemized Deductions

15 B AIHERRIE B

EERRFIBR DB E (2018 )

(DMedical expenses

AGI X 7.5%% B89 HE 5 & 1=,

(BEEE)

@Taxes FEE5$10,000 (MFSD 5 &$5,000) % LR EL TR,
(Fed) M2018EEHRE LY. NEDBEEE ERITIERTT,
@Interest expenses FEEWREO—2OXZILFIE | O—2TA$750,000
(ZHFIR) £ | (acquisition loan interest) | BE-3ED2EFH D H,

=

55

XEE F R (points) . 141 % F3# (refinancing points) &4
PROMRELD, GE)BLE FHA OHEHE Hp.96% S8,

12
(2

FEHEO—OZILFR
(home equity loan interest)

UE]2018FERELY, FEZE
WG EE . HESHHD L

FEERFO—2 OZTILF RN
13, ERAT,

REFR

(investment interest)

R E#F|2E (net taxable
investment income)As LR,
NEHRRARIERR AT, XK IEFER
BHORENRITIERF,

LEO—UOXLFE
(student loan interest)

AGI® _E (Above) TR
$2,500% £ PR &L THERRTEL,

FETH-EEFHLOBANE
(business / rental interest)

Schedule CFf=I&Schedule E
TR,

LRSS OIIFIR
(personal interest)

ERAT,

2

5-1~7. Itemized Deductions

15 B R {ZERIEE

@cCharitable contribution
(BEFHD)

HERRHIR DB E (20184F )

Cash :AGI % 60%._L[E

KO EREBIERRT,

LTCG property (FMV) : AGI X 30% LR

(BCasualty and theft losses
(REEHEX)

BROAEROFRELD,

KE-Z#1EI2DE$100, EHAGI X 10%% kB8 T 559 %
WB#‘I X2018FEHRELY EMBUFICKYE
A (federally declared disaster area) TRAEL-KE - K

EENFKKE

©Other itemized deductions
(ZDDEERR ; HERR)

5 : ¥ > T )L %k (gambling losses) . B AIZBIET BFF15
(income in respect of a decedent) IZ%f L TX tho1=EFRABHHL

XHFEFIFE (MFS) (2517858 B 5IFEER

AZ2 =T TANRTFHICBEDRE:
MFSTI&. KIRDEHFTE - 125 - HEEIERRZE50: 501 R EILTHRET 5,
AZ2=F - FTaRT UM BEDBS:
MFS’CIi KIFEFNZTNBEBOFE

SRR -BERERERE T HLCHAA LTORITER;
RIFHFEMEETEOERAG:BEEER) . RE. BEA IO AERT,

© RIGHEFAATEOKTEREE. EXEE50:50("EILERT S,

© RIPRFEBBEOBITOENSTI-T=-B A (B ERE) (&, RAI, 50:50/<E 2 LEKRT 5.

o MORBRICOVTIE, MORMBERBEICEOVTGERL-BEERICEYELGSH, [REIELT,
BRSBTS HY . BRS8N AR,




m 5-1. Medical Expenses |

To qualify for a medical expense deduction as your dependent, a person must
be your dependent either at the time the medical services were provided or at
the time you paid the expenses. A person generally qualifies as your
dependent for purposes of the medical expense deduction if

A. The person would qualify as a dependent except for the amount of
gross income.

B. The person was a foreign student staying briefly at your home.

C. The person is your sibling’s unmarried adult child.

D. The person is the unrelated caregiver for your elderly parents.

m Answer(A) is correct.

HEFEYY EREBERONZRE

<MRA M ERER >

ERERREZHFE TS L THOHKESE (medical dependent)
MBRBEBARAN, BIEE (MFIDIGE) . FBRED=HIZHZ I =ERENMERONR,
EREEREHE TS5 ETORERI (medical dependent) 2DV TIE,
“Qualifying Relative” DE# (SINCRO) D55, RN EHL (=HBERELLD
HDGIH$4,150(2018) KiFTHH L. ) FREESN B,
<HRESEBELE-HAFHO-OIZKI--EREIL. FREEBFKRELTHET
BIEFMLTH, XN EFNFNIERTHIENTED,

SRR (A) A IERRETE D,




m 5-1. Medical Expenses |

Mr. Cedar broke his hip and must now use a wheelchair. He modified his
home to accommodate the wheelchair. He had his home appraised for
refinancing just before the improvements to his home. The value of his home
was $200,000. After he made the modifications and improvements listed
below, the value was $202,000. Mr. Cedar incurred the following expenses
during the year. Without consideration of adjusted gross income limitations,
compute the amount Mr. Cedar may claim on his 2018 tax return as a medical
expense:

® $3,000 to construct a ramp in the entrance of his home to accommodate
his wheelchair
® $4,000 for installation of a lift to transport the wheelchair from the first to
the second floor of his house
@ $1,000 for adding handrails around his tub
® $200 to repair his chimney
A. $8,200
B. $6,200
C. $6,000
D. $8,000

m Answer(C) is correct.

HENE YD  ERE D7
m E# B D#/F) (medical expenses)

EREQHR: OFES - 1HHEE, Q5 EREE

<1’“I3$_Iﬁ'é7§.l§§§§0)5{$1§ﬂ>

PRER(FM. Abt. EHRZ2. EMINEVEEZED)

WA HEIZ J:%);UJ* AUV U XEED)

BREE <MHE>ERICLDELEARUASSONERO LRELD,
ERRER (EEMADRAT T TEED)
BEOENNEQEBTITo-BEDRELHRBBOHFEICDOLTIE. Chi
[CAMSERERDIL. BEDEEMBEZEMSE BRI EELEIVEEER
BELTERAI(BE. BEDEEMEEME DX, EAKZHELTHEDDasis
[CIETHENTED) . £f-. ERELLTROON-E S DEBREEFERG.
ERBLLTERTSIENTED,

SEEERLICedarRIZUTEERBELLTERT HIENTES,
$3,000(ENFTDF-HAO—THREBER) <R >EMHADBMIRMIFT,
+$4,000( ENVT DREHBRBEER)
+$1,000 GAEFTYREER)
—$2,000( BN EEMELE M)
=$6,000 EREL(C)MNIERRLLS, XIEEDEERS200[EERE LTSI,




_ SU5-Q6_ 52. Taxes 3

Taxes deductible as an itemized deduction up to $10,000 include all of the

following EXCEPT

A. State and local real estate taxes based on the assessed value of the
property and charged uniformly against all property.

B. State and local income taxes.

C. Taxes that the taxpayer paid on property owned by his/her parents or
children.

D. Personal property taxes based on the value of the personal property.

m Answer(C) is correct.

HBREYY RO/ RELDIHE
m Itemlzed deductions TR DHREZSH % (taxes)

L s TR 0 SO D LI,

\BALUTDHRENERDOARELD,

Real property tax (#{ - #2750 B & & EFr)
XEE-E(EAAERAOEE) DEE L ERILMAE S THIERA,
X2018FEEBRE LY, SEDEEEER FIZERA,

X4 R BR SR B (special assessment tax) (1A BL, FEDEEMEEZSH
BILLGDZHTH A=, ERAMZHELTHEEDbasisIZMESTHIEMNTEDS,
Income tax (i - # 5 - 4L E D AR #FH)

XEEIEDHE. OFEHSORENESIHIEERELY,

Personal property tax (il - #b 5 DENEF) XAEMB DA

Sales tax (M- #hFDFE EB) XFABHREVLT A KENVHZIERRT,

BREC) M- OEEEERIL. TOREEEDHMBENMERTHENTED,
BOFHAFRAELTVSEEDBEEEERENDYICKIL>72ELTH, —UIHERT S
SEFTERL, BRI (C)AEREELD,

T APETRICHEN BEEAN. TEOMEHRFEICH TS EENMBREHERD)
BEEEMEIIL>I=ELTH, —PHERT S LETEGW BL. RBEBAICERLT
REXDEHESIEZELTHEALIEEDbasis (BGFEER) [CMET H2ENTED,




’

m 5-3. Interest Expense As.y

Matt paid interest in 2018 as follows:

® $100 on his personal credit card

® $200 on funds borrowed in order to purchase $6,000 in tax-exempt
securities

® 3$500 interest on his personal car loan since he does not use his car for
business

® $10,000 on his home mortgage

What is the amount of Matt’'s deductible interest in 20187

$17,400

$10,600

$10,000

$10,800

oow>

m Answer(C) is correct.

HENE Y ERORRELIZILFIR

D[EEREO—OXILAR | 0—5TA$750,000
1% | (acquisition loan interest) XBEFED2HLDH,
Interest expenses = XELVE FHOH (points) | fE#Z F %4 (refinancing points) &4
(ZHFA) Eﬂé?ié%:‘:@éo (52*) Eﬂ?%%ﬂ?%##ﬁ“i%{féi&%ﬂﬁd):&o
B FEHE |~ 18| FEEERA—2 DO ILF F12018FERELY ., FEZE
KEHRITES. (home equity loan interest) | E{5. B, FEITHAD LE
® EEIMEO— QX LRI LL
Sh . FERRA ],
QEFEEFIR REHFIE (net taxable
(investment interest) investment income)A’ LR,
AR AR RR T, X IER
BEFOBREF RITERTT,
AHBEO—CDOXILFIA AGI®.E (Above) THR
(student loan interest) $2,500% LR &L TR,
@=xFEH-EHEFHLOBAFE |Schedule CE/-1E
(business / rental interest) Schedule ETHERRT],
O LEUNDFANFIR PR,
(personal interest)

s BRABFHEA—2OILOYMA—FIZHRSZIF RIEFARF B ETVIRR T,

& FI & (investment interest) I(LIEFR DX R LB, IERFES (H: A B)ZEATS
=D E AR BITIERBRTELL,

SAEEFERELEEREO—COXILFIES$10,000DH 25T RN (C) ANERE,




Point !

5-4. Charitable Contributions

FIEER
HHDOHR ﬁffﬁlﬁs(quallfymg orgamzatlon)’\d)ﬁﬁ KEANDFT (BEE) (FIERBRAT,
L XA i ADL

ﬁI,ﬁFﬁ(chamber f commerce) S E ) H {& (foreign organization)
#3457 (social club, country club)  $@#& . BEMH (bar association)
EROER | REFMEESTOverall limit: FT 2RI L TAGI X 60% LR K EEZHMAZIRT
& FHEF 1 (cash contribution)

ﬁ(’,)%;ﬁéf AGI % 60% LR (FARIBI R B B £~ DHF: AGI X 30%)

M (property contribution)

BWMF S OFME. [RE, ZOFMVEBasisODWVTFIMELFELEN, TRESHE,
FMV=AB.. 2#ENHL5RBYFHOBRE

*FMV CER1ii

-AGI X 50%.E R (FARIBI LB E S~ DEF{F:AGI X 30%)

FMV>AB.: S #XHLIBEMEHDBE

Ordinary income property -Basis TEHil

=Capital gain property L15} D IF# -AGI x 50%_E R

={RICFEHLZEICEERBEIESTCCERH, | FAMMBREEE~DE{T:
AGI X 30%)

Capital gain property (3%) -EMVCEHE

={RIZFEHLI-HEICLTCG (sec.1231 gain) #:R&#. | -AGIx 30% LR
(GKLTCCHRH N\ ESec 12317 (A BHBINEREERH | FAMBIRE RS ~DE:
L T. “Capital gain property” &35, AGI X 20%)

Point !

5-4. Charitable Contributions

T EER

FHEE | B (qualifying organizations) 23 d A XV TH>TH.
BEERAL  UTFRFHEEAEENLE,
B - FROBEHOIILL
s BREARANELI-EEOHEFAMEE G : FEBEOESEIE)
« EVTPSYTIILKEADSME A
BOE | BEEEEA~DFHORIRYELTE S A O il (consideration for contribution) %
ZITRHGE. [FH LB —SEELTRBELIEODFMVI=TZ8E0# 1%,
AHBFE | EREEANRMEL- AR TE (donated service : RS T4 7 EE) DEETF S
() | ERORRETESE, BL. ARIREIZ A T AR A - T O HEEE
DEH | ERORBGEZERA.
BFREERICEITHEEDEEL —I (standard mileage rate) (.
* AR E-Y14¢E755,




m 5-4. Charitable Contributions |

Mr. Hardwood has an adjusted gross income of $50,000. In 2018, he
donated capital gain property valued at $25,000 to his church and did not
choose to reduce the fair market value of the property by the amount that
would have been long-term capital gain if he had sold it. His basis in the
property was $20,000. In addition, he made the following contributions:

@ $500 to upgrade the city public park
® $1,000 to the Hill City Chamber of Commerce
® $5,000 to a charitable organization in Germany

Compute Mr. Hardwood’s deduction for charitable contributions in the current
year (without regard to any carryover or carryback amounts).

A. $25,000
B. $31,500
C. $16,500
D. $15,500

m Answer(D) is correct.

HEBREYY B R ER DO

<B4 MREE>

Hardwood K DF A EIEERREBILLUL T D LSIZHESINS,
KEIESEREFAY G E) BEFMATEERAER TG =5,
EROFMREFESE,

$15,000 HEADBYPZFHXD
+$ 500 HELABRNDREFFTXO
=$15,500 < Overall limit: AGI$50,000 x 60% =$30,000
COERIRER (D) AIEfEERD,

%@ : Capital gain property (LTCG property) %MD TZDFMV$25,000 CEHfi & 41
2D EBRIZAGI$50,000 X 30%=%$15,000&7%:5,
¥Q: 2R D LR E%HAGI$50,000 X 60% =$30,000DEHEE RN TH S




m 5-4. Charitable Contributions |

In 2018, Janice volunteered at her local art museum where she conducted
art-education seminars. She was required to wear a blazer that the museum
provided, but she paid the dry cleaning costs of $200 for the year. The blazer
was not suitable for everyday use. Her travel to and from the museum was
1,000 miles for the year. She estimates the value of the time she contributed
during the year at $2,000 ($20/hr x 100 hours). Her Schedule A deduction for
charitable contributions is which of the following?

A. $2,340

B. $2,140

C. $140

D. $340

m Answer(D) is correct.

HENE YD ARBRBOFT

<MRA M ERER >

T FE AR AR L= AB91ETE (donated service : RS T4 755 8)) O EE XKD
SR EIFHESEND ., NHERIBIRBICHADS-RBE -BAK-FOMEEERDE
B(IERITDHIENTES,

$200 EMEZHROHRII—=2IR
+$140 3@&EE (1,000 miles x A EHEIRICHETEZEEDIEEL—F50.14)
=$340
SORIREL (D) WNIEfRELD,




m 5-5. Personal Casualty Losses |

On March 28, 2019, Rita sustained a loss to her personal property due to an
earthquake. The property was in an area declared by the President of the
United States to be eligible for federal disaster assistance. Based on the
following facts, what is the maximum amount of Rita’s casualty loss that can
be deducted on her 2018 tax return, due April 15, 20197

Fair market value before the earthquake $23,000
Fair market value after the earthquake 6,300
Cost basis 30,000
Disaster relief funds received to replace lost property 2,300
Adjusted gross income for 2018 27,000

A. $30,000

B. $16,700

C. $14,400

D. $11,600

m Answer(D) is correct.

HBErE YY) K BB EOFMEIEBRD LIS

m BN & EED K E - FB 5% (personal casualty and theft loss)
(] (FSUTHHAKE) 2018EERELY . ERBAFICKYEESNERAKE BN
(federally declared disaster area) THRAL-KE  EHBLDH RO RELD,
<KBBREXOHE> BAFEREEOKTELIEE. KEICKIEEDHKMO RS
(reduction in FMV) &ZDEEDbasisOWLNFANSWNAELD,
<BBROBAZVT> REIELT, KEREFEITHERT S, AL, ERBMFIZEYES
SNERLEMBATRELEKEEBERICONTIE, HEEERFTIEMEBLLT,
KEREFEQOUEEDHREE L THERTHILLERABRIHEEOREETR
HEADBEEIZIE BEREETWMERTEIENTES),

i Reduction in FMV $16,700] (=#%E71$23,000— K F1%$6,300)
Basis of the Property $30,000
—Reimbursement ( 2,300) XEKBIHLBEKKFERE (disaster relief funds)
—$100 (8= B8 1 fEIZDE) ( 100) M OXEEAXMEINDGLELHD,
Eligible Loss 14,300 <HE>RIRZHI<5HHHE (deductible) BHEHE

- ° RIREHEE - BE=REOAHZE. ERITRIREL
AGI X 10% (£ ) (__2.700) CT2eEE B bt B,

Deductible Personal Casualty Loss $11,600
SABOr —ATIEX2019F3 A ITHEEAYR A, UK EFBRKE, 2019F4F15AM B E
HABR&EGHHIE2018F EE D I 5 W L TR T S LER IR BN (D) NEMRELT D,




m 5-7. Other Itemized Deductions |

Paula won $5,000 in the lottery in 2018. She also won $200 playing bingo at
her lodge hall. She is not a professional gambler. She kept meticulous
records of the $6,550 she spent on gambling expenses. How much may she
deduct on her Schedule A as an other dedcution?

A. %0

B. $200

C. $5,200

D. $6,550

m Answer(C) is correct.

HENE VY Z DD IR B HIEERR  #2ER
ZOMOEBRIERER LT, LTOERERRALTHEIS.

| Point ! | ZOMDEE SR A1

s FroJLiEk
X T LBk (gambling losses) (£ “#AT R ELTGICEDH-LHEEDF v T ILIL
A (gambling winnings) # LR &L TR, #l: AP/, EKC.EVT

s BMAICEEET 2 FICRL TR~ - E R
BEMEOZEEIL, A IZEET HF1F (income in respect to decedent) [Zx LT
T o E AR R & 2 RR T

AREX, FvoIILICETBREETH S,

$5,000(E<L) +$200(E>3) =%$5,200 > T ILIR A,
FroJILIBL $6,550055 . $5,200% ERREL TR,
SOERIRE (C) W IEfREL S,

CEY(FSUTHFHIRIE) 2018EERELRY, KERBE (HSU—IV)DEERE.
BEREER, FEREER. ik (hobby) [Z{E>1-EHIX. Schedule A:
Itemized Deduction® % Db DRk ; # R (- TR A,




m 5-8.Qua|ified Business Income Deduction|

Which of the following items are included in qualified business income (QBI)?

A. Pre-2018 previously disallowed losses or deductions that are allowed
in the current year.

B. Allocable losses associated with a qualified trade or business.

C. Short-term capital losses.

D. Guaranteed payments paid for services rendered with respect to a
qualified trade or business.

m Answer(B) is correct.

HENE YD  EIRE R EER

| Point ! | GBI (QBI deduction ; QBID)

CEY(FSUTHRHIHIE) 2018 EREG &Y, [RAIEL T, BAATEO/ KRR L—BEE
ZEC TH-TERERE XS (QBI) D20%1% T, C CorplXBEATR,
KEHREEFS (QBl) LI XKENOBEEHCEETIZERETHY. BEEEDEIERR
15 (#F)3%) AbPartnership+S Corp M5/ R A L—EN =B EEEFS (ordinary business
income) ZL\5, #&5 ., /S—rF—H2$H9 %Guaranteed payment., F|BER Y, FrERIL -4
AVFIEEENLGWN, FHEEERBIIOVTIE, E—IN—N"—HENAESIITEY. — &
DEHEBmLTONIE, BEREBEESF (QBl) LHESND,

XEHRBEMS (QBl) EHOBEZELMELTCLSGEICIEZTOEEH) M HERTHLE
& LEEDOQBHERIE YOS FERTERLY) , UEEDMIBLIL, BECHEBLATHE,
BEFHHAUTOOONTNIZEHZL TS, T-MHEEDERTEOKRESITELT,
ERRFIRAREFDOBRAAENRED, REDHEHIZH<

@ Qualified Trade or Business (QTB) GEI&RE %)

=L TOHEANMBKIZEEE (SSTB) LN DHLHDEEE,

@ Specified Service Trade or Business (SSTB) (4 AR IFIRME %)

=EE - EE- K- REREIE- WO Y ILTAOT - RAR—Y - EY—EX-JO—4
—EOREATFICETAIANEBRBEBE, XTI F BEFZTEIRMI TS,

<RAUMEER D> BIREE (A) :2018EE B E LSO MR KITIEMUA T8, 28Y,
BIREL (C) (D) 1. QBIZIFEENLLY, B (B) NEMELD,




m 5-8.Qua|ified Business Income Deduction|

Tyler and Ross are married, have taxable income of $419,600, and own a
partnership together. They have gualified business income (QBI) of $334,600
from the partnership and do not have any qualified property. The partnership
pays a total of $127,500 in W-2 wages. What is Tyler and Ross’s QBID
allowed amount for the partnership?

A. $33,460
B. $66,920
C. $83,920
D. $63,750

m Answer(D) is correct.

HENE Y  EIRE R EER

 Point ! | QBIZIRIBEE DI T

<W-2 wages and property limitation>

BRHIBHRE : U TS T 5MBEDFLFONT NN REVILIERO LERELS,
a) BEEBEDOW-2/45#%8 X 50%

b) HZEEDW-245 #3248 x 25% + B {E I & = D ESHEE X 2.5%

Taxable Income @QTB @sSSsTB
(QBI#ZFRA) AESSTBLISNDEZE BHEANRBIRBESE
< $157,500 (Single) Full deduction Full deduction
$315,000 (MFJ) [RA|:QBI x20% JRA|:QBI x 20%

W-2 wage and prop. limit .
Al QBI X 20% N
ER: EERa)) WTFhAMK =

Overall limit (QBHERRX AT D ERFi TS —Net capital gains —Qualified
QBlZERR 2K (&5 | dividends) x 20%

<IRAV MR > AEIDKIEDr—RIFERFTEH$415,000(MF)) ZBZ TLNB=86.
B8 QBI $334,600 X 20% =$66,920

IR #A5#%3%$127,500 X 50%=$63,750 XEBEE CRMENERE) [THLERE.
CORIREE (D) ANEfEERS,

S |$207,500 (Single)
$415,000 (MFJ)




STUDY UNIT 6

AMT & OTHER TAXES
TAX CREDITS

PAYMENTS
REI=_ILBETOMDER.
FREEIEER. AIELBI &

GLEIMTX X HIREE 5305 VAR
A13[5 (43.3%) B9R (30%) C8F (26.7%)

6-1 AMT and Other Taxes
(REBEI=ZVLBREZDMDF)
6-2 Tax Credits
(Fi&E1ZER)
6-3 Payments

(RATELTREFH) % T EMPBL (estimated tax payments)
¥EFZN (statute of limitation)




Point ! 6-1. Alternative Minimum Tax

BAFRGERICE T HAREI=T LB (AMT)

Regular Taxable Income
+AMT Adjustments
+Tax Preference ltems
Alternative Minimum Taxable Income

< AMT Exemption > BADIBE . AMTOEREIZRRAEIX

B &5 ¥4 (filing status) CEITRESH

Alternative Minimum Tax Base ;‘;}‘)’Ez}’ﬁ fi?ﬁ Igg)élgf?iﬁﬁ:\gg@-;
resno =B\ ZapP77 - (1]
X AMT Tax Rate 26% or 28% RULSBETBEASND, K018 E
Tentative AMT Tax =

) Filing Status | Base amount |  Threshold
< Tax Credits > MEJ $109,400| $1,000,000
Tentative Minimum Tax aw $109,400| $1,000,000
< Regular Income Tax > HOH $70’300 $500!000
Alternative Minimum Tax Single $70,300 $500,000
MFS $54,700|  $500,000

Point ! 6-1. Alternative Minimum Tax

BEARBRIZBTAREI=T LI (AMT)
AMT adjustments (AMTEAZIEH)

@ Passive activity losses (ZERI;EENE %K)

@ Accelerated depreciation after 1986 (MACRS# % DB ME R - L5 HR)
@ NOL(&kiE%)

@ Installment method (El & E %)

® Contracts(Long-term) (EHAE & 224)

® Taxes(IHB BB THEBKRLE-ETORE)

@ Standard deduction (2 #4252 f4)

X ESELISADFARIER &L T. Incentive stock option GEIE XMy -+ T3 ) EMH 5,

Tax preference items (FifE:BEH)

@ Private activity bonds tax-exempt interest (FAEEEIME D IEER D ZHFIR)

@ Pre-1987 accelerated depreciation (MACRS: & R I 0 B &I & 5 )

® Percentage of depletion (B & EIC K HFFEEA)

X EFELSMZ. Qualified small business stock (B f/pE s #R= S{EL. 201059 28H LIRZEIC
MBLE1202&% K IOV TIEFARERE, ). Intangible drilling costs (IDC: &M IEHIE) EHH 5.




BEXeYH  6-1. AMT and Other Taxes [0

Alternative minimum tax for individuals requires certain adjustments and
preferences. Which of the following is a preference or adjustment item for
noncorporate taxpayers?

A. Standard deduction.

B. Incentive stock option.

C. Tax-exempt interest on certain private activity bonds (not issued in
2009 or 2010).

D. All the answers are correct.

m Answer(D) is correct.

HBEFEYY KBS LB (AMT)
<RAUHEREE >

#iRB% (A) :Standard deduction
4R A% (B) : Incentive stock option

ZEIREX (C) : Private activity bonds tax-exempt interest
EROVTNEAMTEHE TS5 L TRETHERETHS,

EIRER(A) E(C)NAMTZET R T 5 L TRESHEB LS ML,
BIRE(D) NEfETH D,




IEXEN  6-1. AMT and Other Taxes [

Taxpayers A and B, filing a joint return, earned box 5 Medicare wages of
$190,000 and $110,000, respectively. Determine the amount of additional
Medicare tax they owe on their final Form 1040.

$0

$450
$2,700
$25,650

oow>

1 s kv et 23 e

" w_z Sage and Tax : - [T ———

Gopy B—To e Fied With Empiyes's FEDERAL Tax fietur.
T skyraion i b s et onaemal P Sarvice.

m Answer(B) is correct.

HENE Y BN0.9% AT 7T

FriZB LIS DF DD FH (other taxes)

1. Employee FICA Tax(#3')—<> M#&5 Fi=Medical & Social Security Tax)

HBEMEICATHMERIE. BADKENSRRMISND,

2. Self-Employment Tax(BH & %% 0 BE%XE#=Medical & Social Security Tax)

FEMEBIIHT HEELEFRIL. Schedule SEIZTEHE LSchedule 4M574THIZEE A,

3. Additional 0.9% Medicare Tax GENN0.9% 5 RS AT 14 7 #i)

WERUEENT@FARAEROEEEBALSERFTEL. [ Mry | $250,000
B L= LA RS KL B0 9% D AT r PRARENS. [ urs 5125000
BERMINSh TULAETFIE, Form8959I=TEHE LSchedule 4M62 _ ’
THIZEEA, EEELI5 | $200,000

4. 3.8% Medicare Tax on Certain Unearned Income (3.8% R i GAT 14 7 i)

AGIN—EEZ BRSBTS L. —EDLHFEE (net investment income) [ZxfLT
3.8%MDATAT7HMNESN D, Form8960I1ZTEHE L Schedule 4M621THIZEE A,
¥ Net Investment Income Tax (NIIT) &M (Eh 3,

<HRAVMRE > AR D KRIRICITFNEFNS$190,000£$110,000D AT 447 7 A ZIE 5
(Form W-2: #8 5 Fr 5 0B R MUNE Box 5128 END%8) 1'H b, RIFSEHBE (MFJ)
DA . ($190,000+$110,000) —$250,000=$50,000 % 0.9%=$450
COEREE(B) D IEfRELS,




Point !

6-2&3. Tax Credits / Payments

BB EATIL B R F

FORM 1040

GROSS INCOME
— Above the Line Deductions

ATREE LB

= ADJUSTED GROSS INCOME

— Itemized Deductions or Standard Deduction
— Qualified Business Income Deduction

=TAXABLE INCOME
X Tax Rate

=INCOME TAX

+ Alternative Minimum Tax (AMT) / SE Tax / Other Taxes

— Tax Credits / Payments

=TAX LIABLITY OR REFUND

Point 6-2&3. Tax Credits / Payments
BEEREALRESH
Nonrefundable Credits Refundable Credits
BT TRE B AT RE
Foreign Tax Credit American Opportunity Credit
(S E B EEZERR) CREHEHEHRERER)

» Child and Dependent Care Credit
(FREFEFHEER)

+ Lifetime Learning Credit

(EEZFEHREEZR)

Child Tax Credit

(FBREREERR)

» Credit for Other Dependents

(REREHEEIZR)

Retirement Savings Contribution Credit

(IRAFRILZEFIEEIZIR)

Elderly and/or Permanently Disabled Credit

(BlnE - JREEEHEEZR)

» Adoption Credit
(BETFERBEER)

*  Minimum Tax Credit
(KRBT LBEEER)

» Additional Child Tax Credit
({3 mnFEFREEEERR)

Earned Income Credit

(BT IS B ERIRRR)

* Withholding Tax / Estimated Tax

GEIRATIFT DR RN - F E fhFiaE)
Excess FICA Tax Withheld
(HEREROBBEMTEE)




| SU6-Q6 | 6-2. Tax Credits (A, |

For the current year, Gannon Corporation has U.S. Taxable income of
$500,000, which includes $100,000 from a foreign division. Gannon paid
$45,000 of foreign income taxes on the income of the foreign division.
Assuming Gannon’s U.S. income tax for the current year before credits is
$170,000, its maximum Foreign Tax Credit for the current year is

A. $9,000

B. $45,000
C. $34,000
D. $136,000

m Answer(C) is correct.

HEERE Y S EFEEEEER (FTC)
<RAVMEER > NETXho1=FERE. —ERICE 5 -ERRERMT 5=-HI=.
15 B B2 (itemized deductions) % AL 5 EFEEEER (foreign tax credit: FTC) @
W — 7 THEIRET (L2 0DBBREHF T S-LIE TS, —BIE B H 510 TRYEF 41
BRTHBR T BEEIETELL BL, SME T # 0/ FrZ 2 DU TH EFAEIE R EFIFL TE. FriEf
LIS\ DINEIDF £ (1 TE B FIER TR TR « —IRBNIZIESNNEREEIEROIZS5HFFIZES,
SV EE R E 5 PS04SR TE (foreign earned income exclusion) ZFI AL TL\5EAD
BRE L. BRI LIRS OVWCEEL T EREEIEREAVLDZEIETERL,
SFE B (foreign tax credit:FTC)
NEFREBIERTIERATELZD L. ROVT NSV EEELLS,
©) 9*131'6&%07“:;3)?%5;15%@ ——
@ EIBEER O%) x T EIRERBPTIS

= SRR S
XEeWHFRBABITNT 5 EMFEHEE (FTCEDREEIERAE) THD,
RED7—RIE, LLTDEY, %Form 1116: Foreign Tax Credit I TR AT 848 £ 5t H T 5.,
@ $45,000

5170000 x $190000 CRIRE(C) N ERET .

NERRFAFICRINEDHERORMHREARELVbELNVT—REGY, S ETX L
S-S REEE 2R T 5 LETELL, QD LIREEZEBBL-E15$11,000(=
$45,000—$34,000) (31 FRRLE S P10FEFBL AT HE,




| SU6-Q10 | 6-2. Tax Credits B..., |

Virginia’s earned income for 2018 was $24,000. She paid $3,000 to a
qualifying child care center for the care of her 2-year-old son while she
worked. She received $2,000 from Social Services to assist with her child
care expenses. Compute Virginia’s Child Care Credit for 2018 from the
following excerpt from the child and dependent care table:

IF . . . THEN the
your adjusted gross income is: .
percentage is:

Over But not over
3 0 $15,000 35%
$15,000 $17,000 34%
$17,000 $19,000 33%
$19,000 $21,000 32%
$21,000 $23,000 31%
$23,000 $25,000 30%
$25,000 $27,000 29%

A. $300

B. $900

C. $930

D. $310

m Answer(A) is correct.

HBrEYY  FR BT E ST EE12R (child and dependent care credit)
<IRA L NRER >

FLEEEEH 2B (child and dependent care credit)
MREAEEOIZ, BBR K (FHOIBSEM38%1%KED “Qualifying Child” TH S
L DHBFBIZEL-BA%. BB TER $3,000 2 AL HEEXET 2B E (3 $6,000)
MD35~20%MBREIERTHENTED, AGIDEFEITIHE L TISE~20% EEREAERD,
%Form 2441: Child and Dependent Care Expenses|Zld. M & ELEDEBEREDEREEDIC.
X LLBERAEE DR PEADERERITZLETNIEESELY,

#EEDAGI R
$15,000LLF 35%
$15,0003 AGIHY$15,000% B L -2 D $2,000Z&(121% T DIEREM
$43,000LLF BT Do XImBIFEY LTS,
$43,000# (LR7ZL) 20%

Virginia K DAGI£$24,000TH 5. ARDB A ERBEXICEZ LN TVDERERZRAL.
Virginia KR DR E(L30%E 01V 5,

UTWF PSR EEIC, Virginia K DIEREI0%E EL-EEBHERTTEEL TS,
O $24,000 XEHEE DB SIIMFIZANDCENEHELEDA, CSTIEXRFBLS
NMEWSDENFFRSZERLS,
QFERM~DIEILL (EE) $3,000—$2,000=[$1,000]
KEHEEDSHENSZIT-ERROFHEETFT LY (FREBFT Y —ERME) (FELSIL
QR=EELE $3,000(1 ADES)

..$1,000 x R FE30%=5$300 BIRML(A)AEMEELD,




| SU6-Q12 | 6-2. Tax Credits (A, |

Jerry has two dependent children, Greg and Mandy, who are attending an
accredited college in 2018. Gregq, is a fifth-year senior since January 1, who
spent $7,000 for tuition and fees. Mandy, a freshman with no prior post-
secondary education, had tuition expenses of $4,000. Jerry meets all the
income and filing status requirements for the education credits. There is no
tax-free assistance to pay these expenses. Jerry’s tax liability before credits

equals $14,000. What is the maximum credit that Jerry may claim on his
2018 tax return?

A. $2,200 Lifetime Learning Credit.

B. $5,000 AOC.

C. $2,500 AOC and $1,000 Lifetime Learning Credit.
D. $2,500 AOC and $1,400 Lifetime Learning Credit.

m Answer(D) is correct.

HENEYY . BB EEOFRIERER
<KRAUMES>

B BE D BEGHEEER (education credits)

American Opportunity |#fERA-BREE - KEREOEMIEDT=HIZX o1
Credit: AOC REASFRHDIBEH LB R EQOREEH CKEHRFLE.
CREHEHEFEER) | REIIZERFRE) D55, FE1ACOEHNO D $2,000845
ERD $2,0000025% (== FE[$2,500) =i 4EIER AT,
Lifetime Learning MEE1AISDEER] $10,000E TOEREFTED20%
Credit (=REEM $2,000) #FHEEER T, CKPRMEGORE
(% EFETEEEERR) AEREDOHRMFIR T4, RERCEEIZEI—RFBA),

Greg(KE5%£H)
= Lifetime

=$1,400(=$7,000 % 20%)

Mandy(K=15H)
= AOC
=>Km%$2,500

COERER (D) AN IERREE D,




| SU6-Q15 | 6-2. Tax Credits (A, |

For purposes of claiming the Child Tax Credit, which of the following is
NOT true for a qualifying child?

A. Child must be under age 16 at the end of the year.

B. Child must be a citizen or resident of the United States.
C. Child must be claimed as your dependent.

D. Child may be an eligible foster child.

m Answer(A) is correct.

HREENE VY  FL T 2818 (child tax credit)

<MRAU M ERER >

| Point ! | F B E5B% (child tax credit)

“Qualifying Child” OE#EELI-MTEIREDOFE1 AN DEERM$2,0000%:28
ERAEND, D55, B EM$1,400H0N B F AT BEAL T ABIEMREL TRIATE S,
¥Modified AGIN—ELEEHE X =58 BE T T 2IERFIRHY
XYUZREEEREF AT BICEFHOULSREES (Social Security Number: SSN) HHE

RS HETIZE (credit for other dependents)
17RO FELS OEBRE1ANICDOSERMSS00DFREEZBRMNEND,
¥Modified AGIN—EEZFHEZ SR BE I T HERFIEHY,

B (A) 16 TIXGL M7 IRBEEDTRY, EfRELD,
FIRE(B) (C) (D) : “Qualifying Child” D& EH#EH LTSI L, LIELLY,

FHt 0 F IR
“Qualifying Child” 19@ K. FE24MRFDIIN AN LDEETH DL,
Child Care Credit 138 K D “Qualifying Child”
Child Tax Credit 178 R B D “Qualifying Child”




6-2. Tax Credits (A |

Mr. and Mrs. Robinson are both over age 65 and file a joint return. During the
current year, they received $4,000 in nontaxable benefits from Social Security.
This was their only nontaxable income. Their adjusted gross income was
$12,000. How much can they claim as tentative credit for the elderly?

$0

$225

$375

$525

oCow>»

SU6-Q17 Answer(C) is correct.

HRBEFE YY) BinE - B EETE B8R (credit for the elderly and disabled)
<R MRS >

EHE - SUEETHEER
(credit for the elderly and disabled)
65 EDE . F-IX(BSBRBTH>TH) KANZEEIC
FYRBLI-EAF AT SN TELRHEEERTH S,
REERE OF %25 QT FE#%E
meE $5,000 $7,500
MFJ $5,000 $10,000
AADHEZE
MFJ $7,500 $10,000
Kig2 AEHERY
MFS $3,750 $5,000
REBIERBEIIUTOLSIZETESND, AR TIE, RIF2AEB65H LU LETED T,
BEERILOBEFD $7,500*D
—ERHOHRERFTLEE —$4,000
— ($hFEDAGI— B EEH D) x1/2 — (AGI$12,000—$10,000*®) x 1/2
=W =$2,500
%X 15% X 15%
={ERREE =$375 .LGBERER(C) M IEMELD,




6-2. Tax Credits (A |

Liz incurred qualified adoption expenses of $14,000 in 2018. Liz's AGI for
2018 was $60,000. What is the amount of the credit Liz can take in 2018 for

the adoption expenses she incurred?
A. $0
B. $7,000
C. $13,810
D. $14,000

SU6-Q18 Answer(C) is correct.

HENE Y . EF B AT iR (adoption credit)

<MRAU M ERER >

EFE LR (adoption credit)
—ENEHEB-LEFREBEFLLERICEL-ERAEEF1AL-Y$13,810(2018)
FTHEEIERTE, BL. AGIA$247,140(2018) 2B A S BB H FIER O R EIETHD
BOHS. MHEOERENBETFEBAZAELESGEICIEERBRIRVNZTOND (FidE

ERIEFED
LizK &, SEEAMIEICHT HIERFIBRBEDORREELST .

EF1ALT-Y$13,810(2018) £THERKR T HENTES,
SOBIREE(C) ($13,8100IEfRE 1B,




| Online | 6-2. Tax Credits B..., |

In Year 1, Ron and Cindy had an alternative minimum tax (AMT) liability of
$19,000. This was the first tax year in which they had ever paid the AMT.
They recomputed the AMT amount using only exclusion preferences and
adjustments; the recomputation resulted in a $8,500 AMT liability.

In Year 2, Ron and Cindy had a regular tax liability of $45,000. Their tentative
minimum tax liability was $42,000. What is the amount of Ron and Cindy’s
Minimum Tax Credit (MTC) carryover to Year 2? What is the amount of the
carryover that can be used in Year 2?

Carryover  Carryover
to Year 2 Used
$19,000 $3,000
$19,000 $8,500
$10,500 $3,000
$8,500 $8,500

cow>

m Answer(C) is correct.

HEE YY)  REI=< LTHREEEMR(minimum tax credit : MTC)

m RES= VAR

(AMT “credit "=minimum tax credit : MTC)
AMTZEET S LETORRIER (X, FEMICEEDFEENRAFTNSEIEIER (deferral
items) LK AIZZEEAHEELAELRSME B (exclusion items) D KEL2FEFBICn BN D,
B LIZAMTOSS R EMICEROFHNARIAFNHIEEEH (deferral items) (2D
LNTIE, AMT “credit” (minimum tax credit : MTC) &L TR SEICERARBICfRYBI S
BROFEORBEINSEIEERT Lo EMNTES, AL, BYBSh-FEITHNVTYEZRHR
IR TR SEEZTOEEICB T 570D BREITREDEEDOHEIORE
$15E (tentative minimum tax: TMT)Z LBV -£EN EBELS,

Carryover to Year 2

B Year1 IZ#A{TLF=AMTI(£$19,000TH 5.

Z056. FERMICEZEDREMNR AT ZIEEIRR (deferral items) [,
$19,000—$8,500 Gk A ZEIE B ; exclusion item) =$10,500&75 %,
$10,5008R8 5 L HFRICIBEY BN [FRDBEDFHEAENSERIERTHENTED,

Carryover Used

LEEYear2DiEFE DFHFEIL$45,000T, HAEFi%E (tentative minimum tax) [£$42,000,
$45,000—$42,000=$3,000% FREL T, BEE T LI-AMTZ T Z81E R A,
SOBRREE(C)MNIEMRELS,




The Earned Income Credit is available to

6-2. Tax Credits (B.., |

ocow>»

<EHED 15> (20184 )
MHETQCHA2ADEE
AGIH'$18,660LL T THHMFHE 1.
B K$5,716DEICEF AT,

Persons with a qualifying child.
Persons without a qualifying child.
Persons who are age 40.

All of the answers are correct.

Answer(D) is correct.

HEERE YY) 8% P 85812k (earned income credit : EIC)

255 2 B B8 720 (earned income credit : EIC)

EICIHEFERSEZE R RELI-MEAILIR T, E (R824 T ZEIE MR (refundable credit) T#H 5

<HFFREABEERENRATI-ODTLES>
s MBEEBICHTRENHEC L, XEXEREEFATICITRODDOEHHENLE,
s EFRBUNDORE (REEERSSOIFEREITES) £$3,5002018) LI TTHAHZ &,
c RENKETRELIIBEETHEIIE,
« RIFER RS (MFS)ZRAWNTLVENI S,

s B EDAGIN—ELEL T THEL(TRD*QESEBNDIL),

<BIEHERADOFHE> MWHREOHFHREBICEREERCTCHESINS,
« #BRE (L “Qualifying Child(QC=CARESDS5LSEKRL) "D FEBEAMICLYRLES,

o FHAVELVMBIE DB S, 25 L E65 RS ThITh ISR, B/ (D) IEAR

QC A% | #RE | B1HFAED | EICRAEERE | AGIDEE*® Phase out
L 7.65% $6,780 $519 $8,490 —$15,270
(MFJ$14,170 —$20,950)
1A 34% $10,180 $3,461 $18,660 —$40,320
(MFJ$24,350 —$46,010)
2N 40% $14,290 $5,716 $18,660 —$45,802
(MFJ$24,350 —$51,492)
3ALE 45% $14,290 $6,431 $18,660 —$49,194
(MFJ$24,350 —$54,884)




6-3. Payments |

All of the following individuals file their income tax returns as single.
Which one is required to make estimated tax payments for 20187
A. Ms. Kirkland, who had no tax liability for 2017, expects to owe $2,500
self-employment tax for 2018 (she has no withholding tax or credits).
B. Mr. Brady, who had a $2,000 tax liability for 2017, expects a $2,100
tax liability for 2018 and withholding of $1,900.
C. Ms. Evans, who had no tax liability for 2017, expects a tax liability of
$4,900 for 2018, with $3,500 withholding.
D. Mr. Jones, who had a 2017 tax liability of $9,500, expects a tax
liability of $12,400 for 2018, with $8,500 withholding.

SU6-Q27 Answer (D) is correct.

HERE Y F E#MT (estimated tax payments)

BN B D P EME
RSB ANRRBMNESNEZEDBNFEBIZ DOV TORT SR OMEL (BT A%,
<FTEMHBE> BAOMBEL. OFEMHRONRLLLFEE (REMHRE=FTH
BHi%E — R R MINFEE (R UFEEER)) A $1,000L FERAFNDIEE T, BHEHMD,
QR RBINFEE (R UTREEIER) AR E EREBICHLANEERIC. TRED25% L EEE
FEMBL GDEIRTELLY) LR IFRIEES ALY,
EEEBRBEULTOVNThANNSNEEES,
a) HEFEOMTBRAZEDI%., F-14. b) FIEEDMBEZAD100%
XEADFE, FIEEDHMBELILOTHoBEICILPERHEEITILEILLL),
BIREE (A) (C) - RIEEDOMBENEOLD T, TEMBRIITE,
BAREE (B) - B #MFIAE ($2,100—$1,900=$200) < $1,000TH 2=, FEMBIIFE,
ZIRME (D) : a) $12,400 X 90% =$11,160. FE1=[&. b)$9,500D L\ FNANENEEEET
BRBIRSNTEST ., HGdEh D, BEMTEEEAS1,000LL L ($12,400—$8,500=$3,900)
ERAFEND=0. FPEMBDBELLD,

MWREL. BERREER =N ~ =103
4R 6898 -BF1 AOEISHISFARI A ilﬁilﬂiﬁﬁ TL;E:‘;}E
THFEMBETS, & T EMBHBETICNEL o k=
SBEMALTORNET PEMBARICLS | FOMO1~8/31) | H3E:9/15
1814 (underpayment penalty) 1A\ 5N 5, |F4H(91~12/31) | %H4[E:1/15




m 6-3. Payments |

Ms. B filed her Year 1 Form 1040 on April 15, Year 2, but did not pay her tax
liability of $3,000. On June 15, Year 3, she paid the tax in full. In Year 4, Ms.
B discovered additional deductions for Year 1 that will result in a refund of
$1,000. To receive her refund, Ms. B must file an amended income tax return
by (assuming no relevant days are Saturdays, Sundays, or holidays)

A. April 15, Year 5.
B. June 15, Year 5.
C. April 15, Year 6.
D. June 15, Year 6.

m Answer(B) is correct.

HRERE Y B3 (statute of limitation)

<HRAUMEER>

MBREBEDOEBMNBERBARIE. LTOVWThIMENBRHETTHS,
-BEZEMIREA (4/15/Y2) M5 3E=4/15/Y5

#hF (6/15/Y3) M b2 =6/15/Y5

CORIREE (B) WNIEfRE S,

m Assessments (IRS /2,3 FIFAR)

JRE: AR (415) F - [FHREZEDREBOVThAENB FHS3FELURN,

GID25%ZHEZA DR ERN EEROVTHIENBFDNDEFELRA,

HMEDORBRETRERBLH | FHEL

HOICHLEHLLTRBAEDIGES
Claims for Refund (##i &=, BE B R E/-IXEEFLE)

[RA: REEDIRE B CK4/158TDI5HE (34/15) Mo3F LA,
FrlE MBEOO2FELURNDNTMENBRETELS,

SEEX. BEECAMIS | S5EORHBBNSTELR,




XSU7~10 = EERS| (EEMS) CEAT MR

STUDY UNIT 7

BASIS
BEDODR—IR

ZEDBasist/E?

EBEDBasis =EENDREL, il FHFDEE,
XATEFH D= ER R mn Flh < BEE TH B
XEEDBasis L V1T XDIEIZILLYZ 50,

GLEIMTXRAFHEREE E30RS VAR

A2205(73.4%) B4Ff5(13.3%) C4f% (13.3%)

7-1 Cost Basis
(BAIZKYBRGLI-EE)

7-2 Property Received by Gift
(BEEICLYRFLI-EE)

7-3 Property Received for Services
(HHFREOREEL TZEL-EE)

7-4 Inherited Property
(HERRICEYERGLI-EE)

7-5 Stock Dividends
(#rXBLH)




SU7-Q1 7-1. Cost Basis As.»

Mr. Rabbitt purchased a home for $200,000. He incurred the following
additional expenses:

® $200 fire insurance premiums
® $500 mortgage insurance premiums
® 3400 recording fees
® $250 owner’s title insurance
Compute his basis in the property.

A. $201,350

B. $200,000

C. $200,650
D. $201,150

SU7-Q1 Answer(C) is correct.

HEMEYY  BAICKYRGL-EE (BAEREE)

Cost Basis =I#&fi# —FE~D3ZhE(FMV) + ke A+ HEREE 12T
MSERECSFTh 5 HEEAOH mEERECSFEhENEDODH

[#ERTBIEE M (closing cost, title costs) ] XEAERAEEDOHE, TRETROAER

{9 2B F $k (brokerage commission) [ZDL T lEltemized deductions TRl

- 55 £ Fi (sales tax) . FEIEEISF (title transfer tax) —AH . BXREEDGS. EXICEHETLID

& 50 & M (recording fee) THhNIETRERTEERELLTERT,

HERIBRERRORIEH (title insurance) - KK ARFEHL (fire insurance)

-FTEELZ A DEEE (legal fee) -3 24 & {1 {2 &4 (mortgage insurance) *

[# D #hE A (miscellaneous costs)] - b & F#0# (points)

-8 ¥4 (appraisal fee) . HIE & A (survey fee) - % = #u# (refinancing points)

&% & A (freight) BECHBBRBELNH D ROEEEER

R B LUEERE M (installation & testing) (real property tax)

- & EHE Z A (zoning cost) -SE B ZHFREAT D EEH (rent)

[£ E a4k B (major improvements) ) . . E A

-#FTLLVERR (new roof) . #TLUL VHEKIE (new gutters) ;%_iﬁﬁ{%lﬁi&l&@h%b Et{r’-*’ﬁ a3

) - o IA—VUEEICHLTIRIREN DN,

EfR{AE B (demolition costs) Oy R -5 2 BhOENS

KE-BR-AREDHEREH (installation of life lines) o °

<HAUMEEH> [REXE  $200,000 mEAIZBTS
ThER A S400B R A+ $250ERERRRE || FObasis
= - $200,650




m 7-1. Cost Basis |

Jeff bought land with a building on it that he planned to use in his business.
His costs in connection with this purchase were as follows:

Cash down payment $ 30,000
Mortgage on property 125,000
Survey costs 2,500
Transfer taxes 1,200
Charges for installation of gas lines 3,000
Back taxes owed by seller and paid by Jeff 1,600
What is Jeff’s basis in this property?

A. $163,300

B. $162,100

C. $160,300

D. $157,800

m Answer(A) is correct.
HBrEYY : BAICKYNEGLI-EE(BEXREE)
<HRAUMEER>
WmBAIZEITS

BRETHE $ 30,000 Tt
{+hEE A $ 2,500 AIEZR Mbasis

$ 1,200 AEERSF

, N i -$163,300

$ 3,000 HREEZRER _ BIRE (A)
FEXOMEIZIT $125000 EXDEHEDEIZ(F

$ 1,600 FEEXDEHMTLEDF|5(F: back tax

(R)

EERFEFEDFREFEZE (converted basis)

BAGEROEEZEXR(EER)EEICAREEL-SS . RIEENDOHEICAH
LWohdbasisld, ZE B 28115 L% E E Dadjusted basisEFMVD LT by
SWNHELED,




m 7-1. Cost Basis |

A taxpayer purchases real estate rental property for $150,000. She pays
$25,000 cash and obtains a mortgage for $125,000. She pays closing costs
of $8,000, which includes $4,000 in points on the mortgage and $4,000 for
bank fees and title costs. The basis in the property is

A. $33,000 depreciation, $125,000 amortization.

B. $158,000, depreciation only.

C. $154,000 depreciation, $4,000 amortization.

D. $150,000 depreciation, $8,000 amortization.

m Answer(C) is correct.

HEMEYY  BAICKYRGL-EE(ERFIE)

SRAHREL> RERIZHTS
He&+ARO0—2 (&b EE $25,000+$125,000 EBFHEDbDasis
HHEEA $ 4,000 ¥EEBERER (F $154,000
FEXDM/BESI2IT n/a EiRi (C)

BIEENOXREGELDIE., $154,000CH 5,

X EIEX D Closing costs $8,00005% . BAE F## (points) $4,00013 Bli& & &5 £
L. O—2#EICh iz > TERUEZERR L T ERZSEUD (LU FPoint 28 B ol L) . %Y
D$4,000DERBEERALBITFHBIMEERALLTHEMmEICEEND,

| Point ! | JEFEHH (points) DEHL

AL E FHH (points) 1%, B LTRTIAFIR 1 £HmSh ., £t EBRITHMDYAKL
OFYREEHFFALTLIMBE THoTH) . BT O—VHRICh > TEFILEE
BRLE TN IERSAELY,

X AL, HHR9IZ, BADELBEEDEEHRZO— (acquisition indebtedness)
DIER BEZF Hh o 7-FE F## (points ) [ DLV T/4, Itemized deductions /= T # B
[C—#EL TERFEEL THEBA, (). EHRNOIXERZT B/ DIEERZO—
S DBEIELEERNFZ IS5,




7-1. Cost Basis |

Charles, the landlord, made several repairs and improvements to his rental
house. He spent $1,500 to add carpeting in the hallway, $550 for a stove,
$750 for a refrigerator, $170 to replace the broken faucet in the bathroom,
and $590 to replace damaged shingles on the roof.

How much of these costs must he depreciate?

A. $3,560
B. $2,800
C. $1,300
D. $3,390

SU7-Q2 Answer(B) is correct.

HENEYY BERANTHEEREORA (EEFSE)
<AV MEER>

BAXHZH L EAEE DX
—fRIC. BEEDMEEZEOHS. TREREZEETS. HLLWARICERT =00
FHIXE AR IZ H (capital expenditures) ELTEES ELEHTRIELDEL,
—AH. BEEFERUREEREICRDE-ODOZH (Bl En-it O FEOR B OCHEE
ER)IFBEEHFLINGN, ChoDBRIZ. EEFRBECETEREETHOHNIL.
EHEELLCAERILERTIIEMNTES,

BEETHEICHT DERMIH

=$1,500 (BB FDRDH—R v EERE )

+$ 550(Rk—7)

+$ 750 CREE)

=$2,800 EEFT ELBBENDHRRELD, 2= RE (B) BNIERE,

KEN-HEADRMERS170, BA-ERIROZILE AS50(L. BEELLD,




Uy g ekl 7-2. Property Received by Gift |

Juan received a gift of property from his uncle. When the gift was made in
2018, the property had a fair market value of $100,000 and an adjusted basis
to his uncle of $40,000. Gift tax on the transfer, completely paid by Juan’s
uncle, was $14,500. What is Juan’s basis in the property?

A. $40,000

B. $50,235

C. $60,000

D. $110,235

SU7-Q12 Answer(B) is correct.

HBEFEYY BEICIYRBLI-EE
 Point ! | 5/ LY BAL - KEE Dbasis
@ FMV at Date of Gift = Donor’s Basis (& # 1)

=Donee®basis(d. ¥, JREI:Donor’s Basis% 5| =##< (R AL EIZ#CO)
MLUTOHERXTROOND“BEE AT (gift tax adjustments)"#MET 5,

Gift tax paid X FMV of date of gift—Donor’s basis *Annual exclusion (2018)
P FMV of date of gift—Annual exclusion  =$15,000

@ FMV at Date of Gift < Donor’s Basis (& #18)
=1F3EDoneeMhE =F (55T B{H#& (SP) 2L T, DoneeMbasisASiREEN S,
SP>Donor’s Basis (gain) =R Hl:Donor’s Basis% 5| Z##<
CRRAHREEIEHO)

Donor’s Basis>SP>FMYV at Date of Gift | =l4}:SP = No gain or loss
(XREHREOEEIEITE)

FMV at Date of Gift>SP (loss) =8i4} : FMV at Date of Gift
CxREHREITESAOEAILER)

<KAVMEGR> EHBIRHLIBENESNES:

TIPS $100000—$40000 _
$40,000 (JRAI: 5| =##<") +$14,500 x $100000—$15000 $50,235 ;ERRE(B)




m 7-3. Property Received for Services |

Ms. G Performed interior decorating services for Mr. K and accepted property
as payment in lieu of cash. Ms. G and Mr. K originally agreed upon a price of
$4,500 for Ms. G’s services. At the time of the exchange, the property had an
estimated fair market value of $5,000, based on sales of similar property and
an adjusted basis to Mr. K of $2,000. What is the amount Ms. G must include
in her income, and what is her basis in the property received?

Income Basis

$5,000 $2,000
$5,000 $5,000
$4,500 $4,500
$4,500 $2,000

cowp

m Answer(B) is correct.

HENEYY B ORYZIE
<KRAUMES>

REIELDHHEL TERBL/-EEDbasis

BRIGRHEONMELTIRMEEZZBELI-EE . RERIZHITEZDFMVTGIZ
EOTEMEZIT5, BHIREORMEELTZFELI=EE DbasisX. BIL<ZfEHIZ
BITBHFMV (=3B EL TG E O TRMEZT-2%8) L4 5,

S ARRITIL. Income-Basisl v $$5,000 (FMV) , Z2IRE (B) NIEfE LS,

<fHR>EREHINSEENDE|S|FEA (Bargain Purchase) [ZDL\T
ERENSEEZFMVEYELERIMAER TEALIZES . TOFMVEEAMENDELEE
HBEMEBELTCIZEDRITNIEESE N EL, BREEEEIGIICHR LT IEEE
B, BALE-EEDbasisld. FOFMV (=AM +HEE52HHS) &b,




SU7-Q25 7-4. Inherited Property [

Mr. More inherited 2,000 shares of Corporation Zero stock from his father,
who died on March 4, 2018. His father paid $10 per share for the stock on
September 4, 1991. The fair market value of the stock on the date of death
was $50 per share. On September 4, 2018, the fair market value of the stock
was $60 per share. Mr. More sold the stock for $75 per share on July 3, 2018.
The estate qualified for, and the executor elected, the alternate valuation date.
An estate tax return was filed. What was Mr. More’s basis in the stock on the
date of the sale?

A. $100,000
B. $120,000
C
D

. $130,000
. $150,000

SU7-Q25 Answer (D) is correct.

HENEYY I IYRBLI-KE

<HRAUMESR>
| Point ! | 85I LYRASL = & Dbasis
ABI= KU VG 1= & E Dbasis(E. FHL: L AIZHHHFMVERS,

{BL. & E M HEH B EEE (alternate valuation) Z:ERLI-EE.
FTEOWLWTIAMNEWNZISOFMVERLS,

FEEEHID6HAE

-SE(L5) B

ARTIE EEMANKETMEEIRLTLDDT,
TEOVWTANBRNESOFMVERLS,
FEEAMS6HA R

2018/9/4 2,000%@$60=$120,000

B (L5 8

2018/7/3 2,0004@$75=$150,000

COERE (D) NER LS,

—100—



SU7-Q23 7-4. Inherited Property )

Mr. Apple and Ms. Melon purchased a small apartment house at the
beginning of 2011 for $400,000, which they held for investment. Each
furnished one-half of the purchase price, and each had a half interest in the
income from the property. They held the apartment in joint tenancy with the
right of survivorship (i.e., a tenancy in which the interest of the first tenant
to die passes to the survivor on the death of the first tenant to die).

They depreciated the apartment house at the rate of $10,000 per year.

On December 31, 2018, Mr. Apple died. At the date of Mr. Apple’s death, the
apartment house had an adjusted basis (cost less depreciation) of $320,000
and a fair market value of $550,000. What is Ms. Melon’s basis as of the date
of Mr. Apple’s death?

A. $500,000
B. $435,000
C. $400,000
D. $320,000

SU7-Q23 Answer(B) is correct.

HENE Yy BEICEYREGL-S B E (XEMEOHE)
<HRAUMEER>
Melon KSFRiE &2 D FET BIZ$(}Sbasis
$200,000 (B 5fiZ&$400,000 x MelonEKFrE1/2)
—$40,000 (B {M{E#1E $10,000 x 84 X Melon KFFE 1/2)
=$160,000

MelonE A $8#L -8B 53 Dbasis
HEICEYRBLEEEDDbasisiE. RAI:FETBICEITEFMVERES,
$550,000 (FET= B DFMV) x Apple 4 1/2=$275,000

..$160,000+$275,000= & 51$435,000, =Rk (B) BNEMELLESD,

MXJoint tenancy with the right of survivorship (£ 77 &1 &5 55 E)
EFEEEDMEA T EE, RAFTEZEDIADELL-BEIZ, BIh-REAEE
D EFE BRI T BCEITHB,

—101—



7-5. Stock Dividends (399

Alex bought four shares of common stock for $200. Later the corporation
distributed a share of preferred stock for every two shares of common. At the
date of distribution, the common stock had a FMV of $60 and preferred stock
had a FMV of $40. What is Alex’s basis in the common stock and the
preferred stock after the nontaxable stock dividend?

$200 common; $80 preferred.
$150 common; $50 preferred.
$60 common; $40 preferred.

$240 common; $80 preferred.

COow>

SU7-Q27 Answer(B) is correct.

HERE Y thXEL Z (stock dividend)
[ Point ! | BATL L/ LYRAEL /- Dbasis
BHABY ., RAEEHRTHD. £EDbasisDEEIFETELAVAITTELES,
@ ERROBKAELY (AEHRKXDHE)

SERBROKAR LY TRELEERALBEICRAIELTWV B EE—DIEE.
1#%H=YDFH L \basislE, [FEETLDbasisEBAER M TR >-25E 45,

@ EFROKAEY (EBEHRADIES)

S>EEBOBAR Y TRZELERXINBRICFFAEL TV IBRRERESI5E.
#FLWLWEEMRK DbasislL. /G DbasisE iR LS TOFNEFNDFMVT
By LI-&5E05,

<IRA RS>  Common stock (4445 : FMV@$60)

_ 4%kx$60
=$200x $240+$80 =$150

Preferred stock (2# 4% ; FMV@$40)

_ 28340 _
= 5200 52 40+$80 350

COEIREE (B) AN IEfEETE D,

—102—



BT 75 StockDividends 9

In 2016, Sam bought 200 shares of stock at $9 per share for a total cost of
$1,800. In 2017, he bought 300 shares at $12 per share for a total of $3,600.
In 2018, the stock split 3-for-1. What is the basis per share in the stock after
the split?

200 shares at $9 and 300 shares at $12.

600 shares at $3 and 900 shares at $4.

200 shares at $3 and 300 shares at $4.

600 shares at $9 and 900 shares at $12.

cowp

m Answer(B) is correct.

HEERE Y  #k K 5B (stock split)
[ Point ! | B BHDBES Dbasis

HRX2EE. REFERBTH D,

MK 2B 1%H-YDHF L \basisld. [FEEDbasist Bk Dtk T
B|of-£5EH5, HEIRTH, 2K DbasisDEEIFETILLEVAISEELES,
BXDEBADIIZIVITHRELDEE. TNOABHAEICEKAISNTLSIEEIE.
TNENDITTIH =Y Dbasisz &1 E 9 5 (specific identification method) ,
BE. RHFICHRAL-HA B ECETLEEMOHENDLERISAIZE,
BEFIFO(ZAZHZE)AALLNS,

<BAUMMER>
2016 A 2017 A
REIRI | 15 F3#/- 52> | REIR REIRI | 14 F3#/- 52> | REIR
200%k %K 600%k 300%k %K 9004k
$1,800 2{ADbasis $1,800 $3,600 2{KDbasis $3,600
@9 1% & 1= V) basis @3 @12 1% & 1= V) basis @4
SERRER (B) A IEfRELTE D,
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STUDY UNIT 8

ADUSTMENTS TO BASIS
BEDODR—IZAADRE
CAPITAL GAINS / LOSSES
FvERIHTALUF-ZAR

GLEIMTXRAFHEREE E30RS VAR

A23[(76.7%) B2 (6.6%) C5R (16.7%)

8-1 Adjustments to Asset Basis
(BEDR—RIZHT HHEE)

8-2 Holding Period
(RE LD

8-3 Capital Gain and Losses
(FYEIL-TAUELVUAR)

8-4 Capital Gains on Sales of Stock
(KX DFEEN)

8-5 Sec.1202 and 1244 Stock
(GEAE R /NEEHER)
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m 8-1. Adjustments to Assets Basis

Which of the following will decrease the basis of the property?

Depreciation.
Return of capital.

ocow>»

All of the answers are correct.

Recognized losses on involuntary conversions.

Answer(D) is correct.

HEENE Y . EE DbasisAE L3 551

B EDbasis [CX T B55%
+ EME R — R E R
GEMDZREFE-IEFER) (REZEO BRI ET=IZEER)

<EXEFH >

<ERB\O@EE>

=EEDMEFHHE. FHEHFER
78, HLUVFRICEFT /- DZEH,
22 B (improvement)

- #8TEHE & A (zoning cost)

- 4% BI| B 32 %% (special assessment tax)

KEEZ TR EIZIRDI=DDI
B (B BN OF DX BROFERE
P EEEF LERGL, CASDEMEIL,
EETHEPERFLZETHNIL, EiF
BLLTHAEFILT EEHTES,

U'FI JZLJ*‘J‘%EJttDba&Sﬁ\JI

-RERMIRRITR
- HI BRI C K B IR R R

-BEEDILREL (return of capital)
i’mﬂé(easement)

BT ENERR S & USec. 1791""!%

(depreciation and Sec.179 deduction)
(casualty and theft loss)

(involuntary conversion)

[(x] EEDbasis(BE~DEEHE, EHRARBRFORBEERTLO) (X,

AT RADEICIFBY ZEEL, X EE Dbasisld. FIBHO ZEEH-RHELEHCESR,

<A RS>

EIREZ(A) (B) ()W hb, /R ELGHT=BEDbasisASHDT 5, "R FREK (D) AIERE,
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m 8-1. Adjustments to Assets Basis |

Mrs. Yee purchased stock in Jones Corporation in 2013 for $500.
In 2016, she received a distribution of $800 when Jones had no current or
accumulated earnings and profits. In 2018, Mrs. Yee received a $200
dividend when Jones had earnings and profits in excess of its dividend
distribution. There has been no other activity on this stock. What is Mrs.
Yee’s basis in her Jones Corporation stock as of December 31, 20187

A. $(500)

B. $(300)

C. $0

D. $500

m Answer(C) is correct.

HEN Y EEXDILRL

& %A (C Corporation) 5)s D& % D5

%Y —>(c) Capital gain&L TR
Stock basis —>(b) Return of capital L TR XikK Dbasis(LF VTS
E&P > (a) Dividend&L TR

Mrs.Yee KR Dk K Dbasis

=$500 (20134 ER5{l%E)

—$800(2016FEADILEL)

+3$300 (2016 FEFYERIL T A ELTEER) B X Dbasisld — DEIZIFEY Z LY,
=545£%0

¥2018FE B ITAE L D ZMEITHEKX DbasisIZHEE 5 Z 4L,
C2018FHAKICH 1T BB R Dbasis($$0, ERL (C) N IEMELD,
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8-2. Holding Period (HP) 3|

If 100 shares of stock are purchased on February 14, 2018, what is the
earliest date on which the stock can be sold and the gain or loss can qualify
for the long-term holding period?

A. August 14, 2019.

B. February 15, 2019.

C. February 14, 2019.

D. August 15, 2019.

SuU8-Q7 Answer(B) is correct.
HEBrEYY R - EH 0 $ 7
m ZEDREHE (Holding Period)
mEBEOZEE ~0s8 —Ij 1TFELURN-——> FH
> 15 —> E#f
BEOREHE HREHM

BAE-IET32H REBQEAMISKEE,

s JRE: Donor’s Basis% 5| E #2154
= EEHIRMELEIER< (DonorO S B DE B SEE) .

Hist - FMV at Date of GiftE LV =154
> BES5aQE AR,

i HIZ[EH 1 ELTRDND,

REEEDIE BRERF-IEIEXERAEET. FTHERLTOXREBLAZET S,
SRITHLEENEEDRE HRESIEHC
(BHVEEQOREEOTAASEE),

<RAMEH>
FEIREE(B) MIBANDEH2A158~RE28158=>E8 8B 1E+1 8 L4Y., B,
BIREE(C) IMBENZA2A 158 ~2 428 148> RAHRIEL LS8 14EE4Y . G,
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m 8-3. Capital Gains and Losses |

In computing the gain or loss from a sale or trade of property, which
statement below best describes the amount you realize?

A. The money you actually receive.

B. The fair market value of the property on the transaction date.
C. Everything you receive for the property.

D. The value of any services you received.

m Answer(C) is correct.

HRERE Y - 230 # %8 (amount realized)

<MRA M ERER >

FEIREE(A) BRE, EIRR(B) 1Y, EIRFE (D) : AMRBEESH.
SHliELTREELI=L DT A T=EIF % (amount realized) ,
COBIREE (C)MNEMREL D,

Amount realized

« Cash received (ZFELI-IHENDE%E)

+ FMV Property received (Z$5L1=IR¥IDFMV)

» FMV Service received (Z$EL 1= ABIRFEDFMV)
» Cancellation of Debt (C.0.D.) UE75 % kR%E)

X SEHl-RBMBEREELSITS,
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m 8-3. Capital Gains and Losses |

Milton spent $70,000 for a building that he used in his business. He made
improvements at a cost of $20,000 and deducted a depreciation of $10,000.
He sold the building for $100,000 cash and received property having a fair
market value of $20,000. The buyer assumed Milton’s real estate taxes of
$3,000 and a mortgage of $17,000 on the building. Selling expenses were
$4,000. The gain on the sale is

$10,000

$56,000

$40,000

$52,000

ocow>»

m Answer(B) is correct.
HENEYY BEDOFTHIEEDE
<HRAUMEER>
Amount realized =
A
$100,000(ZfELI-THE&D£%E) RRDLHR . m
+$ 20,000 (Z4BLI-EMDFMV) - BEISBIERH TSI AE
+$ 3,000 (&K% C.0.D.) ={R# %R C.0.D.
+$ 17,000 (fE754M%E:C.0.D.) =[REDNRFILEZD.
—$ 4,000(GEHIZEER) - BahsE2T-85
=$136,000 =TReDXI IEEZD,
XTMEBIIZEBWNT. ENCEEE
FEHIBIZEITEEMDbasis = B1E2 B AICIE. ELOAEE
$70.000 (ER /S {fZE) LT (EET) ., THES (boot)
+$20,000 (K &) DZELEEHET 2,
—$10,000 GRM{EEN R 5148)
=$80,000
".$136,000—$80,000 = $56,000 gain
BIREE (B) NIEEfEELE S,
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Point ! 8-3. Capital Gains and Losses

& A& (capital assets) D3I

EAREETIIGEVNEEDH BEXEEDH
(Non-Capital Asset) (Capital Asset)
@ WEEE ERLSDEE,
Q EXADHMENTEEESLUFREE |« BAEREE B EE)
Q FTHtE-ZMFRE - BEREE W%
@ BIELI=BIZKYRRASN TV S E/FIES |« BAL-EEES
® BZ#= (treasury stock)

P mEmegeags: P

& #1828 (Ordinary gain / loss) FrE4JLS 1> AR (Capital gain / loss)

Form 1040 Schedule 1M131TEIZEEA | »Form 1040 Schedule 1M 1417 BIZEEA

GE){HL. Sec.1231 gainZf&<,
EMIX[SU)IZTHHRT B,

Point !

8-3. Capital Gains and Losses
BAFRERIZEITS

“rER)L-OR”OHERL

XHEFvEFIL T A2 EARDEEEForm 1040 Schedule DIZTTS,

FrERL T AU LORERBT LI, RS- EHAE TN TN (T THRELI-&.
SHICHRETHNITEHLRPEER T HI LD,
FrEFIFALOMZ (NTEE) ZDOHITrES/L-BX (net capital loss) (&,
$3,000(MFS:$1,500) % LBREL T, BHE A% (ordinary income=FvE&)L- 71 LIS+
DETOMET) EOBREEH T,

BREBEEZOMFrESL-ORE, 2ELUBRRHBOBRHELNFIET, thOEEDFvE
B FAERRBTHIENTED, KRYMIN-FrERL-OX(E BYBSN-FE T,
LELLEHOLDIIES. REOLDOIEREIELTRDNS,

“FREZI T DEEEL

EHFYESIL- T4V (LTCO) IZIE. BE—E15%DEEBE (AL, EEMFE T —&
0%, SEEFTIRE [ —1£20%) N EAIN S, 7=, Unrecaptured Sec.1250 gainlZ1£25%.
Effiim-BERFEDINE S (collectibles) MO ELT=7 1 I12F28%DFENFERAIND,
MEHOMIYESIL-ORE, RPFYERIL T AUEEHRTHI5E . ERAREOTE
(28%—25%— B H 15%) [ITHFZL T EITH S,

¥ Unrecaptured Sec.1250 gaink|%. Sec.1250 assetsMoERBLI=T 1 D55 BERT
#% (ordinary income) EL Tk Mg > 15 Y O BIRERER 5 ([ E38E THELRBIHE
HENELD,
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1V E ek 8-3. Capital Gains and Losses |

Sharon sold two collections during 2018. These were her only sales.
Determine the amount and character of her gains/losses on these sales.

® Coin collection she began as a child with a basis of $1,000, sold for $5,000
® Collection of original short stories she wrote in 2015, sold for $20,000
$20,000 long-term capital gain.

$24,000 long-term capital gain.

$4,000 long-term capital gain and $20,000 ordinary income.

$24,000 ordinary income.

Cow>

SU8-Q17 Answer(C) is correct.

HBREYY . EAREE (capital assets) D5

<RAMEEER >

EXREETIIEVNEEDH BEXREEDH

(Non-Capital Asset) (Capital Asset)

@ #ENEE ERLUSNDEE,
@ EZRAOEMENNZBESLUTEE |« BAFRAEE B 8%F)
Q FEite-ZWMFERE - BERAEE W #HX)
@ BMELT=BICKYRMMABSIN TWVWSEEIES |« BAL-EEES
® BT #% (treasury stock)

o RELF-aq aLyiavId R EREE LY Capital assetTH D,
..$5,000—$1,000=%$4,000 gainld, REAFvERIL-FA12 15,

® Sharonk B BMEW =AY FILEMR/NER GEVEHE) [LCapital assetTIXAELY,
.".$20,000—$0=%$20,000 gainl&. if % 7% (ordinary income) &7 %,

Ko T BRI (C)NIEMEELD,
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m 8-4. Capital Gains on Sales of Stock |

Rose had the following transactions during 2018:
® Sale of ACB stock (basis $400) $800
Commission paid on sale of ACB stock $ 50

® Received 200 extra shares of DEF in stock split (fair market value)$800
® Decrease in value of GHI mutual fund $600
® JKL stock declared worthless (basis $700) -- no stock value $ 0
What is the net gain or loss Rose will claim on her Schedule D?

A. $350 loss.

B. $1,000 gain.

C. $300 gain.

D. $650 loss.

m Answer(A) is correct.

HBrEYY %X DFEH -4 - EME1L
<MRA M ERER >
® ACB#tD#kXDFEH

$800 (FEANffiFE) —$ 50 (FEENFHuH)
—$400 (¥ Dbasis)
=$350 capital gain
® DEFxt D4 &l
B BNLIERERTH D, BEERH T HI LAY,
® GHIIE {5 DBl 7% (unrealized gain/loss)
RERBERICONTIE, BH-ZBEZLLUVRY, BEZRHT LR,
® JKL#% = 0 4EffifE{t (worthless securities)
AMEESENRMEELELIZBEDEKE. EREEROBRATH-NELS0THRAHLH,
DESIZ, FrEHIL-ORELTRELUILERT,

$ O(FEAME%)

—$700 (¥ MDbasis)
=$700 capital loss

..$350+($700) = ($350) capital loss EiREL (A) NIEfREL D,
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m 8-4. Capital Gains on Sales of Stock |

Ms. Birch purchased the following stocks:

® 300 shares of Music Corp. on 1/18/2010 for $3,000

® 200 shares of Play Corp. on 2/11/2011 for $2,000

® 600 shares of Fun Corp. on 4/27/2017 for $16,000

® 100 shares of Book Corp. on 12/19/2017 for $8,000

On April 27, 2018, Ms. Birch sold all of the above stock for the following
amounts:

Music Corp. $ 5,000
Play Corp. 10,000
Fun Corp. 4,000
Book Corp. 14,000

What are Ms. Birch’s net long-term capital gains or losses (LTCG/LTCL) and
short-term capital gains or losses (STCG/STCL) on the above transactions?

A. LTCG, $10,000; STCL, $6,000.
B. LTCG, $16,000; STCL, $12,000.
C. LTCL, $2,000; STCG, $6,000.
D. None of the answers are correct.
m Answer(A) is correct.
HBrEYY %R D5EH
<MRA M ERER >
SEHIB 2BV T4/27/2018 TH 5,
=t
mEH HRfF{fi%a | SoANfifs | SEAEEE
Musictt $3,000 $5,000 |KHA
1/18/2010 $2,000
Play#t 2,000 10,000 |&HA
2/11/2011 $8,000
Funtt 16,000 4,000 |FEHAX XEEBHDOEENSAR
4/27/2017 ($12,000) EFTh&SE1EERY ., B,
Book#t 8,000 14,000 |%EHA
12/19/2017 $6,000
£H#45:$2,000+$8,000=$10,000 LTCG
= H#i45:$6,000+($12,000)=($6,000) STCL
COEREE (A) DIEfREE D,
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SV MexIll 8-5.Sections 1202 and 1244 Stock |

Shannon and Dan Smith (wife and husband) purchased Section 1244 (small
business ) stock in 2018. Which of the following statements is true?

A. Ifthey incurred a loss on Section 1244 stock, they can deduct the
loss as a capital loss rather than as an ordinary loss.

B. If the stock becomes worthless, they can claim an ordinary loss
limited to $50,000 individually or $100,000 together on a joint return,
per year.

C. Ifthe loss is $60,000 and Shannon does not have any other losses,
Dan can only deduct $50,000 as ordinary loss on the joint return.

D. Ifthey incurred a gain on Section 1244 stock, they should treat it as
ordinary gain.

SU8-Q30 Answer(B) is correct.

HREFE YY) : Sec. 12444k 3K - Sec. 12024k = D 45451
<HRAUMEER>

Sec.1244 DA

Sec.1244% =X GEE /P EHR) DFEH - T - FEAELCLGEICEVELC-ARIE,
$50,000 (MFJD15 4 13$100,000) R EEIZ@E #4184 (ordinary loss) &L TH#E&A]
REEZRAT IS . REEYFrE2IL-ARELD,
Sec.1244#% K IZRHT 245511 %., /N EICHTIREREZBHELTLS=0,
ZUSHICEEEREZRELHEX DR ITEZIT1-F (original owner) D& E A,

R (A) : FrERIL - ORTIEAL BEBELEELTRADEVSIRETHD=H. R’Y,
FRE(B) :EELWRBiRTHY ., IEfEES,

BB (C) :MFJDIBE DR ELEX$50,000TIE%<$100,000TH B1=8. &Y,
BREE (D) S AVIZOWTIKRAIEY X v ERIL - A 2 1518, =Y,

Sec. 1202 D14

BADMBEANSEERZ TRAL TLVSSec. 12028 = GERE /M EE#H) O
FEAF(EFZMICKYECTF & RAIELT, £D100%ZGIA SRS AT
X200942F 188 ~201059R 27 H DRI BEFLI-HADIHE X Z D75%.
201059 A28B LIRICIRIGLIHADIZEIZEND100%ECIA LRI,
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STUDY UNIT 9

RELATED PARTIES
B {RAERERS]
BUSINESS PROPERTY
EXREE
INSTALLMENT SALES
i Bk 5T

GLEIMTX X HIREE 5305 VAR
A20F (66.8%) B5/1(16.6%) C5R(16.6%)

9-1 Related Party Sales

(BfRAEREE])
9-2 Business Property

(EXHERE)— Sec.1231, 1245, 1250
9-3 Installment Sales

(BIf B 5E)
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Point ! 9-1. Related Party Sales

BfrEM D& EREI

BERIAOER - FEM@EEBEE. Rk, ARXE L& -F-ROMEE XE/(TSFEELL)
BOEmE] XBLBIE. BEREFEENATLENIEITEE,
o FEANUS=rF—vT) o ZDRTEFHR (B0 EEEHIVILHEN
I250%BRFE 3 58 E (/S—kF—) LDOEE|
BE—DFEIZkY. 50%BORTEAMRASTEIN TS EANEFL,
50%BDEFE D IPREINTWNBNN—rF— v TELEDOBOEE]
o ANHIRFFIRBLEN (PSC) o ZDRESH/RELDESI
EEEA <L S AL AR (disallowed loss) >
(transferor) |BAZREEOEERG| (GEH1-K#) HMHEB Lizlossld. BRELERTEGL,
DIMBLS | <572 /BT S101>
BFRERDEERSITHoTH. gainlFRHELZ T IEASTL GEFERE &
152) N, EEENE AL (capital assets) ZEELI-IEATEL. EBEEEN
T (transferee) [CE THMEHN DN B ELLZEXBEETHIES. 3
EH T ZFDgainZ B EFTE (ordinary income) EL THRSZEMNBER SN TNV,

EmEA EZERDOEEDDasis(EMIMGMHE 55 (REYMITREBOREAHD) |
(transferee) | LML, DIFELZEEEZE=EICFHAL=E(Cgain NET DIEEICIE, EE

DOIIRLN FERILNFEDHONGED >T-lossDEEETZIT, EREH RN RE T N EgainhViFEES
N3, BL. QFE=FICHHLIBICE T BgainDEEEABH SN, >T=
losskYH/NSLMEEIZIE, ZDgainDEEEETLMEDLNEI > FzlossZF|
BT 5IEETELRL, QFE=HITFTEHLIMRICloss N E T BIHGEIZIE. B D
N ot-lossZE—HIRIAT B EFTER N, XEEEVTEHETS ! !

Point | 9-1. Related Party Sales

BfrEMDOEERSI

%2 Efl(Transferee) : Recognized gain/lossD&tE

Relative’s| * Sell higher = Use "relative's basis" to determine gain.

Basis Xﬁﬁ?ﬂﬁsﬁfiﬁﬂ%ﬁd)%ﬂﬁ‘%ﬂﬁo
Lower |°* Sell between = No gain or loss
Purchase XEEHEOEEIXTE,

Price by
Relative | - Selllower = Use "purchase price” to determine loss.
XREHEEREAOEEIOER,

<BE>EABRIHIBENDESEZT-BEDFHELRL !
XARBHFLEIER

D;::i’s’s + Sell higher = JRBl:Use "donor's basis" to determine gain.

XREHEOEEITE,
Lower | * Sell between = 4} :No gain or loss (use "middle selling price")
FMV at
Date of XREHELEEBDOZ AN LIEE,

Gift | . Selllower = #l%}:Use "FMV at date of gift" to determine loss.
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m 9-1. Related Party Sales |

Robert sold his Lebec Corporation stock to his sister Karen for $8,000.
Robert’s cost basis in the stock was $15,000. Karen later sold this stock to
Dana, an unrelated party, for $15,500. What is Karen'’s realized gain?
A. $500
B. $7,000
C. $7,500
D. $0

m Answer(C) is correct.

HENE Y BRER O EERE

<MRA M ERER >

| Karenk () |

Amount realized $15,500

—Cost basis (BU{F1fiZ8) $8,000

Realized gain $7,500 .. EIRFX(C)MEMRLELSD,

| Resale price to 3 party $15,500
( Recognized gain $500

—— Robert’s basis $15,000

— Selling price to sister $8,000
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m 9-1. Related Party Sales As.y

Geena paid $10,000 for stock in a start-up company. A few months after she
bought it, she sold the stock to her brother Henry for $8,000, its current value.
Later, he sold the stock to an unrelated party for $15,000. What gain or loss
should Geena and Henry recognize on their tax returns in the year of sale?

A. Geena recognizes $2,000 loss; Henry recognizes $7,000 gain.
B. Geena recognizes $2,000 loss; Henry recognizes $5,000 gain.
C. Geena recognizes $0 loss; Henry recognizes $7,000 gain.
D. Geena recognizes $0 loss; Henry recognizes $5,000 gain.

<#f > Tax-indifferent party: DEAFRERIERS|ICEI T 24451

201651 B1H UEIZITHh N -BRER O BEENE|TlX. £ D:EIES A Tax-indifferent party

Bl ERENBAN-NEZEAN BEARFOERFER) ITHLHE. BEZE L. FREZEEST
FEEFICFREAT BRI (LS TRIL LS L) BEFRIARDH SN oT-loss (disallowed loss)
=—YIR AT BRI EIETELGL, ZOEFIIRE LT Tax-indifferent party |0 S K EfFIE ~ DB L
EROMFTBZICLSMBHREMERHTIIEEEMELTINS,

{RIZEEEE ThDHGeenaK M Tax-indifferent party | T 1155 . EZH ThdHenry KA 25

9 %gain(x$7,000(=$15,000—$8,000) &% %, I_I_

m Answer(D) is correct.

HENE Y  BREMOEERS
<R MRS >
‘ Geenalk (GEiESE Al ‘ Geena recognizes “0” loss.

S HenryKIZ5EEIL = # =X 552148 $8,000 — $10,000=$2,000 realized lossi&.
BGRERIGICRE T 510, BHELIERT HIENTELL,

‘ HenryK (EZ&A]) ‘ Henry recognizes $5,000 gain. . .52k (D) MNIERE,

[ Resale price to 3 party $15,000
( Recognized gain $5,000

—— Geena’s basis $10,000

—— Selling price to brother $8,000
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m 9-1. Related Party Sales |

Alf owns all of the shares of Waxman Corporation, a manufacturer of finished
leather products. Alf also owns a 60% partnership interest and his friend
Richard owns a 40% partnership interest in York Real Estate Rentals, LLC.
York owns and leases warehouse space to numerous businesses. In 2018,
York sold a building with an adjusted basis of $100,000 to Waxman for
$80,000. What is the amount of York’s deductible loss in 2018 from this
transaction?

A. $(20,000)

B. $(12,000)

C. $(8,000)

D. $0

m Answer(D) is correct.

HENE Y BRER O EERE

<RAUME>

F—DEFIZKY., 50%EDRITHEARILAAAESNATLSEAL, 50%EDFHS A
AASTATWBLLC (/S—rF—2v D) EORD BRI 1E, BRMEEI L5,

AIfK (&, Waxmantt D#%100%. York Real Estate Rentals, LLCO#F45'60%%fH .

Waxman#t York, LLC
T00%mE | P 60%FE

.".Waxman#t & York Real Estate Rentals, LLCO R T{ThHh =B EE| Tlossh &
CTH, RELIERTHIENTEEL EIREE (D) NIERRELS,

NEEREDOEKL, Part 2:Businesses T 9 5,
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Point !

Sec.1231
assets

9-2. Business Property

Sec.1231 asset(1231&& &) &3
1EBREOEE£RAOFMEIND % F L1 SE)ES (depreciable property)
R UFEIE (real property) #L\5, X LihZE ST, XMHEEC—HDZEE
HEZEIR<, Sec.1231 assetD W M5 A LTzgain / lossESec.1231 gain / loss
ELVSHY Net gain&#g>T=H&EIZIE RAIEL T, REAIFYERIL-FA4ULELT
WS ENTES, %Sec. 12458 K UW1250)) F v TFr—REMNBEASIN S,
XEEMROBHEREDHY,

HRAE M Net gain Net loss

1ELIN Ordinary gain Ordinary loss

1EH#8 Capital gain Ordinary loss
(LTCG)

<SSEYRDELEHTE>

B ESEMIZSec.1231 lossZEERHL TLVDIGEIZDHEH,

LR B TR ICEREE L -Sec. 1231 gain/lossZ B3R L% D#E R H'Net gain&7i
21=1%4 . Unrecaptured Sec.1231 losses (=318 %54 RIZ585# L =Net
Sec.1231 lossD56 ., BEEICREMBLLTROATVERWERS D EEE) D
#E T, LEEBEEITFTHL-Net gainZ @ E T 5 (ordinary income) &L T
EhHiEITNIELEDEL, H3REIL. Net Sec.1231 loss[TBEELELTERAE
FRBM IR T B EIZRBD T, Net gainNEL =156 . BESEMICEHRES
NE-RBEFBETICETEVSIRETH S,

Point !

Sec.1245
assets
(EICEIE)

9-2. Business Property
BEXAAEORME) FvTFr—

Sec.1245 asset(12455& ) L&, (1231FEEDSL. )
BAENONRELGIBERMENNREGIBREES D,
<PI>HEF. #BE. EERARA

Sec.1245 assetIZI&. Sec.1245Y) F ¥ T Fr—AENBERENS,

L EEDALDEYEHSF TF,
B EFr#2 (ordinary income) &L THRPHTAITZELZL,

3%Sec.197 intangible asset (197 & MM &EE) (X, EETEL.
EEZEERAOTISEU L OB TERMLE T NIEESEL,
Bl BEE, IJ50F AR, StV R, BHE. FREFILIRE L DERGE,

Sec.1250
assets
(FREE)

Sec.1250 asset(1250& & &) &l&. (1231EEEDNSB., )

BB EE DR RELEDFEIEE VS, X HERRS,

<BI>EEEY. EEEM

Sec.1250 assetIZI., MR BN LZEEIT DOV TILREEREZERLTLY
215E12, Sec. 1250 F ¥ T Fr—BEINERASN D,

BEDRMMIEFHEEDSL, FETFE(SL) CitEL - RIT1EHEE £ 3
BT EHZ 5 F TF, B E A% (ordinary income) &L THRPLITAILE
540,
1987 LRI FABASALI-FBIEEIZ DLV TIE, MACRSIZ &% E&Ei% (SL)
MRALLN TS, Sec.1250 FvFFr—DHREIFHESELY,
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SU9-Q8 9-2. Business Property |

Allen purchased a trademark on January 1 of last year for $150,000 and
began amortizing it over the required 15-year period. On January 2 of this
year, Allen sold the trademark for $200,000. How much of Allen’s gain on the
sale of the trademark is Sec. 1245 gain?

A. $5,000

B. $10,000

C. $50,000

D. $60,000

SU9-Q8 Answer(B) is correct.

HEENEYY 1245& B E (FXAEE)

<R MRS >

EA1EHE (trademark) DB E D {EHNEE :

Hn15{%E$150,000 154 x 14 (REE 4) =$10,000

EZIEDTEANLE :

SEANMiI%E$200,000— 55 & H 2+ Bbasis ($150,000—$10,000) =$60,000
Sec.1245 )X v T Fv—:

5EE128$60,00005% . BEDEHERH$10,000F TE.

BEFTF (ordinary income) EL TR FAIEAH S,

.".Sec.1245 gain (ordinary income) =$10,000 .".;&iRE% (B) AIEfELED,

Sec.1231 gain(capital gain)
$50,000
BEEOTHS | o
$60,000 Amortization
Sec:1245 gain(ordinary income)
$10,000

Adjusted basis
$140,000
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m 9-2. Business Property |

In July, Tommy Tromboni sold for $10,000 a printing press used in his
business that originally cost him $10,000. His adjusted basis at the time of
the sale was $1,000, and Tommy paid $1,000 in selling expenses. What is
the amount of the gain that would be ordinary income under Sec. 1245?

A. $0
B. $8,000
C. $9,000
D. $10,000

m Answer(B) is correct.

HEBrEYY 124548 E (EXREE)

<BAUMEE>

1FREREDEEREEDTANLE:

= #fiZE$10,000— 5581 B (= #1+Bbasis$1,000— 5= i055 2 F$1,000=$8,000
FEREEDBEDRMEINEE:

ER{E8{fi%E$10,000— =01 H(=# [+ Bbasis$1,000=$9,000

Sec. 1245 X ¥ T Fv—:
SEAIGEE RIERRZ O HIIE$8,0002 FEHVE ¥ FT1E (ordinary income) &£755,
COEIRE (B) NIEfREKE S,

Accumulated depreciation
Sec:1245 gain(ordinary income)

STHIFRE REREZED
FNRl#% 0 SEE14E $9,000
$8,000

Adjusted basis of printing press
$1,000
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m 9-3. Instaliment Sales |

During 2018, Marcus sold real property that had an adjusted basis to him of
$120,000 to Andrew for $250,000. On the sale, Marcus had depreciation
recapture of $20,000, which he correctly reported as ordinary income.
Andrew paid $50,000 as a down payment and agreed to pay $25,000 per
year plus interest for the next 8 years beginning January 9, 2019. Marcus
incurred selling expenses of $15,000.

For 2018, what is the amount of capital gain from this transaction to be
included by Marcus in his gross income?

A. $11,000
B. $19,000
C. $22,000
D. $23,000

m Answer(B) is correct.

HENE Y BIREE

s

BEZTHLFTINRESZEBM TEIRT D56 (DEKEL 1O WA BELIEIZLES
BE). BIREENERAIND, BIRBELEQBERZRIRL-15E . ERICEEZEINT S
FTHainDBHBEBYEARDC LN TES, ERICHEZERL - S THAUEERICHE
EUNEZREL-EEZEET 5. XEBWEEOBAEERLGVMBREICRY. ZDEZE
IRSIZEITHLILELH D, BEIRTIESICERBEFHIETE,

STEP 1 HE 7 2E (gross profit) =5 4IlEE — ST 415 & /H — & & Dbasis

SR FIZS ) TR EEICTRMER v T Fr— 180 E 2 ERH LT IIEESE,
Wz, FIEDFHETELSIK,
) FREMEEEICIE. EXICEIERITTES>-BE () DABELEEND,
SEHfiEa$250,000— {1 FEE F$15,000 — & ZE Dbasis$120,000
— BATE )+ + 7 F+—$20,000= 3 F)2£$95,000

STEP 2 H 72X (gross profit %) = #5725+ Z2#94EEE (contract price)
AR ) BAMEEICIE. RAIEL T, EXICEIERITTE5-1-B 8 (X)) DAEEEE
EEZ AN
FAFIZE$95,000 <+ 2 {HiEES250,000 = FHFI ZEHE38%

STEP3 | FEHILI-FEICEET S0ainOEEEHET S,
GainZzitH | BHEEUNEE$50,000 x HHFI|2EHE38%=9$19,000 capital gain .".:E R (B)
TRAT1E %51 F+ T F+—$20,000(Fordinary incomeL L TRET 3,
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9-3. Installment Sales |

In 2009, Sally sold a personal residence on the installment method. She
needed cash in 2018, so she sold the note for $7,500 when the balance due
her was $9.000. Her gross profit percentage was 47.5%. How much profit
must Sally report on the disposition of the obligation?

A $2,775

B. $7,500

C. $0

D. $3,225

SU9-Q27 Answer(A) is correct.

HENE Y  BIREIEDO LS

[ Point ! ARBEOLS

B EELEZRLULZENZNMBEETAT 558, —RICTABBNELD,

OB HI 53R (gross profit %) 5t E T3,
FFIEE=47.5% XA TIX. FEXIZEZO5N TS,

Q@ZEEEDbasisZERD B,
S EHE Dbasis (£, [5ZEHEDFEIRER x (100% —HEF#FE) | T5HESIN B,
EIBRFEHE D basis=$9,000 x (100% —47.5%) =$4,725

QEIEEIEDTAMEBZHE T D,

FEAN{%E $7,500 —EI R MIE Dbasis $4,725=$2,775 gain .. ERE (A)
XEMEEDOTABREOREAL, BIMRFTL-EEEZFTAL-LOLLTHHTS
(BIBREEEDRERAICEYRET D),

<BE>ZIBMRFTEEDEWZ (repossession)
EFXABRYDORESEIHZIAVKRICHY., SEENERRELEEEEZRYELIISE. UT
DNFThAPNSNEEEFgainEL TRBT 2 (FBEDIES).,

OFEENBRICREEA DB SBRICREEAHDgainEZLILNV-25, =14,

QIR ERFEIZH T2 EA SRR HFAH Dgaink =W Z (ZR-o-BREZZEL5ILV -4
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STUDY UNIT 10

NONRECOGNITION
PROPERTY
TRANSACTION
FEFRBDEER

GLEIMTXRAFHEREE E30RS VAR

A15F5 (50%) B7F% (23.3%) C8R (26.7%)

10-1 Sale of a Principal Residence
(Ef-HEEDFEH)

10-2 Like-Kind Exchange and Involuntary Conversions
(RIFE & E D 3L - SR Tl FO Sn 4
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Point !

10-1. Sale of a Principal Residence

210l

BADEHEREDOTHNRICEY SIERBOFH

{8 A D E1=%4EE (principal residence) M 5513 (=capital gain) [
$250,000 (single, MFS, HOH) % 1=1£$500,000 (MFJ, SS)# ERREL T,
GINLRN T HIEMNTES, KEBESLOBERM AL,

BRAZEH

FEH RO EESER D56 D24 247 A GEE W) (&
FBERELTHALADEE (R LTWEITARLELEN,
MFLWLMEEDORBIEEHF LGS TLVEL,

i RS

2F (1 EF AT GEHAMER2ELRIZCORHIOBERAERITTLENILE) .
KEBDEEEHELTVDEGE. CORFHERTEVERDERE,

BEE~D
MHEE

WMBREN ST XEHNEEICLY B S TEETEGRET HEM S
AIZZE = @ ICARL TR S IEUEFH5ERELTHAELMD
BE@ER) LTI, MEERICARL TOHBIS OV THLHBEEDEE
HMICEHBENTES.

“WEERD

WBREOEH. FR. TOMFATHECERICIVERLEL2FENBEHERI-S
FTHEEZFTALLIGEICIE. BFHEBLL TGEEETHAL ) 2 RICIEZERIRL
HZ2I+5h% (partial exclusion) , [$250,000 ($500,000) x =2 FEELTORT
FEEHM(AE) /24 (245 R) 10 EREF LD,

“HERERQ

JE5E % {85 B D #8 (nonqualified use=F =2 {F B LIS D FE TOfE FHAR ; 5% -
EE-ZER)AHDIHEICIE. MEBOFTANE x JEw@EE 5 AR 77 A& HHRE 1#
SEZDEFHHEDTRI . BYDE S DAHMNR, X Lp. 129558,

REABI D
pilic

BEEROMES S TEEOHEESMBREICBEINISE, TEBEOHRHE
HMEMREOMEHARMICNETES (TRBEOREHNEESIERTS),

Point !

10-2. Like-Kind Exchange / Involuntary Conversion

FITE & & DX (RAIZEERT)

RAL—IL

HE— Dl —

REL—JL |EREEEOXEMSOERLI-gainkWosslE. REIELT—EERES AL
(FFRICRHERYERDIENTES),

ME— DBk —>BL ., ZES (boot) ZZHELI-IHEIZIE., ZELEXBESDOFMVE LR
&L'Cgam’é.%’%ﬁb&(‘)‘hli&bhb\

NREE Aiih EERAEELLTRELTVWSEETH S,
*ﬁ@ﬂi@ﬁ?ﬁ@ﬁ BELEOREEEODRBELTEDLOND,
NAERNEKREN DB ED X #ERL,

XEE. R B, FRUEE. EEE. /\—r— v TEBESERG

ZHELI AB. of property given up | (i) :EAMEATIZE 0D 3 TIEAL

HLWEE®D | | +Gain recognized et HIBEAN B,
basis —FMV of boot received GE) $iBEDFMVAEZLNTEST .

+Basis of boot given TR I3 EZ LV RELH D,

Basis of property received

560l A0 En R (SR RN JERBL)

A, BAKELGEICKYBFINICEEEZ R VVRRES - HESEZHELEE
IZEB L f-gainlL. KE & 2 (replacement property)*é%d);%ﬁﬂﬁriﬁck'd
2FBELANICIBT HIEEEHELT, RAEIELT—URHE S
(JFRIBHEBRYERLND),

AL, REE-HEE>RAEEEONREEAOES. FRICEEEF T
gainZEELA T IEESE0,
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m 10-1. Sale of a Principal Residence |

Husband and Wife purchased a new residence May 1, 2016. They sold their
prior home on July 1, 2017, and realized a gain of $250,000, all of which they
excluded. They sold the new home on August 1, 2018, because they wanted
to live in a condo. What is the maximum amount of the gain they may
exclude in 20187

A. $0

B. $135,417
C. $270,833
D. $500,000

m Answer (A) is correct.

HENE Y BADE=-5EEOTA GERAERE)

<RAUMER>

BADEI=HEEDFTAERICRET HIERBIOFFHIIE, 245121 EFIAA
(EHBRTEE2FLRIZCORHIDBERZZTTLVENIL),

AEDOKIFE, 2017FEIZ(EE2FELRID) EHHOBEREZITTNS=H.
2018FEICCDEHFIDEREZITHZEIFTERLY,
(FHHLEIERBIRVEZTONT . gaineFEERHBTILEND S, )
COBIREE (A) FEERF &4 DgainlE$0TH D,

<WHR>XRIFBEEHRE(MFJ)DIHEAE. $500,000 (2 A5) FEEFRDOEHFIZEERT 51
OIZIE, WFhh—FDOERBENEESEMDIEDEEL2F LU LEFRAL.
MmAM2FE U EEE (HRA) LTULEFAIERSE,
LBE.EEBECEDOBERANTET. —ADEREBEEDHLFE -BEUER) D EHEHE
F-LTWBEE1Z1£$250,000(1 A53) & LR EL TIEFERIRWLDBZ (TN 5,
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CIVE[1Eel: M 10-1. Sale of a Principal Residence |

When Amelia bought her first home in 2015, she paid $100,000 plus $1,000
closing costs. In 2016, she added a deck that cost $5,000.
Then, in July of 2018, a real estate dealer accepted her house as a trade-in
and allowed her $125,000 toward a new house priced at $200,000.
How should Amelia report this transaction on her 2018 return?
A. $19,000 long-term capital gain.
B. No reporting because the trade is not a sale.
C. $0 taxable gain and reduce her basis in her new house by $19,000.
D. No reporting required.

SU10-Q8 Answer (D) is correct.

HENE Y BADEHEROTE (2FOEH)

<RAUMRER>

Amalia K [$2015F M bFEHI H2018F7 AF T2E LU LA DEE (AL TLS
DT, $250,0003FRB D HIZEA TE D, X IFBEEEARAR T,

. FEHI35$19,000 2 EMIERBLLY . RERFXTETH S FRE (D) N EMRLLD,

Amount realized $125,000
—A.B. of the property> $106,000
Realized gain $19,000
—Excluded gain $19,000
Recognized gain $0

%$100,000+$1,000 (BEA [Z{&Ro7={FhEE M) +$5,000 (B R)
=$106,000
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m 10-1. Sale of a Principal Residence |

Bill purchased a home for his principal residence in January 1, 2014.
However, from December 31, 2015, to December 31, 2017, another location
served as Bill's principal residence. Bill's basis in the home was $300,000,
and he sold the home for $600,000 on December 31, 2018. What is Bill's
recognized gain on the sale of the home?

A. $120,000
B. $250,000
C. $300,000
D. $50,000

JeEteE AR IC B S R EI1H

<MHRDO> MBRENMEIEEBERA(EEFREB) FEESRICEALTOLEEICE.
LREEDOFTHEDS>L . BEEOFMEINENS ITERBROFHREORRLEELST
Unrecaptured Sec.1250 gain&L TeEfich b, REAFvEHIL -7 (> &% BUnrecaptured
Sec.1250 gainlZIF GEE15%DERMBRED DY) 25%DFREMNFEREN D,

<FHRQ> HFICHRHMBICBVTHHRENMEBZEEALLTHERALTWVIEEDZERLE
LT. SEAIRRIOEASERMOSb A% EEEEHEBELTHALLEE B LG HAM
. EERFERYMHOETE L ERIND, I_I_

m Answer (A) is correct.

HEENE YD BAD X -5 B D5 (FEEE {5 A HFE)

<RAUMES>

BlKASEA BRTDEES FRD>LE-HERELTHRAEMNDEE (ER) LTV
BRI THREDFELLY BE) 2F LU LETHA=0. FRBORFHZERATES,

1/1/14 € *12/31/18
54 =#H1A

{BL. FREEIRIEISED S5, 2015F12H831H ~2017E12A31BD2EMIEE -2 F
ELTHERALTHELT (EER). @B AR LS,

FEDFEHZE$300,000 % IEFHIEFEHD

Amount realized $600,0001 gy 5757 = $120,00012 = DB D
—A.B. of the property $300,000 | s & (dtrnd . BRich 3,
Realized gain $300,000 | &Y D “3/5"#B 5 =$180,000A% = D 45557
; EDRELDM, FEFRBD LREA
~Excluded gain 0000 | I bt BlEe
Recognized gain $120,000 $180.0002 284 SRR LT B LN TES,
ORI (A) B ERRELD,
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m 10-1. Sale of a Principal Residence |

Roy and Joyce were single, and each owned a home as a separate principal
residence for a number of years. In August 2017, Roy sold his home and had
a gain of $130,000, which he entirely excluded. Roy and Joyce were married
in October 2018 Joyce then decided to sell her principal residence for a
$350,000 realized gain. They plan on filing a joint return for 2018. How much
of the gain from the sale of Joyce’s home can be excluded on their joint tax
return for 20187

A. $0

B. $100,000
C. $250,000
D. $350,000

m Answer(C) is correct.

HEMEYY BADE=5EROFTH (BER/REZLOHBR)
<RAUMEH>
ERENEI2FURICEADE-HEEDOFTIEICEY HIERBORHFIOER

E2TOTH BERECLOBATRET, MBEBSNEAZZTTOVETLIEMH
REBHDTELTS250,0001 A5 F ERELTIERBZLVEZ TN D,

SEBRIROMFJIZE L Tloyce KATAE D EF-HERB DT A1EE$350,00005%
$250,000(1 A FEBBILTHIEMNTE S, BV (C) AIEFE,
Realized gain $350,000—$250,000 (1 A 4%3') =Recognized gain $100,000

<#HR>HEROERA

HIER DM ES S TEEDHEESAMBE ICHIEINI5E . TRIEEOHREH
FZmiEDOMAYRICMETES (TEREZEDREHEESIEHRITS) .

Fho, BEIER (FITEMBERID) TRIBEHICHZEEEERSE TV M
WTHMBREN A ERELTEAL TV LA TSNS,
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10-2. Like-Kind Exchanges and Ao
Involuntary Conversions 27

Joe exchanged his warehouse with an adjusted basis of $80,000 for a new
warehouse with a fair market value (FMV) of $70,000 and $20,000 cash.
Both warehouses are used in his business. What gain, if any, must Joe
recognize and what is his basis in the new warehouse?

A. $0 gain; basis $70,000.

B. $10,000 gain; basis $80,000.

C. $10,000 gain; basis $90,000.

D. $10,000 gain; basis $70,000.

m Answer (D) is correct.
HErE Y FEEEDOXHE
<KLV MREE>
Joe K [F 3 #iZE £ (boot: 1 £$20,000) dock @1 REE
Joo k(3 %% (boot: BEF20, BAEE HaE
FALTLBOT, WFOLTAANSY | s 00 | | Fvy 870,000
5 cqainZA-sRE| o YN T ’ ’
[ZF5FETaainZFRBBLZITNIEESALY, $20,000 cash
1]\< Realized gain $10,000
FMV of boot received $20,000
< Gain/lossDEtE > <HFHEEDbasisDEHE>
Amount realized ¢ $90,000 | A.B. of property given up $80,000
—A.B. of property givenup  $80,000 + Gain recognized $10,000
Realized gain $10,000 —FMV of boot received $20,000
—Deferred gain $0 +Basis of boot given n/a
Recognized gain $10,000 | Basis of property received $70,000
new FMV+FMV of boot received—FMV of boot given
=$70,000+$20,000 (cash received) =$90,000

—131—



10-2. Like-Kind Exchanges and |
Involuntary Conversions 4

Ted and William agreed to trade apartment buildings with Ted agreeing to pay
William $10,000 cash. Ted’s basis in his apartment building is $40,000.
William’s basis in his apartment building is $50,000.
What is Ted’s basis in his new apartment building?
$50,000
$40,000
$10,000
None of the answers are correct.

oCow>»

1]
m Answer (A) is correct.
HErE Y FEEEDOXHE
<R MRS >
Tedf || ZHEAT
KHES (boot) ZELI=7—RATHHD T, (William )
No gain or loss recognized (deferred), IB&E B
A.B. $40,000 (A.B. $50,000)
$10,000 cash
<Gain/lossDEt&E > <HFEEDbasisDEHE>
FMVAEZ 5N TR0, FTETERLY, A.B. of property given up $40,000
+ Gain recognized n/a
—FMV of boot received n/a
+Basis of boot given $10,000
Basis of property received $50,000

—132—



10-2. Like-Kind Exchanges and As
Involuntary Conversions 4

Ernie had an adjusted basis of $15,000 in real estate he held for investment.
Ernie exchanged it for other real estate to be held for investment with a fair
market value of $12,500, a truck with a fair market value of $3,000, and
$1,000 cash. What is the total basis of the real estate and the truck?

A. $15,500

B. $14,000

C. $15,000

D. $16,500

m Answer(A) is correct.
HErE Y FEEEDOXHE
<KLV MREE>
Ernie & 232 #2324 (boot: B14:$1,000+ EmieX || XAMETF
FwoFMV$3,000=&5t$4,000) 2 248L | IBEE MAE
TWBDT. UTOLWFEAMNSNESET |AB. $15,000 FMV $12,500
gainZRE LA T IEESE0, FMV $3,000 truck
/J\< Realized gain . $1,000 cash
FMV of boot received $4,000
< Gain/lossDEtE > < FEIEDbasisDEHE >
Amount realized ¢ $16,500 | A.B. of property given up $15,000
—A.B. of property givenup  $15,000 + Gain recognized $1,500
Realized gain $1,500 —FMV of boot received $4,000
—Deferred gain $0 +Basis of boot given n/a
Recognized gain $1,500 | Basis of property received $12,500
new FMV+FMV of boot received—FMV of boot given - x = 5 .
=$12,500+83,000+$1,000 (ruck & cashrect) | * 7 WA T FFV I (RIEEE) Dbasis
=$16,500 =$12,500+$3,000 (FMV) =&#$15,500
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10-2. Like-Kind Exchanges and Ao
Involuntary Conversions 27

Mr. Cline exchanged a building used in his business for the assets listed
below. The building had an adjusted basis to Cline of $78,000.

A rental house, fair market value $40,000
An automobile for his personal use, fair market value 9,500
Cash 10,000
What is the amount of Mr. Cline’s basis in the rental house?

$40,000

$49,500

$58,500

$78,000

ocow>»

m Answer(C) is correct.

HEBrEYY REEEDIH
<HRAUMEER>
Clinek |& ZHAF

TMIHL-BREICEHA"DBHIBE. [|pge AR
REJELTlosslE—HIERH#L ALY, A.B. $78,000 FMV $40,000

FMV$9,500 auto
$10,000 cash

<Gain/lossD&t&E > < FEIEDbasisDEHE >
Amount realized ¢ $59,500 | A.B. of property given up $78,000
—A.B. of property given up ~ $78,000 | +Gain recognized n/a
Realized loss ($18,500) | —FMV of boot received $19,500
+Deferred loss $18,500 | +Basis of boot given n/a
Recognized loss $0 | Basis of property received $58,500

new FMV+FMV of boot received—FMV of boot given

=$40,000+$9,500+$10,000 (auto & cash rec'd)

=$59,500

—134—



SU10-Q23 10-2. Like-Kind Exchanges and |
Involuntary Conversions 4

The state condemned Joe’s property. Joe did not hold the property for use in
a trade or business or for investment. The adjusted basis of the property was
$26,000. The state paid Joe $36,000 in 2018. Joe realized a gain of $10,000.
Joe bought like-kind property for $35,000 in 2018 for the purpose of replacing
the condemned property. Joe also made a proper Internal Revenue Code
Sec. 1033 election to defer gain from the condemnation on his 2018 tax
return. In 2018, what is the net taxable gain and where must Joe report it?

A. $36,000 on the return Schedule D.

B. $10,000 on line 21 of Form 1040 (Schedule 1).

C. $1,000 on Schedule D.

D. $26,000 on Form 4797 — Sale of Business Property.

SU10-Q23 Answer(C) is correct.
HRENE Y SRl B (IUA)
<KLV MREE>
#H{E4£%$36,000 — X B & E OB FH%E Joek @ Hro DR
F5:$36,000 — 5 5 E O M3 i 22 [T KBEE
$35,000=F FEI B 1= 5 £$1,000 Tl A_f $26.000 FM%%; 000
gainZRBELA TN ERSE, $1,000 cash
/]\< Realized gain $10,000
Cash kept & not reinvested
< Gain/lossDEtE > <REBEEEDbasisDFTE>
Amount realized $36,000 | A.B. of property given up $26,000
—A.B. of the property $26,000 + Gain recognized $1,000
Realized gain $10,000 —FMV of boot received $1,000
—Deferred gain $9,000 | +Basis of boot given n/a
Recognized gain $1,000 | Basis of replacement property $26,000
XEXA-BEATELGVWEE(=TBEAEREED
T#HY. Capital gain(Schedule D) &%:%, .". BBk (C) K IEFE,
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STUDY UNIT 11

IRA
18 A RE S < O B

GLEIMTXRAFHEREE E30RS VAR

A6 (20%) B18F(60%) C6R5 (20%)

11-1 IRA Defined
(BANERBEEOFEDER)
11-2 Contributions
(B NEREFEEOE~NDIEILT)
11-3 Penalties
(B NEREFEEOEICEEYT S5 RIE)

11-4 Roth IRAs
(ORENREEEE O EE)

11-5 Coverdell Education Savings Accounts (CESAs)
(BEETEOQE)
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Point | 11. Individual Retirement Accounts

IRA (B NBEES O EE)
EAFERICHBEINDD(X, EICLITDIFEFETH S,
| TEIIEF S Traditional IRAERoth IRAD L&
Traditional IRA FERRETREN | TR | R | 70.5FLIROEIIZERITFA,
$5,500 _
Unss | B
Roth IRA ERAT | TR | FER |- EBWICHDH5TT70.5E UMD
$5,500 BiTbhb,
w2 | JEEF |- LIEBBEOERMNBELEEMN L
BHIELY,

Education IRA F:E&%Z:EI JTEZ'K *E%*R
$2,000
(E=-0) T ThE | iEE

XEBOBEHR(BEN48158 . BEEEREERADOES) ETICHIL T, BRI ED
DY (R

KETHFOSMME - REER - EHRRESM-EREIRUKESHEDERHESERELT
IRAFADEANAE(XKBEEIRA)EHETHENTES, BHL., BIFED—EH L RIE
DEANZTKTONZIGE . WIEIRAELTEOHLNELY,

KIRADEE X R IRALL THIFELIEEF D INE & (collectibles) TR E T 52 &FRDHENT
WA, £BOEE (coins) ~DIFEILEROHLNTLVS,

Traditional IRANDFEIL#Z2fs LB%EE (20184 )

HEEDES
=20 EFEHFCMALZL (REAUL—L) : LT OWLT hhh
* $5,500(50%% L (3$1,0005E50)
AGI/CEGFZ4L 1 ! |« B3 A{$ (compensation)*
*PUTDHDONEEND,
DNHEEES XAXREHEMAT-GIRAFTEERS
2) FHEIXA
3) BEXOMAILE XABLERLS
4) Bug - KM B B EEBYF & (alimony)
r—2Z2® M <$63,000 EEL—L
mALTLS o| $63,000~73,000 Partial deduction
| >$73,000 — YR AT
BEi§E D1mS (MFJ: Joint ReturnZALVE=15E)
F—2D EEFEEFE2ANELMALL (READUL—L) : LITOWLWT R
+ $5,500 X 2A%=%$11,000
AGI/ZEFLL 1 ! (50% LA E &1 A {3%$1,0005250)
- AHEHHME (compensation)*
*RAIZLOESF BN ETEEDLEL,
r—2Z2®@ M <$101,000 FEAL—)L
ELLM—HHMA é $121,000~189,000 | MAHY: $0 MAZL: $5,500
I >$199,000 MAHY: $0 MAZL: $0
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m 11-2. Contributions |

A contribution to a traditional individual retirement plan (IRA) is deductible for
tax year 2018 in which of the following situations?

A. The individual’'s employer does not have a retirement plan at any time
during 2018.

B. The contribution is made on August 15, 2019, under a properly filed
and accepted extension.

C. Theindividual is covered by a retirement plan but does not have any
compensation in 2018.

D. All of the answers are correct.

m Answer(A) is correct.

HEBrE Y% : Traditional IRANDFEILT

<RAMEEER >

IR (A)  REFEICMALTOELNVR S E X, F£/H1$5,500 (505 L, _E1X$1,0005E
M HLIEEFHRBONT AN SNEETIERTED, BN (A)AERTHS,

EIREE(B) R EEDRHARZERLTL. RAIOREHAR(EFEN4A158)FT
(AT oI EBELMERAEDH LN,
C.20194E8 158 24T of-FEILEA(T. 2018 FEEITHERTELLY,

ERER (C) EHmENEONISEIZE, —UHERTELL,
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m 11-2. Contributions |

Minnie’s tax return for 2018 shows the following income:

® $800 wages

® $6,490 unemployment compensation

@ $1,000 alimony

@ $8,000 rental income from apartment buildings she owns

What is Minnie’s earned income for the purpose of determining how much
she can contribute to an IRA?

A. $800
B. $7,290
C. $1,800
D. $16,290

m Answer(C) is correct.

HBrEYY BFH e

<MRA M ERER >

Traditional IRAD1ZRREEZ & H 4 SBR D )% AT 1§ (compensation/earned income)
2. U FTOILONREENS,

1)# 5 5 (salaries and wages)
HRERIBHRATIRG
MGIM BRI LI=FR18%R<, B S EiRE R AT 544 (foreign earned income exclusion)

2) FH XA (commissions)

3) BE £ O #FZE (self-employed income)
X B EZEDHE % (self-employed loss) [E&FE N AL,

4) BitE - SR B9 A B HLBY F 2 (alimony)

£137 AT 5 =$800 wages+$1,000 alimony=$1,800
JOBIREE (C) MW IEfREL D,
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m 11-2. Contributions |

After many years as a bachelor, Buddy, age 50, married Penny, age 63.
Penny’s only income was $10,800 of Social Security. They filed a joint return
for year 2018 with a modified adjusted gross income of $150,000. Buddy is
covered by a retirement plan at work where he receives compensation of
$116,000. He wishes to contribute to an IRA for himself and for Penny.
Which of the following will provide them the greatest allowable tax benefit?
A. He may contribute $6,500 to each IRA, but only take a deduction for
the $6,500 to his IRA.
B. He may contribute $6,500 to each IRA, but take no deduction for
either IRA.
C. He may contribute $6,500 to each IRA, and take a deduction of
$6,500 for each IRA.
D. He may contribute $6,500 to each IRA, but only take a deduction for
the $6,500 to Penny’s IRA.

m Answer(D) is correct.

HREEFE Y. : Traditional IRANDFEIL T

<KLV MREE>

o LEKIBITXRIFESERS(MF)ZALTSY. Modified AGIE$150,000TH 5.

¢ RIB2ALLEREEROBETORULTHS,

s RIFOEFHATR(E$13,000 (KIB2ALH50% LI ETS$6,500 x 2 A5 Ll EH B,
BE15E D154 (MFJ: Joint ReturnZFALV=154) 20184

r—2Q@ M <$101,000 [REIL—JL (50 L E1%1 A f£$1,000580)

Eboh—AHMA MA&HY: $0 MAZL: $5,500
(508 KA £ [£$1,00038/0)

>$199,000 MAHY: $0 MAZL: $0

A
G| $121,000~189,000
|

BuddyK (50&8) :

TEESITMALTLSEBE L. MAGIAY$121,000 (2018) Z#BZ 5 &, HERMN—LIER
HHENLIE D, 50 L LIZERI$6,500F THRAIL TAHIEIETESD, HZBRITTEALY,
E{E&Pennyk (635%)

TEELITNALTOEVWEBEX. £5—A0OREBEENEEESITHMALTLTE,
MAGI%'$189,000 (2018) LA T T IELHEEEIERR T, 507% M L (L FR$6,50085 31 2R T,
&2 T. BuddyK (505%) £Penny K (635) I3 Fh £ 1 $6,500F DFEAH I TEHo LI TE
B0 ERTEADELEFFICHMALTLVELPenny KD 2D $6,50072 1+ TH 5.
SORIRBL (D) A IEfR SIS,
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m 11-2. Contributions |

Margaret is fully vested. She will receive Social Security benefits at
retirement but has no other retirement plan coverage. Her present and past
employers have not had retirement plans available. In 2018, she files as
single, and her earnings are $66,000. Also in 2018, she contributes $5,500 to
a traditional IRA. How much of the $5,500 contribution may she deduct?

A. $0
B. $3,850
C. $5,500
D. $1,650

<#HRE > (rollover) : ## (rollover) &Ik, H I EBESFENSMDBBELFE~RE
DERMEDBIFZEITICENS, “EHiE"BH# (direct rollover) 35154 1L IEEFH KL (FiBIFRE
RbR) BN, —BBIEHLEToIEA L. 5IEHL-EEZ60E LINICH - EHESFIE
ABBRLEWEER O RELS (F=. BEASIZHLIZES10% DS BIF O R ELS) .
KIRAIFKIFTHEETAHILIETELGL, MBBBORLHERE. MHREBEEOOEESFEE
ZDIRANBIR T ZIEILTERL, TR E DOIFETRFICIE, BBE I E(XFBH,

m Answer(C) is correct.

HREEFE Y. : Traditional IRANDFEIL T
<KLV MREE>
TEFELITMALTWVENVR S E (T, F£/HI$5,5005LUEEIFMBEO LT /IS
AETHERTED, XAGIZREELL-EZERFIBREEZERTIHEIIAHL,
SREELITMALTLEWMargaretK (3. E15FESHL+2IZHY.
FEILEAD$5,500% £ RAFERR AT, BIREL (C) A IEERELTE D,

HEEDIRES X2018FE

=20 tEEEFITMALL (REIL—L) : LLTOWThb

*  $5,500(50#% L L 13$1,000iE10)
AGI/ZEFzL ! 1 |« Eh% P& (compensation)*

r—2Q M <$63,000 [REL—IL
MALTLS é $63,000~73,000 Partial deduction
1 >$73,000 — YRR A

Xt LRICMargaret KA EELICMALTVSIESE

Modified AGIAHY$63,000~$73,000 (2018) DL TIZABD T, EHEREL S,
L BR%E$5,500—[(MAGI$66,000—$63,000)=($73,000—$63,000) x $5,500]
=$3,850DIEFARHEND,
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m 11-2. Contributions |

Rena is a 72-year-old single chemical engineer. She works part-time for a
pharmaceutical company and earned $22,000 in 2018. Her modified
adjusted gross income is $36,000. She participates in her employer’s
pension plan and profit sharing plan. In 2018, she contributed $5,500 to a
traditional IRA. How much of her contribution can Rena deduct in 20187

A. $0

B. $1,400
C. $1,600
D. $5,500

m Answer(A) is correct.

HRENE w4 : Traditional IRANDTEILT

<HRAUMEER>

Traditional IRAIZHULNTIE, 70.58 LI OB HEEERHSALLY,

COBIREE (A) DNIERELS,

X705 LRI TETo>TLEHBE. BB EHESh ., TBILBIBEEIC
L TEC%WDEAIFARINDECHED, BEEOHREHEE TICHIBAER
VENIZHESFIEDLEES IS H IR, B ITHILBSALL,

| Point ! | HA 1B ERHRAIZETT S ETH

[CE39) (50| s1o00mmusma  [705] WuFkd |
< WUAEICH T HEE 6% >
[[31L] [59.5] [70.5 | Bigmz mLE |

< EMIEHLISESTA 10% > <a§ra?i@x 50%>
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11-3. Penalties B... |

Martin, age 35, made an excess contribution to his traditional IRA in 2018 of
$1,000, which he withdrew by April 15, 2019. Also in 2018, he withdrew the
$50 income that was earned on the $1,000. Which of the following
statements is true?

I. Martin must include the $50 in his gross income in 2018.

Il. Martin would have to pay the 6% excise tax on the $1,050.

[1. Martin would have to pay the 10% additional tax on the $50 as an early
distribution.

IV.Martin would have to pay the 10% additional tax on the $1,000 because
he made a withdrawal.

A. lonly.

B. I, 1l, and lll only.
C. Illand IV only.
D. Iand il only.

SU11-Q23 Answer (D) is correct.

HEME Y IRAEIEBICH TSR], BHASIZHLUICHSSIR

<HRAUMEBEE> UTOMERIZLY. FEREE (D) NEMRELS,

m IRAFEZ#4/=%1 55 574l (excess contribution)

IRANDFEMLEN EREEZA TS (HBILBGBDSEEICIE. TORESFEINSET.

B EBAHEICHLTEE% DS HIMAFEINDLITHD,
COFEIAIBARINGNEIITTBICE, BEEQREHRETICHEIBBERY
ZHRITHEST B DEESISHILFNITLSLE, Fd, BEESITTHAE,
FIEHLEFBERAITOVNTIE, BEDOHEROZERTRELD, #HFLE H59.55
KBDBEICIE CNITEMLTREHASISHLUISHES10%D S AIFA RSN S,

IRA EH5[ZHIL (=1£5 578 (premature withdraw)

MIRE D 59.5ITAEDHHTNCIRANSEIEH LGS . BEDOMERICEMLT, B3I

FHLIZHS10%D SiRIF A REIND, BL, FROLSHEHICKYFIEHLI-IEEIS

[F10%D i AIFE A RBFEN D,

1) Home buyer (1st time) : $10,000 max #OTHOEHENDHEAERIZHTEEH,

2) Insurance (Medical) ERRKRHOIILNIZHTE=O,

3) Medical exp. in excess of 7.5% of AGl AGID7.5%%BA5EEREIZH TS0,
4) Disability MBRENEEE (TG>T0,

5) Education: tuition, books, fees, etc. HEBOXIWZHTS=6,

and

6) Death WEENFETLI=0,
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SU11-Q21 | 11-3. Penalties (B, |

In 2018, Ivan was over age 70 1/2. The balance at the beginning of 2018 of
his traditional IRA was $41,000. All of his IRA contributions had been tax
deductible. The required minimum distribution for 2018 was $3.000. If lvan
only took a distribution of $1.000, what is the amount of excise tax that lvan
would have to pay on the excess accumulation?

A. $120
B. $200
C. $1,000
D. $2,400

m Answer(C) is correct.

HENE Y  IRAEEBR KN S8
<MRA M ERER >
IRA Z# & 8X/-41 93575/ (excess accumulation)

705 A EDEF4A1BETIC. IRADS DI FHLEBRBLA TN IEESE,
LRHIBFETICSSIEHLEZERBLEWNMEEZE A, 5ISHLANRIEL R LY D0
BEICIE EEBREBITHLTE0%DHABARSNDHI LGS,

AEITE. 5IFHLEORIENLHELES3,000THY. IvanK(F$1,000LMNEIEHLT
WELD T, Z51D$2,000 X 50%=3$1,000D FRIFEA RSN D LT D,
COERE (C) N IEREL S,
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SU11-Q20 | 11-3. Penalties (B, |

traditional IRA?

ooOwp

Generally, which of the following is a prohibited transaction concerning your

Withdraw funds for qualified higher education expenses.
Pledge your IRA account as security for your mortgage.
Withdraw funds for qualified medical expenses.
Withdraw funds to purchase your first home.

m Answer(B) is correct.

HRERE VS IRAFKIEEIE
<RS- >

IRA # (- %15 (prohibited transactions)

IRAICEAL., ARROFIE(IZEIESh T
%, ZERLI-GEE, BHRIRALLTDE
BEXV IRABEDLENFDOEAT
SEEShf-,AEEh, BHROAHLEL
%, iR EH59.5mAREDISE TR
FIEHLIZES10% DS AIFitiRESNh b,

[IRAZIFEIE]
IRADSDEA
IRAIZX 9 % E& E DFTA]
IRABIEBH &L TEIN LRI EZ TS &
IRAZIEEBELELTEAZITSC
BEAFEAEEZIRAEETEBATSHE

SRR (B)  IRAZIERELTIEAZTT

STEFELShTLVS,
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Which of the following is true regarding contributions to a Roth IRA?

A. Contributions may be made regardless of age provided other
requirements are met.

B. Contributions may be deducted if you are within certain income limits.

C. Contributions may be deducted if you are not covered under a
retirement plan.

D. Contributions may not be deducted, but earnings are taxable when
distributed.

11-4. Roth IRAs (B, |

HEEFE w4 : Traditional IRAERoth IRA®D HL Bk

Answer(A)

is correct.

<MRA M ERER >
FEILRF 5| H B ke
Traditional IRA RRRTIRE | oA | R | 705U BEORBILERIEFA,
$5,500 _
UnzE | FF
Roth IRA EBRAT | oA | TR | FRCHHDHLTT05F LS
$5.500 EITONS,
2 | e |- LIREEDEEHIIRESEEL L
BHEL,
Roth IRANDIEILTIX, EFICHIDHLTITIENTES,

—75 . Traditional IRAIZ. 70.55% LAME D FESLIER (X EBDHONIELY,
SRR (A)DEMELD,

#iREX (B) (C) (D) :Roth IRANDIFILTIE. LWHVESIHEE TH. GINSIERTT,
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11-5. Coverdell Education Savings ~
S5U11-Q28 IO 3

Jim and Carolyn, who are married, established a CESA to pay for the future
college expenses of their infant son. They file jointly and have a modified AGI
of $80,000. What is the maximum contribution they can make to an
education IRA in the current year?
A. $8,000
B. $4,000
C. $500
D. $2,000

m Answer(D) is correct.

HEERE w4 : Education IRA

<RAVMEE>

RuE I HE
Education IRA %E‘Fg;:f TR | R
(e ST T | FER

Education IRA(Coverdell Education Savings Accounts, CESA: h/X—FJL
BEBIFEOE) ~OEIL LRET, RIFEHEHBE (MFJ)) DIFE . Modified AGI
$1$190,000(2018)LATF THALIL. $2,000% LREL TEHLN S,

SOERBE (D) N EREELES,
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STUDY UNIT 12

GIFT TAX
S5

GLEIMTX X HIREE 5305 VAR
A19F5(63.3%) B10R1(33.3%) C1/5 (3.4%)

12-1 Gift Tax Returns
(BBEMBAESE)

12-2 Gift Tax
(FE5)

12-3 Gift Splitting
(BEE5 22
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12. Gift Tax

EABEEBOER
BSHOREHE | [FA48158 CKEAREHRERR

RYRSOE |5 BICHEITHFMVTEHHE C(FRIEDES (FRAEMIE) .
HELBOBITOE | HFAABRORITOEERET HEBEITEELITADEA,
ZTOOEICHHLTWENEAZDOAENLFIEHLIFRT
SIEHLENBELLTHRDN S XEEME TR [SU12]/H3,

Annual exclusion |Doneel A=Y [$15,000(2018) ETHHE 5 (L IEFR R
(FEMEBRSLE) BL B & & D5 2| (gift splitting) : £#&2 A T$30,000£74:5,
3453k 4E (future interest) DIEE[Z(E, BRAFRT .

HEHROXMNR UTDEHICOWTIE, BEHBREELIZEDHELY,
LIFEDAENMER |+ DoneeDi=-HICHEEXI-H-EREETELLVERSE
(£FEFERF : TWHIR) (tuitions and medical expenses)
KYFEREOEEEEICEREXISIENEYS . BB,
« BrAEk€ (political contribution)

EFIBOEERIEE |- E{EEERR (marital deduction)
(2 FEIERRH : |HIR) MO EABEEICRLTIE, EHIR TR, £/-1$152,000
(2018) ETHEBFRMNEDHLND,
« EERE (charitable gifts)
Unified tax credit | —4;ET$4,417,800(2018) #FIFHTE5,
(H—BEBEEER) | Chid. $11,180,000D IERFICHLT S,

Point | 12. Gift Tax

MECHEDEE ! !

20184 /&
Annual exclusion | $45 000 per year per donee

Unified tax credit $4,41 7,800 per lifetime per taxpayer
($11,180,000 FERB#(HEH)
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IIEXE] 121 GiftTaxReturn 3

Form 709, United States Gift (and Generation-Skipping Transfer) Tax Return,
is required to be filed for

A. Atransfer of a present interest that is not more than the annual
exclusion ($15,000).

B. A qualified transfer for educational or medical expenses.

C. Atransfer of a future interest that is not more than the annual
exclusion ($15,000).

D. Atransfer to your spouse that qualifies for the unlimited marital
deduction.

m Answer(C) is correct.

HBEFEY) BEHROBREER

<MRA M ERER >

IR (A) - BB 5 FiDAnnual exclusionf’Doneel A Zi1=Y£ERH$15,000THBT=-8.
INEBZABEEEEBEUNIToLIGEE, BERBEEQRHI/IBELLD,
&> T. Annual exclusion®$15,000 LA FDEES LD T, BEDBHEITLLY,

<## B >Donee#&HH#ES (joint tenants) EL =154 . Present interest ((R7E4E) D
BETHNIL, Annual exclusionZBRATES, FIZIEL. BELIELTWAREHESE
BEE2ADFHEDESE (joint tenancy) ELT=ET 5, EFHRICH T DEEICEFNTE
MNAnnual exclusionZBEBHATE5,

FEREX (B) :DoneeD =B IZEEZ - EERETES LU EREZE (Lunlimited (]
B ICESHOMREFIHESEN(BEERBEEZICEHL), BiE. EEHEOER
HERRIZZIS CENEHEHS,

ZRE% (C) :Future interest (5 3E48) #85 5 L1-35 & (£, Annual exclusion/$5#E
TEEWV=6, FEH$15000Ll FTOEETLEEHRBSEEDREMBELLS,
COBIRER (C) AN IEfRER D,

EIRAZ (D) - BLBE ~ DS 5 [Lunlimited (BHIR) (TIERAZEHON D,
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| online [ CG N & |

Mary Smith made only the following transfers of interest in personal property
during the tax year:

® $40,000 cash to the Democratic Party, a political organization [as defined
in Sec. 527(e)(1)]

® $25,000 cash to Good Care Health, Inc., for medical care [as defined in
Sec. 213(d)] of her ailing resident father

@ 100 shares of common stock of ABC, Inc., with a basis to Mary of $5,000
and a fair market value (FMV) of $10,000 to Save the Walnut Foundation,
a Sec. 501(c)(3) organization.

What is the total amount of gifts that must be reported on Mary’s gift tax
return?

$75,000
$70,000
$10,000
Mary does not need to file Form 709 for the tax year.

oow>»

m Answer(D) is correct.

HENEY BEROBERE

<MRA M ERER >

o HHZEADBUAHKE (political contribution) [BE S FID MR EIFESALY,

® DoneeMt=®IZEEXh>1=EHEE (Zunlimited ZEFIR) ICBEE SR DR R &EF
SHEVN(EERBEEICEOELY), BiE. EEERBICKILSCENEH LTS,

® Sec.501(c) (3) Organization (FEFRFRfE#) ~DEFT L, BEEELGY,
unlimited (ZE&IBR) IZ¥ERRAEEDHEN D,
KBEEES LIS HDHRELEESETo TUVENVERIZDIVTIE,
S AL EFEH T BBEILGL,

SSmithK L, BEHRBEEEZIRHIZ2HEFLL, BIRE (D) NEREELS,
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SU12-Q7 12-1. Gift Tax Return Bs.»

The following transfers were made by Ed during 2018. What is the gross
amount of gifts to be included on Ed’s 2018 Form 709 filing?

® $17,000 to the United Way

® $15,000 to a political organization

@ $21,000 paid directly to his nephew’s college for tuition
® $16,000 paid directly to his niece for her college tuition

A. $37,000
B. $16,000
C. $33,000
D. $54,000

SU12-Q7 Answer(C) is correct.

HEBrEY) BERBEE FIZEH SR 55 (gross gift)
<HRAUMEER>

5 Bif4E F Tgross amount of gift (JABE58) #51 &4 3E8IZ(.
LT2IHB XEHEL,

- $15,000 iR FE~DOBUAR S

* $21,000 DoneeD=HITEEZ--BEHFELLUERE

Form 709

Computation of Taxable Gifts (Including transfers in trust) (see instructions)

A Does the value of any item listed on Schedule A reflect any valuation discount? If “Yge." attach n . . . . . . Yes[dJ ned

B |:| 4 Check here if you elect under section 52%(ci2)(B) to treat any transfers mi this year to a qualified tuition program as made ratably over a
Se-year pariod beg g this year. See instructions. Attach explanation.

Page 2

Part 1=Gifts Subject Only to Gift Tax]Gifts less political organization, medical, and educational exclusions) (see instructions)

H
A [+ E F Met transfer
Item Donos Date Valuo at 1
urmber b of gift date of gift

$16,000D IEA D EE 5 A’ Annual exclusion®$15,000& 8% TLVST=8.
$17,000D & EE 5 (LU Vo7 Agross amount of giftIZ& & . T D% £%E%deductio
ELTHEERT %, Ko T, BETHBAEE LdDgross amount of giftIc&F N5 E (%,
HEEE5$17,000+HE~NDEE$16,000=$33,000 . .27 (C) NIEMRELS,

]
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IEEXE] 121 GiftTaxReturn

For calendar year 2018, if a gift tax return is required to be filed and the donor
is not deceased, what is the due date of the return excluding extensions?
Within 75 days of making the gift.

On or before December 31, 2018.

No earlier than January 1, 2019, and no later than April 15, 2019.
Within 180 days of making the gift.

ooOwp

m Answer(C) is correct.

HBErEYY BEHROBEHR

<MRA M ERER >

BERTIBEEREEARAVLLNTHY, BEHRBRESENIRHEAMI. BE541T
S-2ED1A1BIH4B15BFETTHS (BEERFEEFZHADOEAMTE .
Form 1040: A AFFBHRBAEZDRHBHBICOVWTEREZZIT-5E8. Y%FEED
BERBEENRHIBLEBMICERSINS), . SEIREE (C) NEMFEELS,
XESETo-FEEICEESE (donor) METL-1EE&H LEEERETHS BL, BB
EHAETBIZEITEEEIC DL TForm 706 R HEEXIZE I 2R ELAH DS
&IZ1E. Form 709 B EHRBAEELFRTHN D95 B LRIZIRE L TFIEAESEL,

<BEAIZEEY SR EHRORERD >

Form 1040 | EAFEHBAEE |[RA415(BERBEE)
Form 709 |EE5fREE RAI415 (BERREE)
Form 706 | Hfifi &S ET-ANS97 B LN
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EXYIPXIE] 121 GiftTaxReturn [

Which of the following entities are required to file Form 709, United States Gift
Tax Return?

A. Anindividual.

B. An estate or trust.

C. Acorporation.

D. Anindividual, an estate or trust, and a corporation.

m Answer(A) is correct.

HBEFEYY BEBRORBXNZRE
<MRA M ERER >

Form 709: lE 5B EZNIRHEBNHSERIE.
B 5 & (donor) THAEAEITTHS,
COEIREE (A) WNIEfRERS,
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SU12-Q15]| 12-2. Gift Tax (B.., |

During the current year, Mr. and Mrs. X made joint gifts to their son of the
following items:

® A painting with an adjusted basis of $15,000 and a fair market value of
$45,000.

® Stock with an adjusted basis of $27,000 and a fair market value of $30,000.

@ An auto with an adjusted basis of $15,000 and a fair market value of
$17,000.

® An interest-free loan of $8,000 for a boat (for the son’s personal use) on
January 1 of the current year, which was repaid by their son on December
31 of the current year. Assume the applicable federal rate was 11% per
annum.

What is the gross amount of gifts includible in Mr. and Mrs. X’s gift tax return?
$92,880
$92,000
$57,880
$57,000

ocow>»

m Answer(B) is correct.

HENEY Y FEFRO—>

<KLV MREE>
m A4 LF& (imputed interest)
#|F R O—> (interest-free loan) MIFE . ETEEHFIZE (federal rate) TEHE
SR R A“AELUFIR (imputed interest) " &7 5,
AIELFIRIE.
OEAEOEBOELEYDIBE (Hl: BAFHICRELIES) XS5 13k,
Q=HMZTDREXEICRHELIGFEILTHE S 1R,
QMM ZDHEICRELIGEILTER Y 1RNELDS,
K EEOIZEWTIE., fl: B\HLFHRICESLZOSETFRIFIRICFEREXH-
=t EAEEND, {BL, BEEO— (gift loan) [ZIXEFIBENREZONTEY.
A—_%EHA'$10,000L FTOJEE L, BELEALEINGLY,

AEDr—RIE BB FICRHELI-Tr—XTHSHH. FhEEEH$8,000THY .
$10,000LL FTHAND T, ALELARIFEBE LIFAHEEINGL,
BYEEOFMVO &5

=$45,000 painting+$30,000 stock+$17,000 auto
=$92,000\ B 5B ICEHON D, T IEREL (B) NIEMELLED,
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| Online | 12-2. Gift Tax

Jack, a single individual, made the following gifts in 2018:

Payment directly to sister’s qualifying college
for tuition $20,000
Payment directly to sister’s qualifying college
for room and board $25,000
Cash to nephew $10,000
Cash to brother $30,000

709, United States Gift Tax Return?
$85,000
$40,000
$65,000
$55,000

cowp

What is the gross amount of gifts that Jack must include on his 2018 Form

Answer(D) is correct.

HENEYY BEE
<RAUMER>

REFGLLGVD(BERAEEITTOHEL),

DoneeM 1= 12 BB ICEIE X I > E & Lunlimited CEFIR) IZBE 55 ) >t

{BL. HEE 12EH (tuition) EL TR D=L DDA T, BE (room & board)
ELTHI DN -EEE. BEHOXNRELGY, BEEEICEORITAIELEDEL,

kD -OICKPICEES -2 EH $20.000
MDDl KZICEEX I S-BE $25,000
BEADEEES $10,000
RE~DEEHEE $30,000

B (D) : &5+$55,0000 EfiR L1 5,

.. Annual exclusion®$15,000% 2 - EEE45$25,000& 72 5E~ND$30,000
DEEEMNEBEE F Dgross amount of gift (JABEEE) (& FENDHEITHD,
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12-2. Gift Tax (A |

In 2018, Linda gave her daughter a gift of land that had a fair market value of
$5,331,000. She made no gifts from 1992 through 2018. In 1991, she used
$1,506.,800 of her applicable credit to offset gift tax otherwise due.

What amount of applicable credit can Linda use to offset gift tax due on the
2018 gift?

$4,417,800

$2,911,000

$15,000

$0

COow>

SU12-Q23 Answer(B) is correct.

HREERE Y : $fi— a5 T 8522 k& (unified transfer tax credit)

<MRAU M ERER >

B85 5 - AR T 2B X 2T (cumulative) ITEHE SN BT LIZH B AN, FisBiERRELT
l'Unified transfer tax credit ($i— B Exfr Z81ERR) INAEIN TS,

20184 E I & B Unified transfer tax credit [F—4FET$4,417,800THY .
CAL(3$11,180,000 D IEEREFR I 2T 5, X HTRZE IR IX L AT HSETTEE,
BEEDEEEEO-RIEEHEE 54 (total taxable gift) A5$11,180,000% 2 T
WEITHIE, T REBEREELS0L4TS, BRIETS11,180,0004 B 2 HRFi xR
BEEZTO>TIXLOH T T REEERIENRET D,

C.LindaK 13 19914E(Z (R4 FE TIZ) Unified transfer tax credit®5%$1,506,800%
FIALTLSD T, H2018F E(F5%Y 1D $2,911,000(=$4,417,800—$1,506,800)
ZF A, FEIREE (B) BN IEfEELE D,
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| Online | 12-3. Gift Splitting (Ass |

During 2018, Wellington made the following gifts:

® $40,000 cash to son Willis
® Land worth $100,000 to wife Paula
® A $16,000 painting to niece Marlene

Wellington and Paula elect gift splitting. Paula’s only gift in 2018 was a
$50,000 cash gift to her mother. What is the amount of the taxable gifts to be
reported by Wellington in 20187

$15,000
$53,000
$153,000
$206,000

ooOwp

m Answer(A) is correct.

HEEFE YY)  BEE 58l (gift splitting)

<MRAU M ERER >

BE#TO5BATEEERICHIXRBTRBEOESESHNE. BEIBNDERIC

&Y. RiF2 A TDonee1 A 211U E/1$30,000F TOES HIERBLL D,

XEBESSEERICIE. FTEHROBEERINRIFEE RS (joint return) THABE (T,

HKKIBH CEENENZITo-%. BIBEHAWNIREALI-EE. FOEERNIZ(—ATE)

BiET 5L BELIOBRENERINGLLS, BEBEIIRALTH, TOEERAIC
BITHIEEE S HE 7E (&3 o —

BEBELATIIBESIOREILEHINS REEE N EPNR L AEE

BFADHREHES $40,000| BE54HF| | 3%8$20,000—$15,000=%$5,000
FEE~DHEYEE | $100,000 | E{HEER
BEADEYES $16,000| BE54E | #%8$8,000—$15,000=$0
Paulak A\ {To71-885

BEADEEEE $50,000| 4 %8$25,000—$15,000=$10,000

BESEICKY, BT B-BRAOEBEEE. RIF2ATED T DIToLEZ ST
EI2HB, F 9 IZLT=EZ, Annual exclusion®$15,000% B % THEDIRIZHS
DIFE. BFADEREES BEADEREEEDHTHY. Annual exclusionzZ=L
5LV BB S AE (X B R IREET$15.000875 5, BRI (A) WNIEfR S D,
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STUDY UNIT 13

ESTATE TAX
AR

GLEIMTXRAFHEREE E30RS VAR

A17/5(56.6%) B7R (23.4%) C6[5 (20%)

13-1 Gross Estates
(¥ B EER)

13-2 Deductions and Credits
(FERR EFBEIERR)

13-3 Estate Tax Payment and Return
(FEfER DM R E)

13-4 Generation-Skipping Transfer Tax
(R ¥y TR EBERR)
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13. Estate Tax

ERERBRORR
AHRBOREHR | FRAETE 97 AUR,

SEEE D EEATh [REIEL TR T HOFMV TSR,
BL. REFTEB (=B, 565 A%, T-X BEOHER (N
M BOVWTHANRLA) DFMVEREIRTA,

BEES BEERBICITBMANRTREICFFEL TV -2 TOMENEENS,
(gross estate) o KRBIZKDEEREIL. FMV % 50%
REELNDELDEFMEIL. FMV X BHADHEEIE%
s HMRIRE XEEMEAZRA - HMALNTHEMENEF OGS
o HETTEEENDISFERE
BMANICEELE-FIR (B BEISRRABOXRNKBE., FIR. BiBY)

PERIEE - JEFEEHEE A (administrative expenses) %Form 10415y,
+ ZE&E%E F (funeral expenses)
+ {&7% (debt and mortgages)
+ EH&E (medical expenses)
KA DEREDForm 1040: EEREERLEVT U TR,
« —TEDFiE (il state death tax I ABHEFL)
« ZEER)EEE (charitable bequest/contribution)
+ ER{B#F & (marital deduction)

Unified tax credit | —4ET$4,417,800%F|FHTE%, $11,180,0003E 8 Fi#2(24HY,

13-4. Generation-Skipping Transfer Tax

HER Ty THEBER (GSTT) DER

GSTTOHAEH |BE5HELYMNERLEFEER (skip person) I[CBIE DR
(5 - 1B50) 21T o115 812 BE OB SR E (EMEHER B ML
T. A%V FIEBIEH (generation skipping transfer tax:

GSTT)ESNh 5,
MEOREAZ |OEEOBE
(direct skip)

KCSTTOMBREHE LEE5ETHD.
QEH/EORLFI-FHERORTICHIHEDHE

(taxable termination)

XCSTTOMBmBRFE XEFRLLES,
GSTTZZELSIWV-REERREERICHET D,
QLELUSNDERENLEMEDRE

(taxable distribution)
KGSTTOMMERE XM EEZZ TMLELLES,
(GHHITmBIL 2R E [SU13)HEIS0NERESEBDI L, )

Unified tax credit | —4;ET$4,417,800%F|FHTE %, $11,180,0003E:2Fn#(2HE &,

—160—



m 13-1. The Gross Estate (GE) |

Which of the following items are included in a decedent’s gross estate?

® The decedent’s IRA, where the decedent’s spouse is the named
beneficiary.

® A checking account with the decedent’s daughter as a joint tenant. The
daughter’s funds were used to set up the account.

® Assets held in the decedent’s revocable grantor trust.

A. All of the assets are included in the decedent’s estate.

B. The IRA and checking account are included in the decedent’s estate.

C. The IRA and the assets in the revocable grantor trust are included in
the decedent’s estate.

D. None of the assets are included in the decedent’s estate.

m Answer(C) is correct.

HEERE Y  #E EE 88 (gross estate)
<RAEEER >

o HMADIRA (B A BIEE S O RE)
S>WADREELREICETEND,

o R(EBELSOBF)EOEFOE
>EUREF LN DE LA E (joint tenancy) SN TULNBFEIZDULNTIE, FDOFMVIZ
MADHEREEZREL-£5EE. EBEHEICEDD,
AEDOLUEEEOREFIRESHLELGIN, BANIMEHL-EEDEIENEOLE
5128 MADEEZEICITEENLL,

SWADREEEIZEEND,

SOBRIREE (C)MWIEfRELD,

—161—



m 13-1. The Gross Estate (GE) |

When Lisa’s husband died in 2015, he set up a qualified terminable interest
property (QTIP) trust, naming Lisa as the beneficiary for her life.

Lisa died in 2018. Given the following information, determine the value of
Lisa’s gross estate:

FMV at
Date of Death
Lisa’s revocable grantor trust $ 750,000
QTIP trust 1,000,000
A. $0
B. $750,000
C. $1,000,000
D. $1,750,000

m Answer(D) is correct.

HEBBrE YY)  #2EE £ (gross estate)

<BAMEE> LLT$750,000+$1,000,000=451$1,750,000 .".;:=# [ (D)

® LisakDiEE " gEfEEANDEEERZE $750,000
=LisaKD#BEEZEIZCEEND,

o T=EkpiLisakEDT=-HIZFELI-QTIPEFRRDEFEIE $1,000,000
SEIATRTEL-BIZIE L ZIETEMEIC OV TRDBEFRGTE LERBEERE
BWAIENTES, INEZHE THo-LisaKDEELEIZEETNS,

 Point ! | QTIP/EFE

QTIP{EE (qualified terminable interest property trust) &(3. A (FTRIAK) DT,
EEE (TRBR) NEFLTWSHEIZEEENINEZHEE LAY, BEENETULETEN
BTTHE HMADNEELZERES (TRCK) ICERMENBRINIETETHS.
TRARMNFETL-EIZE Y ZEXMEC OV TARDEGERTE L BEEEREAN
BIENTED, NBEZHETHOI-BROREEEIZEEND,

. AR EEzBE | | DerE
PE T e (Lisa®) | 2B

CE Wt ZFatE
(EF)
BREE
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CIUAKE oYM 13-1. The Gross Estate (GE) |

After Mary died on June 30 of the current year, her executor identified the
following items belonging to her estate:

® Personal residence with a fair market value of $400,000 and an existing
mortgage of $100,000

® Certificate of deposit in the amount of $150,000 of which $10,000 was
accrued interest payable at maturity on August 1

® Stock portfolio with a value at date of death of $2,000,000 and a basis of
$500,000

® Life insurance policy, with her daughter named as an irrevocable
beneficiary, in the amount of $150,000

Assuming that no alternate valuation date is elected, what is the gross value
of Mary’s estate?

A. $2,700,000
B. $2,090,000
C. $2,550,000
D. $2,450,000

SU13-Q7 Answer(C) is correct.

HEERE Y  #E EE 88 (gross estate)

<RAEEER >

EHREES$150,000(%, AN ZRAEZERT T HENZELTEST . IBAZERA
ELTHREINTWSOH . A DKREEZEICEENGLY,

S HIE R GEE (KR RISE T B O Rl T )
=HENDFMV $400,000+CD®OFMV $150,000+#k=X DFMV $2,000,000
=5&#$2,550,000 =R (C)AEMRELLD,

XA\ DEFELE (mortgage&accrued interest) (&, #EELEA SR FIEELETETE
THLETERTLIIENTEIERTHD, REEBEINE OGS L. ZEREIDOE
BERET B,
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m 13-1. The Gross Estate (GE) |

Candace died on January 20, 2018. The assets included in her estate were
valued as follows:

1/20/18 7/20/18 10/20/18
House $13,000,000 $12,900,000 $12,700,000
Stocks 12,850,000 12,700,000 13,000,000

The executor sold the house on October 20, 2018, for $12,700,000.

The alternate valuation date was properly elected. What is the value of
Candace’s estate?

$25,850,000
$25,700,000
$25,600,000
$25,400,000

oow>

m Answer(C) is correct.

HENE Y7 B B (2 & 5T

<RAUMER>

HEFRAELTREBOFMVTEHBiSN A, MEHMITAFDEEREDOKEKRE
(T, KBEFHEDOFMVERIRT 5 EMNTES EEDFHEL T REFFBmA D
FMVEERY HEATEDDIE, TDERICEY  EEDMAEA B LIEHEHEE
BOTHIENTFHTESERICRONS,

EEMEANAKRBEHEERLIZE, FEEOVWTANRNESOFMVERLS,

« REEML6LAR

« BEOREGLS) B

AETIE. 2018F7H20E DFMVEZRWSZEIZHS,

SECH 65 A% 258
1/20/18 7/20/18 10/20/18

House  $13,000,000 $12,900,000 $12,700,000
Stocks 12,850,000 12,700,000 13,000,000

.".$12,900,000+$12,700,000=&5+$25,600,000 ;EIREL(C)MNIEREELS,
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m 13-2. Deductions and Credits |

Mr. Rich died in the current year. The following expenses and credit relate to
the estate:

Administrative expenses $ 12,500
Funeral expenses 8,500
State inheritance tax 33,000
Applicable credit amount 4,417,800

What amount can the executrix of Mr. Rich’s estate deduct from the gross
estate in figuring the taxable estate?

A. $21,000
B. $54,000
C. $4,438,800
D. $4,471,800

m Answer(B) is correct.

HENE Y7 ERRIEE
<RAUMEH>

#RRIEE |- & ESEE A (administrative expenses)
¥Form 1041&WLVEF R THEERR ],
* ZE{EE A (funeral expenses)
+ {&7% (debt and mortgages)
+ E&E (medical expenses)
KA DREDForm 1040: EREEREVT A TR,
o —TEDFiE ({5 : state death tax M FEHHL)
+ FEEMIEE (charitable bequest/contribution)
o E2{BE {2 (marital deduction)

PEpR%E=912,500+ $8,500+$33,000=$54,000
ORI (B)WNIEfREE D,
¥ Unified tax creditl&., Bi281ERTH 5.

—165—



Sk EKEek WA 13-2. Deductions and Credits |

Which of the following items is NOT an allowable deduction on a decedent’s
estate tax return?

Bequest to surviving ex-spouse.

Property taxes accrued before death but not paid until after death.
Executor’s fees for administering the estate.

None of the items is allowed as a deduction against the decedent’s
estate.

COow>

SU13-Q17 Answer(A) is correct.

HENE Y #ERRIE R

<HRAUMEER>

FEIREX (A) :

FEF-IXE KX (ex-spouse) ~DEE (X, BBEEEDHE LIERTLHEMN
TERVLD T, FIRE (A) BN IERLLS,

NI TR ZIBIRES (R I o 1=ERBE ~ DKL, unlimited (ZEHIBR) [Z#EFR AT,

EiREX(B) (C):
FKILVOEEEER (BAORS) . BETERAKERTES.
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m 13-3. Estate Tax Payment and Return |

Anna died January 20, 2018. John, the executor, filed Form 706 United
States Estate (and Generation-Skipping Transfer) Tax Return, on June 30,
2018. John paid the tax due and distributed the assets on September 30,
2018. The assets were properly valued at $11.2 million on the date of death.
The alternate valuation method was not elected. Generally, what is the last
day that estate tax may be assessed upon recipients of property?

September 30, 2021.
October 20, 2021.
June 30, 2022.
October 20, 2022.

ocow>»

m Answer(D) is correct.

HREFEYS  IRSIZKAEIERR

<RAUMEE>

HEBOBOMBOBEELRRE, AEHEAEE. RAELTHREHRE-(IRES
DIRHEOWFThHENBAHDIELURNTHSA, AL TIX4ELRIC
EREMNTTEETH S,

RIREX (ZMlast day |EERE SN TLNSD T, BEHRNS4FEBH D BEZEIRT %,
JET-H:2018%F18208

mEEIZH H 2018468308

& HMR: 20184108208 (ET-AH» 594 H)

EIFHIRE 20225104208 (B EHARMAH4E) . ERR (D) HEMRELD,

<#HR>HEEHR 0BT
AR DB H LTI, FAHRHITACHEBRARERICEEZEIN. BITA
(FHEEMMBEDREE T, BRAXERER T-REFETOREEZRILITHD,
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m 13-4. Generation-Skipping Transfers |

Edwin gave his grandson Todd $30,000. Todd is 15 years old and lives with
his parents. Which of the following statements regarding the generation-
skipping transfer tax is true?

A. Because the gift is subject to the generation-skipping transfer tax, it is
not subject to the regular gift tax.

B. The gift is subject to both the regular gift tax and the generation-
skipping transfer tax.

C. The giftis not subject to the generation-skipping transfer tax because
Todd’s parents are still alive.

D. If Edwin had transferred the funds into a trust solely for his
grandson’s benefit, the gift would not be subject to the generation-
skipping transfer tax.

m Answer(B) is correct.

HEEY) Ry TR EBER

<KLV MREE>

2R U EFENHROE (KRB TIE, B) ISHLCHEDBEEITIGEIZIE.
{8 R v S BAEE #8584 (generation skipping transfer tax: GSTT) A%,
BEOBERFE(THEERICEMLTRSNS,

CORIREE (B) NEREEA D,

_[ Father J EBE/LAE

R 5.5 (d86EH)
v [ Son ] FILTHHET

GSTT

_>[ Grandson ] FBIL2H8~ T
X2 L LEEOEDE
=skip person&i 13,
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m 13-4. Generation-Skipping Transfers |

Which of the following is NOT a characteristic of a skip person as it pertains
to GSTT tax?

A natural person.
A person only one generation below the generation of the donor .

A person two or more generation below the generation of the donor.
A donee of the gift.

ooOwp

m Answer(B) is correct.

HErE Y R X3V TR EBEGR

<R MRS >

R 2 FBF E RS ELF (generation skipping transfer tax: GSTT) [&.

21 LI EE R D B A (natural person: 3EASMHBER AT 5= D FHE
[CHAE DRI (B 5 -1k 217 oG /ICEIN S,

COEIRER (A) (C) (D) IEIELLY,

Skip personlE2# LI EELNMERDEENSD T,
1R TFELTLSEIRE (B) (X32Y,
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2-5. Decedent’s Final Income Tax Return

WA DRRATEB B EE (Form 1040)
HERR | SAMNEETLTOVEDN >35S DEEE (Form 1040) IREHIRLFEL,

BT | <BEeISRRAOBA>HANEEHICERICSEEEALLZELE-FTEEED5
<RETBREAOBE>HANEEHICHRELBBLEFBESD,
RABBERICOT:

NOL®FvE4)L-OREE DRBLITRTEEEEZE>TRT T 5, ERLENEAN ST
BRITHERT S, SAOBREFERASEICEVTLEEDZRFIBENERENS,
XEEMAOFRBHRBEICHADRKBBREEZS I SMCCLTTELL,

N—rF—HLEEORPTRCLEBEDIER:

REBURBIC/ = —vTORBEERIKDIHE.
REIH-RETRICHMDOYLL ETBETOHAM (EFHRE) ISHIEST HEFD
EHEMANORBIFGREEICEDD,

8% | Standard deduction (&%E#2ER2AI) £=IXItemized deductionsD LV F M EEIR A,
KETEMSIELURICKIbNEEREICOVWTIE., MADRKEBHBEET
EB®RT 5E RN TES,

Point ! 2-5. Income in Respect of a Decedent

A IZE8E 9 57T (Income in Respect of Decedent; IRD)

WMAIZEEELT-FT% (IRD) L[, £FHICEBBLEAASAERT. RANES IS FALTY
DI ADREHEREEEICEHIIENTELN>EHBOIEENS,

<BI>FKIRFES . RERDFEHE

BL.REFRERADBETH>TEH. MADBRBES TS EHSDHE (F: Traditional IRADSD
HE)HEEIZIRDER D,

88 |IRDIZ. #nESELEEMAEIIEEADFTEELT,
e  |Form 1041 GEEME DR SHEEE) F=(EForm1040 FBHEEADFRERBEE) D
GUZEDONFIEFHROXMRELD, BHTAEFRFOEEIILUTOLSICEFHESINDS,

2 $E%8 (amount realized)

— L RINE DI A Dbasis  XKBEESO
FAUFE=IFAR

FAV(FRIFAR) DBMEE. MADRBTE(ETEoBHESIERCGEERBT
HBNIE. BEFFBELTRS FYEAIL-T1oTHONIEFYERIL- T4 ELTERS) .

1HEEH | IRDIL. FEIFET-HOFMVTEEfiEN ., Form 706 GEFEFRBEE) DEERLEITEHD
& | ho BERONRELD,
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m 2-5. Income in Respect of a Decedent (IRD) |

Which one of the following statements concerning the consequences of
income being classified as “income in respect of a decedent” is true?

It receives no step-up in basis upon the decedent’s death.
Itis all treated as ordinary income to recipient.

It is all taxable to the decedent’s estate.

It must be included in the decedent’s final return.

Cow>

m Answer(A) is correct.

HEEFEYY B AICBEET 57 (IRD)

<A EER >

FIREE (A) FiBHLE L. BEALEKICKYERBLIZEE Dbasis/XRAIELTRTE
HDFMV (step-up basis) &4:% 8%, IRDIZ DT A DbasisE 5 =M I+ (£
5720 (carryover basis) , . IELUY, 32IREE (A) AN IEfREL S,

BIZIE. RETHRIFZADOHADFTHEDbasisIE$0TH S, ZDbasist 5| SHE, 4
ZSEHE DFMVASS1,2002 01T 5L, A DL TR ST HMEE (B ) #EUNL =48
#HA L. Amount realized $1,200—Basis $0=%$1,200DFF§EZR#EBE LT T ILAH S
WEWSTETH B,

EIREZ (B) :IRDZEZBLI-EE M ETHEBEAE. MADZDORFICETIEN
Z5|E#C, IRDET RN TEEMGFEL TR EVLSEERIFERY,

BIREX(C) : IRDIFHEBHRD AR THAHLRFFIC, ENERELIEEMEFE (T
BIMADFHRICEDOONFFERARIND, . 8RY,

ERE (D) IRDIEFBMADRERDOAEHRBEEICEHEOIEATERA LB TH D,
SERY
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